[ ]
prcec: BROOKS NORTH APARTENTS
s 100PISGAH CHURCH RORD GREENSBORO, NG 27445
scope oy
———
T ummry ot wasrace. ™Y ATERA  LABOR EQUPHENT WATERIL LABOR EQUPVEN (.
T R metacew  None are et cosre. costs sus cost
wrsTace
‘GENERAL REQUIREMENTS
R Supeionan Coinatin L s | 1 | soo0 | s | seo | sm | sm | sooo 5000
2 Submittals and Shop drawings 1 Ls 10% 1 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
5 e Gleaning i o | soo0 | saoo | so00 | so00 | sa00 | soo0 000
4 Mobilization Costs 1 LS 10% 1 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
s Sond 0 2% i o | soo0 | saoo | so00 | so00 | sa00 | sooo 000
6 | Temporary Control & Facilities 1 Ls 10% 1 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
; Scationg s T i [T soo0 [ soo | so00 | so00 | s | sowo 000
SUBTOTAL $0.00
So00[FisHES
B DG TvPETH
UNIT A-2 (19 EAY
oy 160 5651
s e mai 1 o | s | o | e
5 Y 2 P S e Y O 30 0 T ww
P o T
St e e 1 1 oy %%
250’ Tane Roll| Rolls. 10% 50. $0.00 $0.00 $0.00
e s o
FEach 10% 40. $0.00 $0.00 $0.00
T S S T
o 2o o s o
o =
10 2" x4" Wood Studs @ 16" OC| 6557 LE 10% 7213 $0.00 $0.00 $0.00 $0.00
i hchusic sount v osten] 8 721 S [ iwe | —osns o o
12 @ floor and ceilina 3876 LE 10% 4264 $0.00 $0.00 $0.00 $0.00
P O
B ey o || o |
= e 1 v B B s Y Y - . 1 M ww
Pt e i
St ey %% oy %%
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
T
FEach 10% $0.00 $0.00 $0.00
T S S e i
i 2o o
= o
15 2" x4" Wood Studs @ 16" OC| 323 LE 10% 356 $0.00 $0.00 $0.00 $0.00
n hchusic sount vt asien] i30S [ ioe | o o
17 @ floor and ceilina 608 LE 10% 669 $0.00 $0.00 $0.00 $0.00
P T
s e maing i wsos | s | o | e
o Y T P A e - T 30 Y08 T W
T T S T )
T e . o oy %
250' Tane Raoll| 13 Rolls. 10% $0.00 $0.00 $0.00
00— carural—tou—| >
JJoint Comnaund| 11 Fach 10% $0.00 $0.00 $0.00
T D ol 2506 TPosseal o |
T e e N T
o -
= TR M T . ) 5 0w 5o
5 S hcauic count bt pasaton] 2304|500 2039 ET o Foom
3 R e ETo o o
P P (R
s e maing e e | s | o | 7o
x
= T A T i B T Y R T -1 ) o
25 (1) laver of /8" tvne "X" avnsum hoard @ both sides| 14.364 SF 10% 15800 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
5 Shes 4500 Sree| 10| o3
Sandina Disc| ) Fach 10% . $0.00 $0.00 $0.00
2o e ol 3000 | |—on—|—siso—| 3000 £% 8%
o o = s
T 0 e P i o W
T e 2 e s
e D el 25— Case T —iow e
e
= S inced s bt aion & o siee] s 3s | o | i itss o050 oo ww
% o1 e 2 So00 3000 oS00
5 T 3 T e e = e 5 o Eoom
Partition Type P-61 (285 LF)
» e e ases | s | o |z
a0 2" x4" Wond Studs @ 24" OC| 2.565 LE 10% 2822 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
£ oS o s s i saes] 5156 |5r—|on | —seis—| 3000|3500 |—s000—|s000 | —s000 |00 B%
P o S s 31
T . oy %
250' Tane Roll| 14 Rolls. 10% $0.00 $0.00 $0.00
5500 Gatonal —lon
JJoint Comnaund| 11 Fach 10% $0.00 $0.00 $0.00
oo S —700 | Poumaal —ow
B Sl — AP
o e
T e W < . e 72 % o w5 —ow%
33 Fire blockina in air space @ 10-0"| 1283 LE 10% 1411 $0.00 $0.00 $0.00 $0.00
34 o cona] 1 140 LF o | izt T o
P £ T
35 - Fire Rating: 1 hr. 4,104 SF 10% 4514
ot
= T 7 T T R Y T M ) %
S Shea 2700 Shees| o | 20070
e o %% o
250' Tane Roll| 2. Rolls. 10% $0.00 $0.00 $0.00
Tl —on
Joint Compound) 18.( Each 10% $0.00 $0.00 $0.00
PR o e
ol S T
= e o
5 7otz T T e e
E T Tt e At
S o T e s s e
i T o e e
i ot o1 0241 —iou—|—soos
. kil w o
R e S 3 . T 1 0 0 T %%
R e P e
Sandina Disc| Each 10% $0.00 $0.00 $0.00
F ke e | 100 o0 o0 00
e Galors| i
Each 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
e B S o
e oo i
@ T Yo N e o0 0w F
i - s o S0 —so00 o
7 P o, e S50 3000 o
UNIT A-4 (2 EA)
o o 160 (154 1)
@ e ma 1 R I R e
ot
& Y T i T T T B T T M ) %
20 Shea 7000 Shees | Tou |5
et o S %% o
250' Tane Roll| Rolls. 10% 7. $0.00 $0.00 $0.00
e s o
Joint Compound) Each 10% 6. $0.00 $0.00 $0.00
T oo S T s e
i Dol S Came oo %
Snonaes| Each 10% 2 $0.
% Y o T A T o oo %% o %
5 ‘ 7 e B . 1 So00 3000 So00 3000 £
2 Y T o i . So00 00 o 5
RO T RO
2 e mag i w | s | we | s
53 (1) laver of 5/8" tvoe "X" avnsum board @ both sides| 9 SF 10% 00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
i oo Shees| o
Sandina Disc| Each 10% $0.00 $0.00 $0.00
20 Tane oo o o0 s %
: i
e o %% %% %%
T S S o
i Dl S R %
St Each 10% $0.
= Y oo T T s oo %% o %
55 i batt insulation] & SF 10% S $0.00 $0.00 $0.00 $0.00 $0.
= i S & tooans ][ —ou | o o 5
RO e LG0T
5 e w1 w | s | e | e
58 (1) laver of 5/¢ avosum hoard @ both sides| 36( SF 10% 396 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
v e Shees| o
Sandina Disc| Each 10% $0.00 $0.00 $0.00
20 Tane oo o o0 s %
: i
e o %% %% %%
ST o i
i Dl S R %
nonaes| Each 10% $0.
5 T Y o e T o e oo %% o %
60 i batt insulation] 180 SF 10% 198 $0.00 $0.00 $0.00 $0.00 $0.
& e e e . o o $
Rt T PG
. e i o | s | e | o
63 4" Wood Studs @ 24" OC| 954 LE 10% 1049 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
54 TS B e 1 o 3 3 0 %
T
o %% %%
Rolls. 10% 5. $0.00 $0.00 $0.00
T o
ich 10% 5. $0.00 $0.00 $0.00
T L et e
s e s o
e o
65 3 1/2" unfaced fiber alass batt insulation @ hoth sides| 1.908 SF 10% 2099 $0.00 $0.00 $0.00 $0.00
ss ot oece @106 a7 ie | —ow 40 o o
67 @ floor and ceilina 424 LE 10% 466 $0.00 $0.00 $0.00 $0.00




Partition Type P-61 (30 LF)
68 - Fire Rating: 1 hr. 270 sk 10% 207
- Heiaht: 9.0"
69 274" Wood Studs @ 24" OC| 270 T3 0% 257 $000 | 5000 50,00 $000 | $000 | $0.00 $0.00
70 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SF 10% o 50.00 | 000 50.00 50.00 | 50,00 50.00 50.00
46 GB Sheet| 17 Sheets | 10%
Sandina Disc] Each | 10% $0.00 50,00 $0.00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Dwall Screws| Case | 10%
Soonaes| Each | 10% | <
7 ed fiber olass baf insulation @ both sides| 0 SE 10% 594 $0.00 50,00 $000 | 5000
72 Fire blockina in air soace @ 10-0°[ 135 LF 10% 149 50.00 50,00 50.00 50.00
73 @ floor and ceilina| 120 13 10% 132 $0.00 50.00 5000 | $0.00
Partition Type E-4 (68 LF)
7 ~Fire Rating 1 hr. 612 sk 10% 673
75 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 2 S 10% $000 | $000 50,00 $000_| 5000 50,00 $0.00
3 GB Sheet| Sheets | 10% 4
‘Sandina Disc] Each | _10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Eac 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Soona L2 h | 10% 1
R-20 unfaced fiber alass baft insulation| 612 si 10% 673
2" x 4" Wood Studs @ 24" OC| 306 10% 337
OBS sheathina| 612 st 10% 673
Vanor semi vermeable latex oaint|___612 si 10% 673
@ floor and ceilina| 272 L 10% 299
81 Partion Type P61 (8 LF) 72 Sk 10% 79
& (1) laver of /8" tvne "X avnsum board @ ane sides| 7 SF 10% 7 $000 | §0.00 $0.00 $000 | $000 | $000 $0.00
48 GB Shee Sheets | __10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
174" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | 10%
oonaes| Each | 10%
83 2 x4 Wood Studs @ 16'oc|__s: T3 10% $0.00 50,00 50,00 50,00
84 x bat insulation| 7 SE 10% 7 50,00 50.00 5000 | $0.00
85 ‘Acoustical sealant @ floor and ceilina] __3: LF 10% 50,00 50.00 50.00 50.00
UNIT A5 (1 EAY
Partiion Type 60 (57 LF)
8 - Fire Rating: 1 hr. 513 sk 10% 564
- Heinht 0" [
87 (1) laver of 5/8" tvoe "X" avosum board @ both sides| o S 0% | 1129 | $000 | 5000 50,00 $000_| 5000 50,00 $0.00
/48 GB Sheel| Sheets | 10%
‘Sandina Disc] Each | _10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
i Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
1 Each | 10%
88 27" Wood Studs @ 16°'OC| 386 T3 10% 24 $0.00 $0.00 $000 | 5000
89 4" Acoustic sound ballinsulation] 513 SE 10% 564 50,00 50,00 50,00 50,00
%0 @ floor and ceilina| 228 T3 10% 251 50,00 50.00 50.00 50.00
Partiion Type 160 (8 LF)
a1 - Fire Rating: 1 hr. 2 sk 10% 5
- Hipinht- 210"
2 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 4 SF 10% 5 $000 | 5000 50,00 $000 | $000 | 5000 50,00
L3 GR Shee| Sheeis | 10%
‘Sandina Disc] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
Each | 10%
o 2" & Wood Sids @ 16°0C] 1 T3 10% 1 $0.00 50,00 50.00 50.00
) 4" Acoustic sound b insulal 2 SE 10% 2 50,00 50,00 5000 | 5000
o5 @ floor and ceilina] 3 T3 10% 50,00 50.00 50.00 50.00
Partiion Type 61 (10 LF)
% - Fire Rating: 1 hr. %0 sk 10% 3
- Hieinht 0.
o7 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SF 10% 58 $000 | 5000 50,00 $000 | $000 | 5000 50,00
L3 GR Shee| Sheeis | 10%
‘Sandina Disc] ch | __10% 5000 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
rvwall Screws| Pounds| _10%
Drvwiall Screws| Case | 10%
oonaes| Each | 10%
o8 26 Wood Siuds @ 16'0C| G T3 10% 7 $0.00 50,00 50.00 50.00
9 & Acoustic sound bat insulati o SE 10% o 50,00 50,00 5000 | 5000
100 @ floor and ceilina]___a T3 10% r 50,00 50.00 50.00 50.00
Partiion Type P-60 (57 LF)
101 - Fire Rating: 1 hr. 513 sk 10% 564
- Hieinht 0.
102 24" Wood Studs @ 24" OC| __513 13 0% | s6a $000 | 5000 50,00 $000 | $000 | 5000 50,00
103 1) laver of 5/8" tvne " 1026 SF 10% | 1129 | $000 | $0.00 50.00 $000 | $0.00 50.00 50.00
0| Sheets| _10% 0
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50,00 50,00 50,00
Gallons | 10%
Each | 10% $0.00 $0.00 50,00
Pounds| _10%
< 10%
Snonges| Fach | _10% E
104 3 1/2" unfaced fiber olass batt insulation @ both sides| 1,026 Sk 10% 1129 5000 50,00 $000 | 5000
105 re blockina in air space @ 100" 257 LF 10% 282 50.00 50.00 50.00 50.00
106 ‘Acoustical sealant @ floor and ceilina] 228 T3 10% 251 $0.00 50.00 5000 | 5000
Partition Type P-61 (30 LF)
107 - Fire Rating: 1 hr. 270 sF 10% 207
108 2" x4 Wood Studs @24 OC| 270 T3 10% 257 5000 | 000 50.00 5000 | $000 50.00 $0.00
109 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 5 SE 10% 9 $000 | $0.00 50.00 $000 | $000 | $0.00 $0.00
48 GB Sheet] Sheets | 10% 0
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drvwall Sc Pounds| 1%
1-1/4" Drwall Screws| C 10%
Soona Each | _10% | 0s:
110 3 1/2" unfaced fiber alass batt insulation @ both sides| 0 SF 10% 504 50.00 50.00 50.00 50.00
111 Fire blockina in air soace @ 100" 135 LE 10% 149 50.00 50.00 5000 | 5000
112 floor and ceilinal 120 T3 10% 132 | 5000 | $0.00 000 | $0.00 | $0.00 50.00 X
Partition Type £-4 (24 LF)
13 - Fire Rating: 1 f. 216 sk 10% 238
- Heiaht: 90"
14 (1) laver of 5/8" tvoe "X" avosum board @ both sides| __&: SE 0% 75 $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Sheetl 12, Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
1-1/4" Drwall Screws| C 10%
‘Soonaes| Each | 10%
11 R-20 unfaced fiber alass 1 SF 10% 238
1 2" x&" Wood Studs @ 24" oc|___10¢ T3 10% 119
11 0BS sheathina| 21 SF 10% 238
11 Vanor semi oermeable latex vaint|___21 SE 10% 238
11 floor and ceilinal 96 T3 10% 106
UNIT A6 (2 EA)
Pariiion Type 160 (136 LF)
120 - Fire Rating: 1 hr. 1224 sF 10% 1346
121 (1) laver of 5/8" tvoe "X" avosum board @ both sides| _2.448 SF 10% 2693 5000 | $000 50.00 5000 | $000 50.00 $0.00
48 GB Sheel| 77 Sheets | _10% 84
Sandina Disc| 15 ach | 10% 1 50.00 50.00 $0.00
250 Tave Roll Rolls | __10% 7 $0.00 50.00 $0.00
Joint Compound| Gallons| _10% 14
Each | 10% 6. $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10% 1a,
1.1/4” Drwall Screws| Case | 10% [ S0
Soonaes| Each | 10% 2 50
122 274" Wood Studs @ 16 OC| 020 T3 10% 1012 $0.00 50.00 $000 | 5000 S0
123 7" Acouslic sound 22 SE 10% 1346 50.00 50,00 50.00 50.00 50
124 @ floor and ceilina|___544 T3 10% 598 50,00 50.00 5000 | $0.00 S0
Partition Type 60 (16 LF)
125 Fire Rai 45 SF 10% 50
- Heioht 210"
126 (1) laver of 5 avosum board @ both sides| 9 SF 10% 00 5000 | 000 50,00 5000 | _$000 50,00 $0.00
43 GB Sheel| Sheets | _10%
Sandina Disc] Each | 10% 50.00 50,00 $0.00
250 Tave Roll Rolls | 10% 50,00 50,00 50.00
Joint Comoound Gallons| __10%
i Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10% S0
es| Each | 10% S0
127 7t Wood Suds @16 0C] 5 T3 10% 3 $0.00 50.00 $000 | 5000 S0
128 " Acoustic sound 4 SE 10% 5 50.00 50,00 50.00 50.00 50
129 @ floor and ceilina]__6: T3 10% 7 50,00 50.00 5000 | $0.00 S0
Partition Type 61 (20 LF)
130 ~Fire Rating: 1 hr. 180 sk 10% 198
eich
131 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 36 10% % 5000 | 000 50,00 5000 | _$000 50,00 $0.00
48 GB Sheet| 1 Sheets | _10%
Sandina Disc] ach | 10% 50.00 50,00 $0.00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Joint Comoound Gallons| __10%
ch | 10% $0.00 $0.00 $0.00
Drvwall Screws| Pounds| _10%
1.1/4” Dwall Screws| Case | _10% S0
Soonaes| Each | 10% s0.
132 6 Wood Studs @ 16° OC] 35 L 10% 4 $0.00 $0.00 $000 | 5000 S0
133 & Acoustic sound 180 SE 10% 198 50.00 50,00 50.00 50.00 50
134 @ floor and ceilina|___80 T3 10% 88 50,00 50.00 5000 | $0.00 S0
Partition Type P-60 (132 LF)
135 Fire Rating: 1 . 1188 sk 10% 1307
136 X4"Wood Studs @24°0C| 1188 T3 10% 307 5000 | 000 50,00 5000 | $000 50,00 0,00
137 1) aver of 5 2376 SE 10% 26 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
Sheets |__10%
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Each | 10% 50.00 50.00 $0.00
Pounds| _10% 1a,
Case | _10% 0
48 Each | 10% 2
138 3 1/2" unfaced fiber olass batt insulation @ both sides| __2.376 S 10% 261: 50,00 50,00 50,00 50,00
139 Fire biocking in air space @ 100" 594 T3 10% 653 50.00 50.00 5000 | $0.00
140 floor and ceilina] 528 T3 10% 581 50.00 50.00 50.00 50.00




Partition Type E-4 (28 LF)
1hr

141 ~Fire Rating 432 seo| 1w a5
- Heioht: 9.0
a2 1) laver of 57 3 SF [ 1% | o0 $000 | $000 | 8000 $000 | $000 | 5000 50,00
Sheets | __10%
Each | 10% $0.00 50,00 50,00
Rolls | 10% 50.00 5000 5000
Gallons| 10%
Each | 10% 5000 5000 5000
Pounds| 10%
Case | _10%
Each | 10%
3 "R20 unfaced fiber olass bailinsulation] 432 10% 475 50
1 2" 4" Wood Studs @ 24" 0G| 216 10% 238 50,
3 OBS sheathina| 432 10% 475 50
6 Vanor semi nermeable latex oaint] 43 10% 75 50,
7 floor and ceiina| 102 10% 211 50
UNIT B1 (8 EAY
Partition Type 160 (664 LF)
148 ~Fire Rating: 1 hr. 5976 seo| 0w 6574
128 1) laver of 5/6" voe "X" avbsum board @ both sides| 11952 | _SF_| _10% FETY $000 | 8000 | 8000 $000 | $000 | 5000 30,00
438 GB Sheet| 37400 | Sheeis| 105 | 41140
‘Sandina Disc] ch | __10% $0.00 5000 30,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fao 10% $0.00 5000 50,00
T04" Drvwall Screws] Pounds| _10%
1-1/2" Drvwall Screws| Case | 10%
Each | _10%
50 2”& Wood Studs @ 16'OC| 4493 e 10% 4943 $000 | 5000 $000 | 5000
151 " Acoustic sound ballinsulation] 5,976 SF_|_10% 6574 5000 | 5000 5000 | 5000
152 @ floor and ceilina] __2.656 i3 10% 2022 5000 | 50.00 5000 | 5000
Partition Type 161 (120 LF)
153 ~Fire Rating 1080 seo| 0w 1188
- Heioht- 00"
152 D) laver of 5/6" voe "X" avbsum board @ both sides| 2.1 SF_|_i0% 2376 | 5000 | $000 | §000 $000 | $000 | 5000 30,00
438 GB Sheei| 68, Sheeis | 10%
Sandina Disc| 1 ch | __10% 4 $0.00 5000 30,00
250 Tane Rolll 6 Rolls | 10% 50,00 50,00 50.00
1 Gallons| __10%
i 5 Each | 10% 5000 5000 50,00
0" Drvwall Screws|__12. Pounds| _10%
1-1/a" Drvwall Screws| 0 Case | 10% X
Soonaes| 2.2 Each | 10% | 24
55 26" Wood Studs @ 16'0C| 12 e 10% 893 $000 | 50,00 $000 | 5000
156 6" Acoustic sound balt insulation| 1,080 SF_|_10% 1188 5000 | 5000 5000 | 5000
57 @ floor and ceilina] 450 i3 10% 528 5000 | 50.00 5000 | 5000
Partition Type P-60 (416 LF)
158 ~Fire Rating 3744 seo| 0w 4118
- Heiohr 00"
158 274 Wood Studs ® 24" OC|__8.744 T3 10% 4108 | $000 | $000 | _$000 $000 | $000 | 5000 30,00
60 1) aver of 6/8" voe X" ovosum board @ both sides| 7 488 SE | 10% 8237 | 5000 | $000 | 50.00 5000 | 5000 | 5000 50.00
428 GB Sheel| _234.00 | Sheels| _10% | 267.40
‘Sandina Disc Each | 10% 5. $0.00 5000 50,00
250 Tave Roll Rolls | 10% 22 50.00 50.00 50,00
i Gallons| 10% a1
ch | 10% 17 5000 5000 5000
/2" Drvwal Screws| 4 Pounds| 10% 4,
114" Drvwall Screws] Case | 10% 2
‘Snonaes| Each | 10% X
161 3 12" unfaced fiber olass bail insulation @ both sides| _7.488 sE | _10% 8237 $000 | 5000 5000 | 5000
62 Fire blocking in air soace @ 10-0"] 1872 13 10% 2050 5000 | 50,00 5000 | 50.00
163 ‘Acoustical sealant @ floor and ceiina 1,664 T3 10% 1830 5000 | 5000 5000 | 5000
Pariiion Type P-61 (64 LF)
164 Fire Rating: 1 . 576 sFo| 10w 634
- Heioht
65 2" a Wood Studs @ 24 0G| 676 i3 0% 634 $000 | $000 | 8000 $000 | $000 | 5000 50,00
166 1) laver of 5/6" voe "X" avosum board @ both sides| 1152 SE_ |10 1267 | 5000 | $0.00 | 50.00 5000 | 5000 | 5000 50.00
' GR Sheet Sheeis | 10%
Sandina Disc] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 0,00
Pounds| _10%
Case | 10%
Each | 10% 132
67 infaced fiber olnss bait insulafion @ both sides| 1152 SE | 10% 1267 $000 | 50,00 5000 | 5000
168 Fire blocking in ai space @ 10-0'] 288 LE 10% 317 5000 | 5000 5000 | 5000
69 @ floor and ceiina] 120 i3 10% 132 $0.00 | 50,00 5000 | 5000
Partition Type £-4 (336 LF)
170 ~Fire Rating: 1 hr. 3024 se| 0% 3326
- Heiohr 007
17 1) laver of 5/6" voe "X" avosum board @ both sides|___6.0: SF_ 0% 6653 | 5000 | $000 | 5000 $000 | 5000 | 5000 30,00
'\ GR Sheei]  189.00 | Sheeis | 10% | 207.90
Sandina Disc] Each | 10% 4 $0.00 5000 50,00
250 Tane Roll Rolls | 10% 17 $0.00 $0.00 50.00
Gallons| _10% 34
Joint Comnound] Fach | 10% 1 $0.00 $0.00 50,00
04" Drvwall Screws] Pounds| _10% 35
1-1/2" Druwall Screws| Case | 10% 17
‘Soonaes| h | i0% X
T R20 unfaced fiber olass haftinsulation] 3,024 s 10% 3326
1 2" x4 Wood Studs ® 24" OC|__ 1512 U 0% 1663
f OBS sheathinal 3074 s 10% 3326
1 Vaoor semi oermeable latex oaint] 3,024 si 10% 3326
f @ floor and ceilina] 1342 0 10% 1478
UNIT B2 (14 EAY
Parilion Type 160 (1358 LF)
77 Fire Rating: 1 . 12222 | sF | 10% 13444
- Heioht
78 1) laver of 613" voe X" avnsum hoard @ both sides| 74442 | SF | 10% 26688 | $000 | 5000 | 5000 $000 | $000 | 5000 50,00
438 GB Sheel| 764 Sheets | __10% 0
Sandin Disc| 152 Each | 10% 16 $0.00 $0.00 50,00
50' Tae Roll| 64, Rolls | 10% 70 50.00 5000 50,00
Joint Comoound| 123 Gallons| _10% | 135
52 Each | 10% 57 $0.00 $0.00 50,00
10" Drvwall Screws| 120 Pounds| _10% | 141
114" Drvwall Screws| 6 Case | _10% 7.1
Soon 25. Each | 10% 28,01
175 274 Wood Studs ® 16 OC|__0.162 LE 10% 10079 5000 | 5000 $000 | 5000
180 - 12220 | sE | 10w 13444 5000 | 50,00 5000 | 50.00
181 ‘Acousical sealant @ floor and ceilina] 5,432 T3 10% 5975 5000 | 50.00 5000 | 5000
Partiton Type 161 (196 LF)
182 Fire Rating: 1 1764 sFo| 0w 1940
- Heioht: 97
183 1) laver of 5/8" tvbe "X” avosum board @ both sides| 3,528 SF| 0% 3681 | 5000 | §000 | _$0.00 $000 | $000 | _§000 0,00
B Sheel] 11100 | Sheeis | _10% | 12210
Sandina Disc| 2 Each | 10% 2 50.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
10" Drvwall Screws] Pounds| _10% 2
1-1/a" Drvwall Screws] Case | _10%
Spona Each | 10% 4
162 276 Wood Studs ® 16 OC|___1.326 LE 10% 1459 5000 | 5000 $000 | 5000
185 - 1764 SF| 0% 1040 5000 | 50,00 5000 | 50.00
186 ‘Acoustical sealant @ floor and ceilina] 784 T3 10% 862 5000 | 50.00 5000 | 5000
Pariion Type 62 (42 LF)
187 Fire Rating: 1 hr. a8 sFo| 0w 416
- Heiot:
188 1) laver of 5/8" tvoe "X" avosum board @ both sides| 756 SF | 10% 832 $000 | §000 | _$0.00 $000 | $000 | _§000 0,00
438 GB Sheel| 24, Sheets | __10% 2
Sandina Disc] ach | 10% 50.00 5000 0,00
“Tae Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
ch | __10% $0.00 $0.00 50,00
10" Drvwall Screws] Pounds| _10%
1-1/a" Drvwall Screws] Case | _10%
Spona Each | 10%
189 2" & Wood Studs @ 16" OC| 54 LE 10% 313 5000 | 5000 $000 | 5000
190 & 378 SF| 0% 416 5000 | 50,00 5000 | 50.00
101 ‘Acoustical sealant @ floor and ceilina] 168 T3 10% 185 5000 | 50.00 5000 | 5000
Partiton Type P-60 (406 LF)
192 Fire Rating: 1 hr. 3654 sFo| 0w 4019
1% 4" Wood Studs @ 24" OC| 3,654 T3 10% 2015 | $000 | $000 | _$000 $000 | $000 | _§000 50,00
104 5 laver of 5/6" voe "X" avosum board @ both sides| 7. SE_ |10 803 | 5000 | $000 | 50.00 5000 | 5000 | 5000 50.00
/18 GB Sheell  220.00 | Sheets | 10% | 25190
Sandina Disc] Each | _10% 5 $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 22 50.00 5000 50,00
Gallons| _10% 0.
Joint Compound| Each | _10% 17 5000 5000 5000
rvwial Ser Pounds| _10% 2
94 Case | _10% 2.1 50
61| Each [ 10% 83 50
1% 3 12" unfaced fiber olass batt insulation @ both sides| __7.308 sE | 0% 8039 5000 | 5000 5000 | 5000 50
196 Fire blocking in ai sace @ 10 1827 13 10% 2010 5000 | 50.00 5000 | 5000 50
107 A I sealant @ floor and cellina 1624 LF 10% 1786 5000 | 5000 5000 | 5000 50
Partiion Type P-61 (434 LF)
198 Fire Rating 3.906 seo| 10w 297
- Heloht: 9.
195 4" Wood Studs @ 24" OC| 3906 13 10% 4297 | $000 | $000 | 8000 $000 | $000 | 5000 50,00
200 D) laver of 578" tvoe 78 SF_| 0% 8503 | 5000 | $000 | _$0.00 5000 | $0.00 | 5000 50,00
24500 | Sheeis | 10% | 26950
4, ach | 10% 50.00 5000 5000
21 Rolls | 10% 3 50.00 50.00 50.00
7 Gallons| __10% 4
17, ch | 10% 5 $0.00 50,00 50,00
2. Pounds| _10% 6
2 Case | 10% 2 50
8.1 Each | 10% 5 50,
201 3 1/2" unfaced fiber olass bait nsulation @ both sides| _7.812 SE | 10% 8593 $000 | 50,00 $000 | 5000 50
200 Fire blocking in ai sace @ 10-0'] 1953 LF 10% 2128 5000 | 5000 5000 | 5000 50
203 @ floor and ceilina] 1736 13 10% 1910 5000 | 50.00 5000 | 5000 50
Partition Type £-4 (476 LF)
204 ~Fire Rating: 1 . 4284 sFo| 0w a2
- teioh: 97
205 D) laver of 5 ‘Guosum board @ both sides| 8568 SF_| 0% 9475 | 5000 | $000 | $0.00 $000 | $000 | $000 30,00
48 G Sheet| 268,00 | Sheels | _10% | 204,60
Sandina Disc] ach | 10% 50.00 5000 50,00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons|__10%
i Each | 10% $0.00 50,00 50,00
10" Drvwall Screws] Pounds| _10%
1-1/a" Drvwall Screws] Case | 10% 50
Soonaes| h | _10% 2 50
206 R20 unfaced fiber olass baftinsulation] 4,264 10% a712 50 50
207 2" x4 Wood Studs @ 24" OC| 2142 10% 2356 s0. 50
208 OBS sheathinal 4264 10% a712 50, 50
200 Vanor semi bermeable latex paint] 4,264 10% 2712 s0. 50
210 @ floor and ceilina] 1904 10% 2004 50, 50
211 Partion Type F61 (196 LF) 1764 se| 10w 1940
212 (1) laver of 58" voe "X" avosum board @ one sides| 1764 SE | 10% 1940 | 5000 | $000 | 5000 $000 | $000 | 5000 50,00
48 GB Sheet| 56, Sheets |__10% &
‘Sandina Disc] Each | 10% 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 5000 50,00
i Gallons| 10%
Each | 10% 5000 5000 5000
/4" Drvwal Screws| 1 Pounds| 10% 1
114" Drvwall Screws] Case | _10% o $0.00 5000 30,00
Soon 184 | Each | 10% 202 | 5000 50,00 50.00
213 2" xa Wood Sds @ 16'0c] 1326 T3 10% 145 5000 | 000 | _§0.00 5000 | $000 | $000 50.00




714 7 batt insulation] 1764 SE 10% 1940 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
215 floor and ceilina] 784 LF 10% 862 50.00 | 0,00 50.00 50.00 | 50,00 50.00 50.00
UNIT B3 (2 EA
Partiion Type 60 (204 LF)
216 ~Fire Rating 1 hr. 1836 sk 10% 2020
- Heinht
217 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 672 SF 0% 4039 5000 | 000 50,00 5000 | _$0.00 50,00 $0.00
/48 GB Sheet| 11500 | Sheets | 10% 12650
Sandina Disc] Each | 10% 2 50,00 50,00 $0.00
250 Tane Roll Rolls | 10% 1 50.00 $0.00 50.00
Gallons| __10% 2
i Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10% 2
1-1/4” Dwall Screws| Case | 10%
Soonaes| Each | 10% 2
218 274" Wood Studs @ 16" OC| 1380 L 10% 1518 $0.00 $0.00 $000 | 5000
219 1836 SF 10% 2020 50.00 50,00 50.00 50.00
220 @ floor and ceilina| 816 T3 10% 898 50,00 50.00 5000 | $0.00
Partiion Type 61 (30 LF)
221 Fire Rating: 1 hr. 270 sk 10% 207
222 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 54 SF 10% 5 $000 | $000 50,00 $000_| 5000 50,00 $0.00
43 GB Sheet] 17 Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50,00 50.00 50.00
Gallons| _10%
Eac 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10% .
Each | _10% 3
223 276" Wood Studs @ 16°0C| 203 T3 10% 223 $0.00 50,00 $000 | 5000
224 " Acoustic sound ballinsulation] 270 SE 10% 207 50,00 50,00 50,00 50,00
225 @ floor and ceilina| 120 T3 10% 132 50.00 50.00 5000 | $0.00
Partiion Type 61 (12 LF)
226 ~Fire Rati 4 Sk 10% a7
- Heinht- 210"
227 (1) laver of 5/8" tvoe "X" avosum board @ both sides| __6i S 10% 7 $000 | $000 50,00 $000_| 5000 50,00 $0.00
3 GB Sheet| Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Soonaes| Each | 10%
228 276 Wood Studs @ 16'0C| o T3 10% 2 $0.00 50,00 $000 | 5000
229 & Acoustic sound batt insulation| 3. SE 10% 50,00 50,00 50,00 50.00
230 @ floor and ceilina]___a T3 10% 50.00 50.00 5000 | $0.00
Partiion Type P-60 (40 LF)
231 Fire Rating: 1 hr. 360 sk 10% 396
- Heinht 0"
232 2" x4 Wood Studs @ 24" OC| __360 T3 10% 3% $000 | 5000 50,00 $000 | 5000 50,00 $0.00
233 1) laver of 5/8" fvne "X" avnsum hoard @ both sides| 720 SF 10% 7 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee Sheets |__10% 2
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
174" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | 10%
Snonges| Each | 10% X
234 3 112" unfaced fiver olass batt insulation @ both sides| 20 Sk 10% 792 $0.00 50,00 50,00 50,00
235 Fire biocking in air snace @ 100" 180 T3 10% 198 50,00 50,00 50.00 50.00
236 ‘Acoustical sealant @ floor and ceilina] 160 T3 10% 176 50,00 50,00 5000 | 5000
Pariiion Type P-61 (24 LF)
237 - Fire Rating: 1 hr. 216 Sk 10% 238
- Heioht
238 274" Wood Siuds @ 24 0C| o1l T3 10% 238 $000 | 5000 50,00 $000 | §000 50.00 $0.00
239 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SF 10% ar: $000 | $0.00 50,00 $000 | $000 | 5000 50,00
48 G Sheel| 14 Sheeis | 10%
‘Sandina Disc] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10% .
4 Each | 10% | o0
240 infaced finer olass bat insulation @ hoih sides| __43: SE 10% 75 $0.00 50,00 50.00 50.00
241 Fire blockina in air soace @ 10-0" 108 LE 10% 119 50,00 50,00 5000 | 5000
247 @ floor and ceilina| 06 T3 10% 106 50,00 50.00 50.00 50.00
Partiion Type E-4 (68 LF)
243 - Fire Rating: 1 hr. 612 sk 10% 673
- Hieinht- .07
248 (1) laver of 5/8" tvoe "X avosum board @ both sides| 12 SF 10% $000 | 5000 50,00 $000 | $000 | 5000 50,00
48 GB Sheel] _a¢ Sheeis | 10% 4
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4” Drvwall Screws| Case | 10%
Soonces| 1.2 h | 10%
2 R-20 infaced fiber alass hait insulafion| 61 si 10% 673
a 2" x 4" Wood Studs @ 24" OC| 306 U 10% 337
4 OBS sheathina| 612 s 10% 673
ai Vanor semi vermeable latex oaint|___612 si 10% 673
a1 @ floor and ceilina| 272 L 10% 299
250 Mot o %) wo | sk | w | aw
251 1) laver of 58" tvne "X avnsim board @ one sides| 306 SF 10% 337 $000 | §000 50.00 $000 | $000 50.00 $0.00
48 GB Sheel] 1 Sheets | __10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
50 Tave Roll Rolls | 10% 50.00 50,00 50,00
Soint Compound| Gallons | 10%
Each | 10% $0.00 $0.00 50,00
174" Drwall Screws| Pounds| _10%
1.1/4” Drwall Screws| Case [ 10%
Soon Each | 10%
252 24" Wood Studs @ 16 OC|___ 2 LE 10% 253 $0.00 $0.00 $000 | 5000
253 - 306 SF 10% 337 50.00 50.00 50.00 50.00
254 ‘Acoustical sealant @ floor and ceilina] 136 T3 10% 150 $0.00 50.00 5000 | 5000
BUILDING-2 TYPE-1A
UNIT A-1 (19 EAY
Partiion Type 1-60 (950 LF)
255 - Fire Rating: 1 h. 8550 sk 10% 9405
iaht: 90"
256 (1) laver of 5/8" tvoe "X avosum board @ both sides| 171 SE 0% 18810 | $0.00 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Sheetl 535 Sheets | 10% 568
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
1-1/4" Drwall Screws| Case | 10%
Soonces| 1781 | Each | _10% g
257 2 x4 Wood Studs @ 16" OC|__6.429 T3 10% 7071 50.00 50.00 50.00 50.00
258 4" Acoustic sound batt insulat 8550 SE 10% 9405 50.00 50.00 5000 | 5000
259 floor and ceilina] __3.800 T3 10% 4180 50.00 50.00 50.00 50.00
Partiion Type 160 (152 LF)
260 - Fire Rating: 1 hr. 430 sk 10% a73
- Heiaht: 210"
261 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SE 0% i $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
-1/4” Drvwall Screws| Case | 10%
Soonaes| Each | 10%
262 2 x4 Wood Studs @ 16°OC| 323 LF 10% 356 50.00 50.00 50.00 50.00
263 4" Acouslic sound batt insulat 430 SE 10% 473 50.00 50.00 5000 | 5000
264 floor and ceilinal 608 T3 10% 669 50.00 50.00 50.00 50.00
Partiion Type 161 (266 LF)
265 - Fire Rating: 1 hr. 2394 sk 10% 2633
- Heiaht: 9
266 (1) laver of 5/8" tvoe "X avosum board @ both sides| 4.7 SE 0% $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Sheet| 150,00 | Sheets| 10%
Sandina Disc|__2 Each | 10% $0.00 $0.00 $0.00
250 Tape Roll|__13. Rolls | 10% 50.00 50.00 50.00
24 Gallons|__10% 2
Joint Compound] 11, Each | 10% 50.00 50.00 $0.00
rvwall Screws| 26 Pounds| _10% 2
1-1/4" Drvwall Screws| 1. Case | _10% 4 S0
Soon 4 Each | 10% a S0
267 2" x6" Wood Studs @ 16 OC|___1.800 LF 10% 1980 50,00 50,00 50,00 50,00 50
268 bat insulation| 2394 SE 10% 2633 50,00 50.00 5000 | $0.00 S0
269 I sealant @ floor and cellina 1,064 LF 10% 1170 50.00 50.00 50.00 50.00 50
Pariition Type P-60 (198 LF)
270 - Fire Rating: 1 hr. 7.182 SF 10% 7900
- Heiaht: 9
271 & Wood Studs @ 24" OC| 7182 13 0% 7900 | 5000 | $0.00 50.00 $000 | $000 | 5000 $0.00
272 (1) laver of 5/8" tvoe 14364 S 10% 15800 | $0.00 | $0.00 50.00 50.00 | 5000 50.00 50.00
44900 | Sheets| _10% | 493.90
ach | 10% 50,00 50,00 $0.00
Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10% 2 S0
14 Each | 10% 16 4 50
273 3 172" unfaced fiber olass batt insulation @ both sides| 14364 SE 10% 15800 $0.00 50.00 $000 | 5000 S0
274 Fire blockina in air soace @ 1007 3591 LF 10% 3950 50.00 50,00 50.00 50.00 50
275 @ floor and ceilina|__3192 T3 10% 3511 50,00 50.00 5000 | $0.00 S0
Partition Type P-61 (285 LF)
276 - Fire Rating: 1 hr. 2565 sk 10% 2822
277 2" x4 Wood Studs @ 24 OC| 2565 T3 10% 2822 5000 | 000 50,00 5000 | 000 50,00 $0.00
278 1) laver of 5/8" tvne "X" avosum board @ both sides| 5 130 SE 10% 5643 | 50.00 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Sheet] 16100 | Sheets| 10% 177.10
Sandina Disc| 3 Each | 10% $0.00 $0.00 $0.00
250 Tave Roll|__14. Rolls | 10% 50.00 50.00 50.00
i 2 Gallons|__10%
Joint Compound] 11, Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| 27 Pounds| _10%
1-1/4" Drvwall Screws| 1. c: 10% 5 S0
Soonces| 5 Each | 10% S0
279 3 1/2" unfaced fiber ulass batt insulation @ both sides| 5.1 S 10% 5643 50,00 50,00 50,00 50,00 50
280 Fire blocking in air soace @ 10 1283 T3 10% 1411 50,00 50.00 5000 | 5000 S0
281 I sealant @ floor and ceilin] __1.140 LF 10% 1250 50.00 50.00 50.00 50.00 50
Parition Type £-4 (456 LF)
282 - Fire Rating: 1 hr. 4104 sk 10% 514
- Heiaht:9'
263 1) laver of 5/8" tvne "X" avosum board @ both sides| __8.208 SE 0% 9029 | 5000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
43 GB Sheet] _257.00 | Sheets| 10% 282.70
i Each | 10% $0.00 $0.00 $0.00
2 Rolls | 10% 50.00 50.00 50.00
2 Gallons|_10%
5. Each | 10% 50,00 50,00 $0.00
73 Pounds| _10%
Case | 10% a 50,00 50,00 $0.00
s Each | 10% | 94 50.00 50.00 50.00
284 R-20 unfaced fiber alass batt insulation| 104 S 10% 514 50.00 | _$0.00 50,00 50.00 | 000 50,00 50,00
285 2" x&" Wood Studs @ 24" OC] 052 T3 10% 2257 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00




785 OB sheathing] 404 | ¢ | 10% | asia | so0o | soo0 | so00 | s000 | so00 | soco 5000
267 Vasor semipermeable laex oaini 4104 | _S¢ | 0% | 4514 | 5000 | $000 | 5000 | $000 | $000 | 5000 50,00
288 @ floor and ceilina 1.824 LE 10% 2006 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
289 o ol F61 76 LD o84 st | 10w 52
290 (1) laver of 5/8" tvoe " wosum board @ one sides| I SF 10% 752 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
456 GB Sheel Sheets | 10% | 2420
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250" Tave Roll Rolls | 10% 5000 5000 50,00
7 Gallons|10%
Eacn | 10% 5000 5000 5000
10" Drvwal Screws| Pounds| 10%
1-1/4" Drvwal Screws| Case | 10%
Soon Each | 10%
201 4" Wood Swds @ 16' OC|__51. e [ tow 566 5000 | 5000 5000 | 3000
292 a4 batt insulation] 8 SF 10% 752 $0.00 $0.00 $0.00 $0.00
205 floor and ceilina] 304 1o 354 5000|5000 5000|3000
UNIT A-3 (2 EAY
Partiion Type 160 (136 LF)
294 - Fire Rating: 1. 120 | sk | 10w | s
205 0 aver of /6" oe "X ovosum board @ both sides| 2.4 SF | 0% | 2693 | 5000 | $000 | 5000 | $000 | 000 | 5000 5000
407 G Shee 77 Sheers | 10% | 84
Sandina Disc on | d0% |1 000 000 5000
250’ Tane Roll| Rolls. 10% 7 $0.00 $0.00 $0.00
Gallons| 0% |14
Eac 10% 6. $0.00 $0.00 $0.00
0/4" Drvwal Screws| Poungs| 0% | 14
11/2" Drvwal Screws| Case | 10% | 0
Eacn | 10% | 2
296 2" x4" Wood Studs @ 16" OC| 920 LE 10% 1012 $0.00 $0.00 $0.00 $0.00
207 " Acousiic sound bat insulaion| 1224 | SF_| 1% | 1346 5000|5000 5000|3000
298 @ floor and ceilina 544 LE 10% 598 $0.00 $0.00 $0.00 $0.00
Parilion Type 160 (16 LF)
200 ~Fire Rat st | 10w s
- siahr 710y
300 0 aver of /6" oe "X ovosum board @ both sides| o Se | 0w 00| $000 | $000 | $000 | 000 | $000 | 5000 5000
407 G Shee Sheers | 10%
Sandina Disc oh | 10% 000 000 5000
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
FEach 10% $0.00 $0.00 $0.00
0/4" Drvwal Screws| Pounds|__10%
11/2" Drvwal Screws| Gase | 10%
Soonces Eacn | 10%
301 2" x4" Wood Studs @ 16" OC| 3 LE 10% 3 $0.00 $0.00 $0.00 $0.00
302 % Acousic sound battinsulaton] SE [ io% E 5000|5000 5000|3000
303 @ floor and ceilina [ LE 10% B $0.00 $0.00 $0.00 $0.00
Parilion Type 161 (20 LF)
304 - Fire Rating: 1. 180 st | 10w 108
- Hsiohr 9.0
305 0 Taver of /6" oe X" avpsim board @ both sides| Se | % 356 | 000 | 000 | 3000 | 5000 | 5000 | 3000 5000
5 GB Sheel 1 Sheers | 10%
Sandina Disc Each | 10% 000 000 5000
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
i FEach 10% $0.00 $0.00 $0.00
0/4" Drvwal Screws| Pounds|__10%
11/2" Drvwal Screws| Gase | 10%
noes| Eacn | 10%
306 2" x 6" Wood Studs @ 16" OC| 35 LE 10% 4 $0.00 $0.00 $0.00 $0.00
307 & Acousic sound bat nsuiaion] 160 SE [ io% 108 5000|5000 5000|3000
a0n @ flor and cefnal a0 [T T [ 5000 | 5000 5000 | 8000
Partiion Type P60 (102 LF)
309 - Fire Rating: 1 . a8 st | 1w | 00
e
310 7" Wood Suuds @ 24 OC|__ 7182 | LF | 0% | 7500 | 000 | So00 | 5000 | 5000 | 5000 | 5000 5000
EIT (1) laver of /8" tvne "X" avnsum hoard @ both sides| 1836 SF 10% 2020 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
456 GB Sheel Sheers | 10% |63
Sandina Disc| 1 Fach 10% 1: $0.00 $0.00 $0.00
50 Tape Roll Rols | 10% |5 5000 5000 50,00
Soint Gompound] 1 Gallons] _10% |11
Eacn [ 10% | 4 000 000 5000
Orvwall Serews| 1 Pounds] 10% | 11
11/a" Drvwal Screws| Case [ 10% | 0
noes| Each | 10% 2.
FIV 3117 unfaced iberclass ballinsulaion @ both sides| 1836 | SF | 0% | 020 000 | 5000 000 | 5000
ETE) Fie biocking inair soace @ 10-0-] 450 e | do% 505 5000|5000 5000 | 000
314 ‘Acousiica sealant @ floor and ceino] 408 [T TS aso $0.00 | 5000 5000 | 5000
Partition Type P-61 (30 LF)
ats - Fire Rating: 1. 210 st | 10w 207
- e
316 2" x4" Wond Studs @ 24" OC| 270 LE 10% 297 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
a7 0 Taver of /6" tvoe "X ovosum board @ both sides| 5t Se | 0% o $0.00 | 000 | 3000 | 50,00 | 5000 | 3000 50,00
407 GA Shee] 17 Sheers | 10% o
Sanding Disc Each | 10% 000 000 5000
250' Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|_10%
JJoint Comnaund| Fach 10% $0.00 $0.00 $0.00
L0/4" Drvwal Screws| Pounds| 10%
1-1/4" Drvwal Screws| Gase | 10% .
Soonces Eacn | 10% | 06
T nfacer ther lass hat nsulation @ both sides] 540 Se | 1o% S04 5900|5000 5000 | 0060
310 Eire biocking i ai soace @ 10.0°] 135 [T T 145 5000|5000 5000 | 5000
20 fioor and ceifina] 120, T 132 5000|5000 5000 | 8000
Partiion Type £-4 (48 LF)
e - Fire Rating: 1 r. a2 st | 0% 475
e
E7 30 aver of /6" toe X" avpsim board @ both sides| Se | 0% | o 000 | 000 | 3000 | $000 | 5000 | 3060 5000
407 G Sheel 77 Sheers | 10%
Sanding Disc cn | 10% 000 000 5000
250' Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|_10%
Joint Comnaund| Fach 10% $0.00 $0.00 $0.00
T0/4" Drvwal Screws| Pounds| 10%
Drvwall Screws] Gase | 10%
Soonces Eacn | 10%
323 20 unfaced fier glass a3 Se | 0% a75
324 2 x4" Wood Suis @ 24"0C| 216 | o 238
325 08S sheathina] 432 se | 0% a75
326 Vaor semi permeable atex paini] 432 S ars
37 floor and ceilng 102 L 1ow 211
a0 Pariion Type #-61 6 1F) | o | ww | w
20 ) laver of /5" vpe ™X” avpsum board @ one sides| 7 St | ow 7 $000 | 5000 | 5000 | 5000 | 000 | 5000 3000
45 GB Sheell 3 Sheeis |__10%
Sandina Disc| 0. Each 10% $0.00 $0.00 $0.00
250" Tave Roll Rolls | 10% 5000 5000 5000
Joint Compound Gallons|__10%
Each 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
1:1/a" Drvwal Screws| Case | _10%
Soona Each | 10%
330 74" Wood Suds @ 16" 0C|___ 54 [ T 5000|5000 5000|5000
331 - 72 Se [ 10w 00 | s000 | s000 | s000 | 000 | 5000 T
EE ‘Acousiical sealant @ floor and ceilnol 32 | o 5000|5000 5000 | 5000
UNIT A-4 (2 EA)
Partiion Type 160 (134 LF)
333 - Fire Rating: 1 hr. 1,206 SF 10% 1327
- Heioht: 9.0"
e 0 aver of /6" oe "X ovosum board @ both sides| 2.4 St | g% | o3 | s000 | $000 | 5000 | 5000 | 000 | 5000 000
45 GB Sheel] 11 Sheers| 10% |85
Sanding Disc Each | _10% | 1 5000 5000 5000
250’ Tae Roll| Rolls. 10% 7. $0.00 $0.00 $0.00
Gallons| _10% | 14
Joint Compound) Each 10% 6. $0.00 $0.00 $0.00
070" Drvwal Screws| Pounds| 10% | 14
1-1/a" Drvwal Screws| c 10% o
Soonces Eacn | _10% | 2
355 7 & Wood Swds @ 16" 0c|___90 [T T o9 5000 | 5000 5000 | 0060
336 & Acousic sound baitinsulation] 1206 | SF | 1o | 1307 5000|5000 5000 | 5000
357 floor and ceilina] 536 L tow 590 000 | 5000 5000 | 8000
Partiion Type 160 (16 LF)
338 - Fire Rating: 1 hr. a5 SF 10% 50
- eiaht: 210"
) 0 Taver of /6" tvoe "X ovosum board @ both sides| o S o 000 | 000 | 000 | s000 | 5000 | 5000 000
46 GB Sheel Sheeis | 10%
Sanding Disc Each | _10% 5000 5000 5000
250’ Tae Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
Joint Compound) Each 10% $0.00 $0.00 $0.00
070" Drvwal Screws| Pounds| _10%
14 Drwwal Screws| Case [ 10 50
St Each 10% $0.
300 7 & Wood Suwis @ 16"0| 3 [T T 3 5000 | 5000 5000 | 000 50
341 i batt insulation] & SF 10% S $0.00 $0.00 $0.00 $0.00 $0.
ETE) ical sealant @ flor and ceiina] 6 o 7 5000|5000 5000 3000 50
Pariiion Type 161 20 LF)
a3 - Fire Rating: 1. 180 st | 10w 198
- Heiaht:
344 (1) laver of 5/8" tvoe "X" avnsum board @ both sides| 36( SF 10% 396 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
46 GB Sheel Sheets | 10%
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250" Tae Roll Rolls | 10% 5000 5000 50,00
7 Gallons| _10%
Joint Compound Each | 10% 5000 5000 3000
il Ses Pounds| 10%
Case | 10% =
Each 10% $0.
35 76" Wood Swis @ 16" 0C|___1: [T T 4 5000 | 5000 5000 | 000 50
346 batt insulation] 180 SF 10% 198 $0.00 $0.00 $0.00 $0.00 $0.
a7 J scalant @ floor and ceilina] 80 o ] 5000 | 5000 5000 3000 50
Pariiion Type P60 (106 LF)
s - Fire Rating: 1. 954 st | 10w | om0
- Heiaht:
349 2" x4" Wood Studs @ 24" OC| 954 LE 10% 1049 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
350 0 aver of 576" woe 908 £ | do% | 2005 | $000 | $000 | $000 | $000 | 5000 | 5000 50,00
Sheers | _10% |66
ach | 10% | 1 5000 5000 5000
Rolls. 10% 5. $0.00 $0.00 $0.00
Joint Compound Gallons| 10% |11
ich 10% 5. $0.00 $0.00 $0.00
Orviall Screws| 1100 [Pounds] _10% | 1
1-1/4" Drwall Screws| 0. Case 10% 0. $0.
Soonces] 1 Each |_10% | 2 50
351 3 1/2" unfaced fiber alass batt insulation @ both sides| 1.908 SF 10% 2099 $0.00 $0.00 $0.00 $0.00 $0.
352 Fire biocking in air soace @ 10.0°] 477 [T T 525 5000 | 5000 5000 8000 50
353 @ floor and ceiling 424 LE 10% 466 $0.00 $0.00 $0.00 $0.00 $0.
Pariion Type P61 (30 L)
e ~Fire Rating: 1hr. 210 st | 10w 207
E 4" Wood Swds © 24 0C| 270 1w 257 | 000 | 000 | 5000 | 5000 | 5000 | $000 5000
356 (1) laver of 5/¢ 54( SF 10% 594 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Sheers | 10% o
Each 10% $0.00 $0.00 $0.00
Rolls | 10% 5000 5000 50,00
Gallons|_10%
Eacn | 10% 5000 5000 5000
Pounds| 10%
Case | 10%
Each | 10% |
357 3 112" unfaced iber dlass ball nsulation @ both sides| o Se | 0% S04 5000 | 5000 5000 | 3000
358 Fire blockina in air snace @ 100" 135 LE 10% 149 $0.00 $0.00 $0.00 $0.00
350 Tloor and ceiina 120 [T ) 132 5000 | 5000 5000|3000




Partition Type E-4 (68 LF)
1hr

360 - Fire Rating 612 sk 10% 673
- Heioht: 9.0
361 1) laver of 57 1224 SF 0% 136 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
3 Sheets | __10% 4
Each | 10% $0.00 50,00 50,00
Rolls | 10% 50.00 50.00 50.00
Gallons| 10%
Each | 10% 50,00 50,00 $0.00
Pounds| 10%
Case | 10%
Each | 10%
362 "R20 unfaced fiber olass bailinsulation] 612 10% 673 S0
363 2" 4" Wood Studs @ 24" OC| 306 10% 337 50,
364 OBS sheathina| 612 10% 673 50
365 Vanor semi nermeable latex oaint] 612 10% 673 50,
366 floor and ceilina 272 10% 299 S0
a7 e o e 2 st | 10w o
368 (D) laver of 5/8" voe "X avbsum board @ one sides| 7 S 10% 7 $000 | $000 50,00 $000 | $000 | 5000 $0.00
438 GB Sheel| Sheeis | 10%
Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Each | 10% 5000 5000 50,00
1.1/4" Drwall Screws| Pounds| _10%
1-1/a" Drvwall Screws| Case | 10%
Each | _10%
365 2" w4 Wood Studs @ 16'0C] 5 3 10% 5000 50,00 $000 | 5000
370 " Acoustic sound ballinsulation] 7 SE 10% 7 50,00 50,00 5000 | 5000
an1 @ floor and ceilina] 3 i3 10% 50,00 50.00 5000 | 5000
UNIT A5 (1 EAY
Partition Type -60 (57 LF)
a2 Fire Rating: 1 . 513 Sk 10% 564
- Heioht
a3 (1) laver of 5/8" tvoe "X avosum hoard @ both sides| 026 SF 10% | 1129 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
43 GB Shee Sheets | __10%
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons| 10%
Each | 10% $0.00 $0.00 $0.00
T-1/4" Druwall Screws| Pounds| 10%
1-1/4” Drwall Screws| Case | 10%
Snonaes| Each | 10% ¥
374 2" x4 Wood Swds @ 16" OC| LE 10% 24 $0.00 50,00 5000 | 000
a75 - bat insulation| 513 SE 10% 564 50,00 50.00 5000 | 5000
376 ‘Acoustical sealant @ floor and ceiina] 228 LF 10% 251 50,00 50,00 5000 | 5000
Partition Type I-60 (8 LF)
arr Fire Rating: 1 . SF 10% 2
- Heiaht: 210"
a7 0 laver of 5 a SF 0% 5 $000 | 5000 50,00 $000 | $000 | 5000 50,00
Sheets |__10%
Each | 10% $0.00 5000 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
ch | 10% $0.00 $0.00 $0.00
Pounds| 10%
Case | 10%
Each | 10% X
379 2" x4 Wood Studs @ 16'0C| 1 LE 10% 1 $0.00 50,00 5000 | 5000
360 - bat insulation| 2 SE 10% 2 50,00 50.00 5000 | 5000
381 ‘Acoustical sealant @ floor and ceiin] __3: LF 10% 50,00 50,00 5000 | 5000
Pariiion Type 61 (10 LF)
382 Fire Rating: 1 . % Sk 10% 99
- Heioht
T 0 laver of 6 T SF 0% 55 $000 | 5000 50,00 $000 | $000 | 5000 0,00
Sheets | __10%
Each | 10% $0.00 $0.00 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
ch | 10% $0.00 $0.00 50,00
Pounds| 10%
Case [ 10%
‘Snona Fach | 10% ¥
364 26 Wood Studs ® 16 OC| 6 LE 10% 7 5000 50,00 $000 | 5000
285 & hat insulafion| 0 SE 10% o 50,00 50,00 5000 | 50.00
386 “Acousical sealant @ floor and ceilina] T3 10% 4 50,00 50,00 5000 | 5000
Pariiion Type P-60 (57 LF)
387 Fire Rating: 1 . 513 Sk 10% 564
- Heioht
£ 2" w& Wood Studs @ 24 0G| 513 i3 0% 564 $000 | 5000 50,00 $000 | $000 | 5000 50,00
389 1) laver of 5/6" voe "X" avosum board @ both sides| __1.0: SF 10% | 1129 | 5000 | 5000 50,00 $000 | $000 | 5000 50,00
'\ GR Sheet Sheeis | 10%
Sandina Disc] ch | __10% 5000 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 50,00
rvwall Screws| Pounds| _10%
Drwall Screws| Case | 10%
oonaes| Each | 10% | 1
390 infaced fiber olnss bait insulafion @ both sides| 1.026 sk 10% 1120 $0.00 50,00 5000 | 5000
391 Fire blocking in ai space @ 10-0'] 257 LE 10% 282 50,00 50,00 5000 | 5000
392 @ floor and ceilina] 228 i3 10% 251 $0.00 50.00 5000 | 5000
Partition Type P-61 (30 LF)
393 ~Fire Rating: 1 hr. 270 sk 10% 207
- Heiht 9
394 24 Wood Studs ® 24" OC| 270 13 10% 297 $000 | 5000 50,00 $000 | $000 | 5000 50,00
295 1) aver of 578" voe 540 SF 10% | 5o $0.00 | 5000 50.00 5000 | 5000 | 5000 50.00
7 Sheets | __10%
7 Each | 10% $0.00 $0.00 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
Each | 10% $0.00 $0.00 50,00
Pounds| 10%
c: 10%
Fach | 10% X
39 3 1/2" unfaced fiber olass batt insulation @ both sides| 540 Sk 10% o 5000 50,00 $000 | 5000
397 blocking in ai space @ 10-0' 35 LF 10% 4 50,00 50.00 5000 | 5000
398 “Acoustical sealant @ floor and ceiina] 120 T3 10% 132 50.00 50.00 5000 | 5000
Partiion Type E-4 (24 LF)
399 - Fire Rating: 1 hr. 216 sF 10% 238
400 1) laver of 5/8" tvoe "X” avbsum board @ both sides| 432 SF 0% | 475 $000 | $000 50.00 $000 | $000 | $000 0,00
48 GB Sheel] 14 Sheets | __10%
Sandina Disc] ach | 10% $0.00 5000 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Compound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1-1/4" Drwall Screws| Pounds| _10%
1.1/4” Drwall Screws| Case | _10%
Soonaes| Each | 10%
401 R20 unfaced fiber olass baitinsulati 1 Sk 10% 238
202 2" x4 Wood Studs @ 24" O o LF 10% 119
403 OBS sheathing 1 SE 10% 238
404 Vapor semi permeable latex paint| 1 SF 10% 238 | 5000 | $0.00 | 5000 | $000 | $000 | 5000 | X
405 ‘Acoustical sealant @ floor and ceiina] 96 T3 10% 106
UNIT B-1 (8 EA)
Partiion Type 1-60 (664 LF)
406 ~Fire Rating: 1 . 5976 sk 10% 6574
- Heioht: 9.0
407 1) laver of 5/8" voe X" avosum board @ both sides| 11052 SF 10% FETY $000_| 5000 50,00 $000 | $000 | 5000 50,00
48 GB Sheet|__374.00 | Sheets| _10% | 41140
Sandina Disc] Each | _10% $0.00 $0.00 0,00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4" Drwall Screws| C 10%
Soonaes| 45| Each | 10%
408 2@ Wood Studs @ 16' OC|__4.493 LF 10% 2943 5000 50.00 5000 | 5000
400 4" Acousic sound balt insulal 5976 SE 10% 6574 50.00 50.00 5000 | 5000
410 floor and ceilina] __2.656 T3 10% 2922 50,00 50.00 5000 | 5000
Partiion Type 61 (120 LF)
an ~Fire Rating: 1 hr. 1,080 sk 10% 1188
- Heioht: 9.0
a1z 1) laver of 5/6" voe "X" avosum board @ both sides| 2.1 SF 10% 2376 | 5000 | §000 50,00 $000 | $000 | 5000 50,00
48 GB Sheet| 68, Sheets | 10% 7
Sandin Disc| 1 Each | _10% a $0.00 $0.00 50,00
250 Tae Roll 6 Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
T0/4" Drvwall Screws| 1. Pounds| _10%
/47 Drwall Screws| Case | _10% S0
s Each | 10% a 50
413 26 Wood Studs @ 16 OC| 1. LF 10% 893 50,00 50,00 5000 | 000 50
a1a g batt insulation| 1,080 SE 10% 1188 50.00 50.00 5000 | 5000 50
415 I sealant @ floor and cellina| 480 LF 10% 528 50.00 50.00 5000 | 5000 50
Pariition Type P-60 (416 LF)
a16 ~Fire Rating: 1 . 3744 SF 10% aus
- Heloht: 9.
a7 & Wood Studs ® 24" 0G| 3,744 13 10% 418 | $000 | 5000 50.00 $000 | $000 | 5000 50,00
418 D) laver of 5 7.488 S 10% 8237 50.00 | 000 50.00 50.00 | 5000 | 000 50.00
448 G Sheet| _ 234.00 | Sheels | _10% | 257.40
Sandina Disc] Each | 10% s 50,00 50,00 $0.00
250 Tane Roll Rolls | 10% 22 50.00 50.00 50.00
Joint Comoound Gallons| _10% aL
i Each | 10% 17 50,00 $0.00 50,00
1.1/4" Drwall Screws| Pounds| _10% .
1-1/a" Drvwall Screws] Case | 10% 2 50
Soonaes| Each | 10% 85 50
415 3 112" unfaced fiber olass bait insulation @ both sides| _7.488 sk 10% 8237 50,00 50.00 $000 | 5000 50
420 Fire blocking in ai sace @ 10-0'] 1872 LF 10% 2059 50.00 50,00 5000 | 5000 50
421 @ floor and ceilina| 1664 13 10% 1830 50.00 50.00 5000 | 5000 50
Partition Type P-61 (64 LF)
422 ~Fire Rating: 1 . 576 sk 10% 634
eicht
423 274 Wood Studs @ 24" OC| 576 T3 10% 634 5000 | 000 50,00 5000 | §000 | 000 $0.00
124 5 laver of 5/8" voe "X" avosum board @ both sides| 152 SE 10% 1267 | 5000 | $0.00 50.00 5000 | 5000 | 5000 50.00
48 G8 Sheel] Sheets |__10%
‘Sandina Disc] Each | 10% 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
i Gallons| _10%
Joint Compound Each | 10% 50,00 50,00 $0.00
T1/4" Drvwall Screws| Pounds| _10%
114" Drvwall Screws] Case | _10% S0
‘Soonaes| Each | 10% 50
425 3 12" unfaced fiber olass batt insulation @ both sides| 1152 S 10% 1267 50,00 50,00 5000 | 000 50
426 Fire blocking in ai sace @ 10-0'] 288 T3 10% 317 50.00 50.00 5000 | 5000 50
227 Acoustical sealant @ floor and cellina 120 LF 10% 137 50.00 50.00 5000 | 000 50
Pariition Type £-4 (336 LF)
428 ~Fire Rating: 1 024 sk 10% 3326
- Heioht: 9.0
29 D) laver of 5 ‘avosum board @ both sides| 6.0 SF 10% 6653 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
48 GB Sheel| _189.00 | Sheets| _10% | 207.90
‘Sandina Disc] Each | 10% 4 $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 1. 50.00 50.00 50,00
i Gallons| _10% 34
X Each | 10% 12, 50.00 50.00 $0.00
/4" Drvwall Screws| Pounds| 10% 35
1-1/4” Drwall Screws| Case | 10% 17,
‘Snona Each | 10% 69
430 R-20 unfaced fiber olass bailinsulation] 3,024 S 10% 3326 50,00 50,00 5000 | 000
431 2" 4" Wood Studs @ 24" 0G| 1 13 10% 1663 50,00 50.00 5000 | 5000
432 08S sheathina| _3.024 SE 10% 3326 $0.00 $0.00 $0.00 $0.00




433 Vanor semi nermeable latex pain| 3074 SE 10% 332 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
434 floor and ceilin] __1.344 LF 10% 1478 50.00 | 0,00 50.00 50.00 | 50,00 50.00 50.00
UNIT B-2 (16 EAY
Partition Type 160 (1552 LF)
435 ~Fire Rating 1 hr. 13968 sk 10% 15365
- Heinht
436 (1) laver of 5/8" tvoe "X" avosum board @ both sides| _27.5: SF 0% 30730 | $000 | $000 50,00 5000 | _$0.00 50,00 $0.00
48 GB Sheet| 873 Sheets | 10% 60.
Sandina Disc] . Each | 10% 19 50,00 50,00 $0.00
250 Tane Roll|__7: Rolls | 10% 80, 50.00 $0.00 50.00
1 Gallons| __10% 154
i Each | 10% 66. $0.00 $0.00 $0.00
L1/4" Drwwall Screws| 1. Pounds| _10% 161
1-1/4” Dwall Screws| 4 Case | 10% 8.1,
Soonces| 2910 | each | 10% 32.00
457 274" Wood Studs @ 16 OC| 10502 L 10% 11552 $0.00 $0.00 $000 | 5000
438 13.968 SF 10% 15365 50.00 50,00 50.00 50.00
430 @ floor and ceilina| 6208 T3 10% 6829 50,00 50.00 5000 | $0.00
Partiion Type 61 (224 LF)
440 Fire Rating: 1 hr. 2016 sk 10% 218
241 (1) laver of 5/8" tvoe "X avosum board @ both sides| 4.0 SF 10% 2435 | $000 | $000 50,00 $000_| 5000 50,00 $0.00
48 GB Sheet] 126,00 | Sheets | 10% 138.60
Sandina Disc| 2. ch | __10% 7 $0.00 $0.00 $0.00
250 Tave Roll| 11 Rolls | 10% 50,00 50.00 50.00
21, Gallons| _10%
o Eac 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| 22 Pounds| _10%
11/4" Drvwal Screws| 1 Case | 10% E
Soonces| . Each | 10% 462
a1 276 Wood Studs @ 16'0C| 1516 T3 10% 1667 $0.00 50,00 $000 | 5000
443 " Acoustic sound ballinsulation] 2,016 SE 10% 2218 50,00 50,00 50,00 50,00
aaa @ floor and ceilina| 896 T3 10% 986 50.00 50.00 5000 | $0.00
Partiion Type 62 (48 LF)
445 Fire Rating 432 sk 10% 475
- Heinhr 00"
446 (1) laver of 5/8" tvoe "X" avosum board @ both sides| S 0% | 950 $000 | $000 50,00 $000_| 5000 50,00 $0.00
3 GB Sheet| Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Soonaes| Each | 10%
aa7 2" X8 Wood Studs @ 16'0C| 325 T3 10% 357 $0.00 50,00 $000 | 5000
448 & Acoustic sound bat insulation| 432 SE 10% 475 50,00 50,00 50,00 50.00
449 @ floor and ceilina| 192 T3 10% 211 50.00 50.00 5000 | $0.00
Partiion Type P-60 (464 LF)
450 - Fire Rating 4176 sk 10% 4504
- Heinht 0"
451 2" 4" Wood Studs @ 24" OC] 176 T3 10% 4504 | $000 | $000 50,00 $000 | 5000 50,00 $0.00
57 1) Iaver of 5/8" fvne "X" avosum hoard @ both sides| 35 SF 10% 9187 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee 1 Sheets | _10% 287.10
‘Sandina Disc| Each | 10% .7 $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
1-1/4" Dwall Screws| 44 Pounds | 10%
1-1/4" Drvwall Screws| 2. Case | 10% 4
Soonces| 8 Each | 10% 5
453 3 1/2" unfaced fiber olass batt insulation @ both sides| __8.352 Sk 10% 9187 $0.00 50,00 50,00 50,00
254 Fire biockina in air snace @ 100" 2088 T3 10% 2207 50,00 50,00 50.00 50.00
455 ‘Acoustical sealant @ floor and ceilina] 1856 T3 10% 2042 50,00 50,00 5000 | 5000
Pariiion Type P-61 (496 LF)
456 - Fire Rating: 1 hr. 4464 Sk 10% 4910
- Heioht
257 2" & Wood Studs @ 24 OC| 4464 T3 10% 2910 | $000 | $000 50,00 $000 | §000 50.00 $0.00
458 (1) laver of 5/8" tvoe "X avosum board @ both sides| 8. SF 10% 9821 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
'\ GB Sheel] 27900 | Sheets | 10% 306.90
‘Sandina Disc] ch | __10% 1. $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
Each | 10% 2
250 infaced fiver olass hat insulation @ both sides| o8 SE 10% 9821 $0.00 50,00 50.00 50.00
460 Fire blockina in air soace @ 10072232 LE 10% 2455 50,00 50,00 5000 | 5000
261 @ floor and ceilina 1984 T3 10% 2182 50,00 50.00 50.00 50.00
Partiion Type E-4 (544 LF)
462 - Fire Rating: 1 hr. 4,89 sk 10% 5386
- Hieinht- .07
463 (1) laver of 5/8" tvoe "X avosum board @ both sides| 97 SF 10% 10771 | $000 | $000 50,00 $000 | $000 | 5000 50,00
'\ GB Sheel]| 30600 | Sheets | 10% 336
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4” Drvwall Screws| Case | 10% X
‘Soonaes| 2 h | 10% 1122
262 R-20 unfaced fiber alass hatt insulation) 896 si 10% 5386
465 2" x 4" Wood Studs @ 24" OC|__2.448 U 10% 2693
266 OBS sheathina| 4896 s 10% 5386
67 Vanor semi vermeable latex paint| 4896 si 10% 5386
268 @ floor and ceilina| 2176 L 10% 2394
a0 Mot o2 sow | e | 1w | ous
270 1) laver of 58" tvne "X avnsim board @ one sides| 2 016 SF 10% 2218 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
48 GB Sheel| 63 Sheets | __10%
Sanding Disc| __1.¢ Each | 10% K $0.00 $0.00 $0.00
250 Tave Rolll 6 Rolls | 10% & 50.00 50,00 50,00
Soint Compound] 11 Gallons | 10%
5 Each | 10% 5 $0.00 $0.00 50,00
174" Drwall Screws| 11 Pounds| _10%
1-1/4" Drvwall Screws| 0. Case [ 10% 5
Soonces| 2. Each | 10% 2
aTL 24" Wood Studs @ 16" OC|__1516 LE 10% 1667 $0.00 $0.00 $000 | 5000
412 - 2,016 SF 10% 2218 50.00 50.00 50.00 50.00
473 ‘Acoustical sealant @ floor and ceilina] 896 T3 10% 986 $0.00 50.00 5000 | 5000
BUILDING-3 TYPE-1A
UNIT A-1 (19 EAY
Partiion Type 1-60 (950 LF)
a1 - Fire Rating: 1 h. 8550 sk 10% 9405
iaht: 90"
475 (1) laver of 5/8" tvoe "X avosum board @ both sides| 171 SE 0% 18810 | $0.00 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Sheetl 535 Sheets | 10% 568
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
1-1/4" Drwall Screws| Case | 10%
Soonces| 1781 | Each | _10% g
476 2 x4 Wood Studs @ 16" OC|__6.429 T3 10% 7071 50.00 50.00 50.00 50.00
a77. 4" Acoustic sound batt insulat 8550 SE 10% 9405 50.00 50.00 5000 | 5000
478 floor and ceilina] __3.800 T3 10% 4180 50.00 50.00 50.00 50.00
Partiion Type 160 (152 LF)
a79 - Fire Rating: 1 hr. 430 sk 10% a73
- Heiaht: 210"
480 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SE 0% i $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
-1/4” Drvwall Screws| Case | 10%
Soonaes| Each | 10%
481 2 x4 Wood Studs @ 16°OC| 323 LF 10% 356 50.00 50.00 50.00 50.00
a8 4" Acouslic sound batt insulat 430 SE 10% 473 50.00 50.00 5000 | 5000
483 floor and ceilinal 608 T3 10% 669 50.00 50.00 50.00 50.00
Partiion Type 161 (266 LF)
a4 - Fire Rating: 1 hr. 2394 sk 10% 2633
- Heiaht: 9
485 (1) laver of 5/8" tvoe "X avosum board @ both sides| 4.7 SE 0% $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Sheet| 150,00 | Sheets| 10%
Sandina Disc|__2 Each | 10% $0.00 $0.00 $0.00
250 Tape Roll|__13. Rolls | 10% 50.00 50.00 50.00
24 Gallons|__10% 2
Joint Compound] 11, Each | 10% 50.00 50.00 $0.00
rvwall Screws| 26 Pounds| _10% 2
1-1/4" Drvwall Screws| 1. Case | _10% 4 S0
Soon 4 Each | 10% a S0
486 2" x6" Wood Studs @ 16 OC|___1.800 LF 10% 1980 50,00 50,00 50,00 50,00 50
a7 bat insulation| 2394 SE 10% 2633 50,00 50.00 5000 | $0.00 S0
488 I sealant @ floor and cellina 1,064 LF 10% 1170 50.00 50.00 50.00 50.00 50
Pariition Type P-60 (198 LF)
489 - Fire Rating: 1 hr. 7.182 SF 10% 7900
- Heiaht: 9
450 & Wood Studs @ 24" OC| 7182 13 0% 7900 | 5000 | $0.00 50.00 $000 | $000 | 5000 $0.00
291 (1) laver of 5/8" tvoe 14364 S 10% 15800 | $0.00 | $0.00 50.00 50.00 | 5000 50.00 50.00
44900 | Sheets| _10% | 493.90
ach | 10% 50,00 50,00 $0.00
Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10% 2 S0
14 Each | 10% 16 4 50
457 3 172" unfaced fiber olass batt insulation @ both sides| 14364 SE 10% 15800 $0.00 50.00 $000 | 5000 S0
493 Fire blockina in air soace @ 1007 3591 LF 10% 3950 50.00 50,00 50.00 50.00 50
404 @ floor and ceilina|__3192 T3 10% 3511 50,00 50.00 5000 | $0.00 S0
Partition Type P-61 (285 LF)
495 - Fire Rating: 1 hr. 2565 sk 10% 2822
49 2" x4 Wood Studs @ 24 OC| 2565 T3 10% 2822 5000 | 000 50,00 5000 | 000 50,00 $0.00
497 1) laver of 5/8" tvne "X" avosum board @ both sides| 5 130 SE 10% 5643 | 50.00 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Sheet] 16100 | Sheets| 10% 177.10
Sandina Disc| 3 Each | 10% $0.00 $0.00 $0.00
250 Tave Roll|__14. Rolls | 10% 50.00 50.00 50.00
i 2 Gallons|__10%
Joint Compound] 11, Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| 27 Pounds| _10%
1-1/4" Drvwall Screws| 1. c: 10% 5 S0
Soonces| 5 Each | 10% S0
498 3 1/2" unfaced fiber ulass batt insulation @ both sides| 5.1 S 10% 5643 50,00 50,00 50,00 50,00 50
499 Fire blocking in air soace @ 10 1283 T3 10% 1411 50,00 50.00 5000 | 5000 S0
500 I sealant @ floor and ceilin] __1.140 LF 10% 1250 50.00 50.00 50.00 50.00 50
Parition Type £-4 (456 LF)
501 - Fire Rating: 1 hr. 4104 sk 10% 514
- Heiaht:9'
502 1) laver of 5/8" tvne "X" avosum board @ both sides| __8.208 SE 0% 9029 | 5000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
43 GB Sheet] _257.00 | Sheets| 10% 282.70
i Each | 10% $0.00 $0.00 $0.00
2 Rolls | 10% 50.00 50.00 50.00
2 Gallons|_10%
5. Each | 10% 50,00 50,00 $0.00
73 Pounds| _10%
Case | 10% a 50,00 50,00 $0.00
s Each | 10% | 94 50.00 50.00 50.00
503 R-20 unfaced fiber alass batt insulation| 104 S 10% 514 50.00 | _$0.00 50,00 50.00 | 000 50,00 50,00
504 2" x&" Wood Studs @ 24" OC] 052 T3 10% 2257 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00




505 GBS sheathina] 4104 SE ] 0% 4514 | s000 | soo0 | s000 | so0o | s000 | s0.00 50,00
506 Vaoor semi permeable latex paint] 4,104 SF_| 0% 2512|5000 | $000 | 5000 5000 | 5000 | 5000 5000
507 @ floor and ceilino| 1621 T3 T 2006 | 5000 | $000 | 5000 | $000 | $0.00 | 50.00 50.00
508 Partiion Type FOL(T6LF) 684 se| 10w 752
500 (1) laver of 58" voe "X" avbsum board @ one sides| 66 SF | 0% 752 $000 | $000 | $000 | 5000 | $000 | 000 50,00
438 GB Shee| Sheets | _10% 2420
‘Sandina Disc Each | 10% $0.00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 5000 5000
i Gallons| 10%
Each | _10% 5000 5000 5000
/4" Drvwall Screws| Pounds| 10%
1-1/4 Drvwal Screws| Case | 10%
Soon Each | 10%
510 & Wood Swds @ 16" OC|__51. LE [ 10w 566 5000 | 5000 5000 | 5000
511 @ batt insulation| 68 SE [ 10% 752 5000 | 50.00 5000 | 5000
512 loor and ceiling| 04 [T STy 334 5000 | 5000 5000 | 5000
UNIT A3 (2 EAY
Partition Type 160 (136 LF)
513 ~Fire Rating: 1 hr. 1224 se| 10w 1346
514 D) laver of 5/6" voe "X" avbsum board @ both sides| 2.4 SF_|_i0% 2653 | $000 | $000 | $000 | $000 | $000 | $000 5000
438 GB Sheet| 77, Sheeis | 10% 84
‘Sandina Disc] ch | __10% L 5000 5000 5000
250 Tane Roll Rolls | 10% 7. 50,00 50,00 50.00
Gallons| _10% 14
Each | 10% 6. $0.00 5000 50,00
1-1/4" Divwal Screws| Pounds| _10% 14
1-1/2" Drvwall Screws| Case | 10% 0.
Each | _10% 2
515 2”& Wood Studs ® 16" 0G| 920 e | 10w 1012 $000 | 5000 $000 | 5000
516 " Acoustic sound ballinsulation] __1.224 SE | 10% 1346 5000 | 5000 5000 | 5000
517 @ floor and ceilina] 544 T3 T 598 5000 | 50.00 5000 | 5000
Partiion Type 160 (16 LF)
s18 ~Fire Rati seo| 0w 50
- teiaht: 210"
515 1) laver of 5/6" vbe X" avosum board @ both sides| o SF_|_i0% 00 $000 | $000 | $000 | $000 | $000 | 5000 5000
438 GB Sheet| Sheeis | 10%
‘Sandina Disc] ch | __10% 5000 5000 5000
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
Each | 10% 5000 5000 50,00
1-1/a" Divwal Screws| Pounds| _10%
1-1/2" Drvwall Screws| Case | 10%
Soonaes| Each | 10%
520 2”& Wood Studs @ 16'0C] e | 10w 3 $000 | 50,00 $000 | 5000
521 " Acoustic sound ballinsulation] 4 SE | 10% 5 5000 | 5000 5000 | 5000
522 @ floor and ceilina| & [T T 7 5000 | 50.00 5000 | 5000
Partition Type 161 (20 LF)
523 ~Fire Rating: 1 hr. 180 seo| 0w 108
- Heiohr 00"
524 1) laver of 518" voe "X" avbsum board @ both sides| SF_|_i0% 39 $000 | $000 | $000 | $000 | $000 | 5000 5000
'\ GR Sheei] 1 Sheeis | 10%
Sandina Disc] Each | _10% $0.00 5000 5000
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
i Each | 10% 5000 5000 50,00
1-1/a" Divwal Screws| Pounds| _10%
1-1/a" Drvwall Screws| Case | 10%
noes| Each | 10%
575 26" Wood Studs @ 16'0C| 135 e | 10w 4 $000 | 5000 $000 | 5000
526 6" Acoustic sound bat insulation| 180 SE | 10% 158 5000 | 5000 5000 | 5000
527 @ floor and ceilina] 80 [T T 88 $000 | 50,00 5000 | 50.00
Partition Type P-60 (102 LF)
528 Fire Rating: 1 hr 018 se| 10w 1010
- v
525 2" x4 Wood Studs ® 24" OC| 7162 | 10w 7600 | 5000 | $000 | 000 | $000 | $000 | 000 5000
530 1) aver of 618" voe X" ovnsum hoard @ both sides| 1836 SE | 10% 2020 | 5000 | $000 | 0.0 | $000 | $0.00 | 50.00 50.00
448 GB Sheel| Sheets | __10% 3
‘Sandina Dise T Each | 10% 1 5000 $0.00 50,00
50' Tave Roll Rolls | 10% 5 5000 5000 5000
Joint Gomoound| 1 Gallons| 1% 1
Each | 10% 4 000 5000 5000
Drwall Serews| 1 Pounds| 10% 1
1-1/4 Drvwall Screws| Case | 10% o
noes| Fach | 10% 2.
531 3 1/2" unfaced fiber olass bait insulation @ both sides| 1836 sE |10 2020 $000 | 5000 $000 | 5000
53 Fire blocking in air snace @ 10-0"] 450 e | 1o 505 $000 | 50,00 5000 | 50.00
533 “Acoustical sealant @ floor and ceiina] 408 e [ 10 449 5000 | 5000 5000 | 5000
Partton Type P-61 (30 LF)
s34 Fire Rating: 1 hr. 270 sF| 10w 207
- Heioht
535 2" a Wood Studs @ 24 0G| 270 | 1o 207 $000 | $000 | $000 | 5000 | $000 | 000 50,00
536 D) laver of 5/8" voe "X" avosum board @ both sides| 5 SE_|10% s $0.00 | $000 | $000 | $000 | 5000 | 5000 5000
438 GR Sheet| 17, Sheeis | 10% 0
Sandina Disc] Each | 10% $0.00 5000 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 50,00
T4/a" Divwall Screws| Pounds| _10%
1-1/2" Druwall Screws| Case | 10% .
Soonges| Each | 10% | 06
5a7 infaced fiber olnss batl insulafion @ both sides| 640 SE | 1% 504 $000 | 50,00 5000 | 5000
538 Fire blocking in ai space @ 10-0'] 135 e [ 10% 149 5000 | 5000 5000 | 5000
530 oo and ceilina] 120 [T T 132 $0.00 | 50,00 5000 | 5000
Partition Type E-4 (46 LF)
540 ~Fire Rating: 1 hr. 32 se| 0% a5
- v
Sa ) laver of 5/6" voe "X" avbsum board @ both sides| 8¢ SF 10w | o $000 | $000 | $000 | $000 | $000 | 5000 5000
438 GR Sheei| 7. Sheeis | 10%
Sandina Disc] ch | __10% 5000 5000 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 0,00
T4/a" Divwall Screws| Pounds| _10%
Drwall Screws| Case | 10%
Soonaes| Each | 10%
547 R20 unfaced fiber alass 432 sF | 0% 75
543 2" & Wood Studs ® 24" OC| 216 e [ 10% 238
544 OBS sheathina| 432 sF| 0% 475
545 Vaoor semi nermeable latex oaint] 432 SE_ |10 a7s
546 floor and ceilina] 102 [T ST 211
547 Pariion Type P61 (8 LF) 72 seo| 10w 9
528 (1) laver of 5/8" oe "X" avpsum board @ one sides| 7 SF | 0% 7 $000 | §000 | _$0.00 $000_| $000 | §000 0,00
4:6°GB Sheel 3 Sheets | __10%
Sandina Disc| 0 Each | 10% 50.00 5000 5000
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Soint Compound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1-1/a" Divwall Sorews| Pounds| _10%
1-1/4 Drvwall Screws| Case | _10%
Spona Each | __10%
545 2" & Wood Studs ® 16'0C|___ 54 e [ 10% 5000 | 5000 $000 | 5000
550 - 72 sF| 0% .00 | 5000 | $000 | $0.00 | $0.00 | 5000 X
551 ‘Acoustcal sealant @ floor and ceiina] 32 e [ 10w 5000 | 50.00 5000 | 5000
UNIT A-4 (2 EAY
Partion Type 160 (134 LF)
552 ~Fire Rating: 1 . 1,206 sE| 0% 1327
- Heioht: 9.0
553 5 laver of 5/6" voe "X" avosum board @ both sides| 2.4 SE_| 0% 2653 | $000 | $000 | $000 | $000 | $000 | 5000 50,00
448 GB Sheet| 1t Sheets | _10% 83
Sandina Disc] Each | _10% 1 $0.00 $0.00 0,00
250 Tave Roll Rolls | 10% 7 5000 5000 5000
Gallons| _10% i
Joint Compound| Each | __10% 3 5000 5000 5000
T4/a" Divwall Screws| Pounds| _10% 14,
1-1/4 Drvwall Sorews| c: 10% [0
Soonges| Each | 10% 2
554 2" x4 Wood Sds @ 16 0C|___o0 L | 10w 9 5000 | 5000 5000 | 5000
555 4" Acousic sound balt insulal 1.206 SE_ |10 1327 5000 | 50.00 5000 | 5000
556 floor and ceilina| 536 [T ST 590 5000 | 50,00 5000 | 5000
Partiion Type 160 (16 LF)
557 ~Fire Rating: 1 hr. 5 seo| 10w 50
- Heioht: 210"
558 3) laver of 5/8" voe "X" avosum board @ both sides| SE_| 0% o $000 | $000 | $000 | 5000 | $000 | 000 50,00
448 GB Shee] Sheets | 10%
Sandina Disc] Each | _10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 5000 5000
Gallons| _10%
Joint Compound| Each | _10% 5000 5000 5000
T1/a" Divwall Screws| Pounds| _10%
/47 Drwall Screws| Case | _10% 0
s Each | 10% 50
559 2" & Wood Studs @ 16 OC|___3: LE [ 10w 3 5000 | 5000 5000 | 5000 50
560 g batt inulation| 4 SE | 0% 5 5000 | 50.00 5000 | 5000 50
561 tical sealant @ floor and cellina ___6: F 0% 7 5000 | 5000 5000 | 5000 50
Pariiion Type 161 (20 LF)
562 ~Fire Rating: 1 . 180 seo| 10w 198
- Heloht: 9.
563 1) laver of 5/8" voe "X" avosum board @ both sides| 3 SF | 10% 39 $000 | $000 | $000 | 5000 | $000 | 000 50,00
448 GB Shee| Sheets |__10%
‘Sandina Disc] Each | 10% 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 5000 5000
i Gallons| _10%
Joint Compound| Each | _10% 5000 5000 5000
rvwial Ser Pounds| _10%
Case | _10% 50
Each | 10% 50
564 276" Wood Studs @ 16 OC|___1: LE [ 10w 49 5000 | 5000 5000 | 5000 50
565 batt insulation| 180 SE | 0% 198 5000 | 50.00 5000 | 5000 50
566 I sealant @ floor and cellina| 80 F 0% 88 5000 | 5000 5000 | 5000 50
Pariition Type P-60 (106 LF)
567 ~Fire Rating: 1 . 954 seo| 10w 1049
- Heloht: 9.
) 2"xa Wood Studs ® 24" 0G| 654 [ 10w 1049 | 5000 | $000 | 5000 | $000 | $000 | 5000 50,00
569 D) laver of 5/8" tvoe 908 F | 10w 2099 | 5000 | $000 | _$0.00 5000 | $0.00 | 5000 5000
Sheets | 10% 6.
ach | 10% 1 5000 5000 5000
Rolls | 10% 5 50.00 50.00 50.00
Joint Compound| Gallons|__10% 1L
ch | 10% 5 $0.00 50,00 50,00
Drvwal Screws| 11 Pounds| _10% i)
1-1/a" Drvwall Screws| 0 Case | 10% [ 50
Soonges| 1 Each | 10% 2 50
570 3 112" unfaced fiber olass bait insulation @ both sides| __1.908 SE | 10% 2009 $000 | 50,00 $000 | 5000 50
571 Fire blocking in ai space @ 10-0"] 477 LF [ 10w 525 5000 | 5000 5000 | 5000 50
572 @ floor and ceilina] 424 [T T 66 5000 | 50.00 5000 | 5000 50
Partition Type P-61 (30 LF)
573 ~Fire Rating: 1 . 270 seo| 10w 207
574 & Wood Studs @ 24" OC| 270 | 1% 207 $000 | §000 | _$0.00 $000 | $000 | §000 5000
575 D) laver of 5 S SE | 0% 594 5000 | $000 | $000 | 5000 | 000 | 5000 50.00
Sheets |__10% 0
Each | 10% $0.00 $0.00 50,00
Rolls | 10% 5000 5000 5000
Gallons| _10%
Each | _10% 5000 5000 5000
Pounds| 10%
Case | 10%
Each | 10% |
576 3 12" unfaced fiber dlass batt insulation @ both sides| 0 sF | 0% 504 5000 | 5000 5000 | 5000
577 Fire blocking in air space @ 10-0"] 135 [T BT 149 5000 | 50.00 5000 | 5000
578 Toor and ceiin] 120 [T ST 132 5000 | 5000 5000 | 5000




Partition Type E-4 (68 LF)
1hr

579 ~Fire Rating 612 sk 10% 673
- Heioht: 9.0
560 1) laver of 57 1224 SF 0% 136 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
3 Sheets | __10% 4
Each | 10% $0.00 50,00 50,00
Rolls | 10% 50.00 50.00 50.00
Gallons| 10%
Each | 10% 50,00 50,00 $0.00
Pounds| 10%
Case | 10%
Each | 10%
561 "R20 unfaced fiber olass bailinsulation] 612 10% 673 S0
562 2" 4" Wood Studs @ 24" OC| 306 10% 337 50,
563 OBS sheathina| 612 10% 673 50
58 Vanor semi nermeable latex oaint] 612 10% 673 50,
565 floor and ceilina 272 10% 299 S0
56 e o e 2 st | 10w o
567 (D) laver of 5/8" voe "X avbsum board @ one sides| 7 S 10% 7 $000 | $000 50,00 $000 | $000 | 5000 $0.00
438 GB Sheel| Sheeis | 10%
Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Each | 10% 5000 5000 50,00
1.1/4" Drwall Screws| Pounds| _10%
1-1/a" Drvwall Screws| Case | 10%
Each | _10%
) 2" w4 Wood Studs @ 16'0C] 5 3 10% 5000 50,00 $000 | 5000
580 " Acoustic sound ballinsulation] 7 SE 10% 7 50,00 50,00 5000 | 5000
590 @ floor and ceilina] 3 i3 10% 50,00 50.00 5000 | 5000
UNIT A5 (1 EAY
Partition Type -60 (57 LF)
591 Fire Rating: 1 . 513 Sk 10% 564
- Heioht
592 (1) laver of 5/8" tvoe "X avosum hoard @ both sides| 026 SF 10% | 1129 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
43 GB Shee Sheets | __10%
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons| 10%
Each | 10% $0.00 $0.00 $0.00
T-1/4" Druwall Screws| Pounds| 10%
1-1/4” Drwall Screws| Case | 10%
Snonaes| Each | 10% ¥
593 2" x4 Wood Swds @ 16" OC| LE 10% 24 $0.00 50,00 5000 | 000
594 - bat insulation| 513 SE 10% 564 50,00 50.00 5000 | 5000
595 ‘Acoustical sealant @ floor and ceiina] 228 LF 10% 251 50,00 50,00 5000 | 5000
Partition Type I-60 (8 LF)
59 Fire Rating: 1 . SF 10% 2
- Heiaht: 210"
597 0 laver of 5 a SF 0% 5 $000 | 5000 50,00 $000 | $000 | 5000 50,00
Sheets |__10%
Each | 10% $0.00 5000 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
ch | 10% $0.00 $0.00 $0.00
Pounds| 10%
Case | 10%
Each | 10% X
598 2" x4 Wood Studs @ 16'0C| 1 LE 10% 1 $0.00 50,00 5000 | 5000
599 - bat insulation| 2 SE 10% 2 50,00 50.00 5000 | 5000
600 ‘Acoustical sealant @ floor and ceiin] __3: LF 10% 50,00 50,00 5000 | 5000
Pariiion Type 61 (10 LF)
601 Fire Rating: 1 . % Sk 10% 99
- Heioht
602 0 laver of 6 T SF 0% 55 $000 | 5000 50,00 $000 | $000 | 5000 0,00
Sheets | __10%
Each | 10% $0.00 $0.00 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
ch | 10% $0.00 $0.00 50,00
Pounds| 10%
Case [ 10%
‘Snona Fach | 10% ¥
603 26 Wood Studs ® 16 OC| 6 LE 10% 7 5000 50,00 $000 | 5000
604 & hat insulafion| 0 SE 10% o 50,00 50,00 5000 | 50.00
605 “Acousical sealant @ floor and ceilina] T3 10% 4 50,00 50,00 5000 | 5000
Pariiion Type P-60 (57 LF)
606 - Fire Rating: 1 hr. 513 Sk 10% 564
- Heioht
607 2" w& Wood Studs @ 24 0G| 513 i3 0% 564 $000 | 5000 50,00 $000 | $000 | 5000 50,00
608 1) laver of 5/6" voe "X" avosum board @ both sides| __1.0: SF 10% | 1129 | 5000 | 5000 50,00 $000 | $000 | 5000 50,00
'\ GR Sheet Sheeis | 10%
Sandina Disc] ch | __10% 5000 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 50,00
rvwall Screws| Pounds| _10%
Drwall Screws| Case | 10%
oonaes| Each | 10% | 1
605 infaced fiber olnss bait insulafion @ both sides| 1.026 sk 10% 1120 $0.00 50,00 5000 | 5000
610 Fire blocking in ai space @ 10-0'] 257 LE 10% 282 50,00 50,00 5000 | 5000
611 @ floor and ceilina] 228 i3 10% 251 $0.00 50.00 5000 | 5000
Partition Type P-61 (30 LF)
612 ~Fire Rating: 1 hr. 270 sk 10% 207
- Heiht 9
613 24 Wood Studs ® 24" OC| 270 13 10% 297 $000 | 5000 50,00 $000 | $000 | 5000 50,00
614 1) aver of 578" voe 540 SF 10% | 5o $0.00 | 5000 50.00 5000 | 5000 | 5000 50.00
7 Sheets | __10%
7 Each | 10% $0.00 $0.00 50,00
Rolls | 10% 50,00 50,00 50,00
Gallons| 10%
Each | 10% $0.00 $0.00 50,00
Pounds| 10%
c: 10%
Fach | 10% X
615 3 1/2" unfaced fiber olass batt insulation @ both sides| 540 Sk 10% o 5000 50,00 $000 | 5000
616 blocking in ai space @ 10-0' 35 LF 10% 4 50,00 50.00 5000 | 5000
617 “Acoustical sealant @ floor and ceiina] 120 T3 10% 132 50.00 50.00 5000 | 5000
Partiion Type E-4 (24 LF)
618 - Fire Rating: 1 hr. 216 sF 10% 238
619 1) laver of 5/8" tvoe "X” avbsum board @ both sides| 432 SF 0% | 475 $000 | $000 50.00 $000 | $000 | $000 0,00
48 GB Sheel] 14 Sheets | __10%
Sandina Disc] ach | 10% $0.00 5000 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Compound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1-1/4" Drwall Screws| Pounds| _10%
1.1/4” Drwall Screws| Case | _10%
Soonaes| Each | 10%
620 R20 unfaced fiber olass baitinsulati 1 Sk 10% 238
621 2" x4 Wood Studs @ 24" O o LF 10% 119
622 OBS sheathing 1 SE 10% 238
623 Vapor semi permeable latex paint| 1 SF 10% 238 | 5000 | $0.00 | 5000 | $000 | $000 | 5000 | X
624 ‘Acoustical sealant @ floor and ceiina] 96 T3 10% 106
UNIT B-1 (8 EA)
Partiion Type 1-60 (664 LF)
625 ~Fire Rating: 1 . 5976 sk 10% 6574
- Heioht: 9.0
626 1) laver of 5/8" voe X" avosum board @ both sides| 11052 SF 10% FETY $000_| 5000 50,00 $000 | $000 | 5000 50,00
48 GB Sheet|__374.00 | Sheets| _10% | 41140
Sandina Disc] Each | _10% $0.00 $0.00 0,00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4" Drwall Screws| C 10%
Soonaes| 45| Each | 10%
627 2@ Wood Studs @ 16' OC|__4.493 LF 10% 2943 5000 50.00 5000 | 000
628 4" Acousic sound balt insulal 5976 SE 10% 6574 50.00 50.00 5000 | 5000
629 floor and ceilina] __2.656 T3 10% 2922 50,00 50.00 5000 | 5000
Partiion Type 61 (120 LF)
630 ~Fire Rating: 1 hr. 1,080 sk 10% 1188
- Heioht: 9.0
[T 1) laver of 5/6" voe "X" avosum board @ both sides| 2.1 SF 10% 2376 | 5000 | §000 50,00 $000 | $000 | 5000 50,00
48 GB Sheet| 68, Sheets | 10% 7
Sandin Disc| 1 Each | _10% a $0.00 $0.00 50,00
250 Tae Roll 6 Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
T0/4" Drvwall Screws| 1. Pounds| _10%
/47 Drwall Screws| Case | _10% S0
s Each | 10% a 50
632 26 Wood Studs @ 16 OC| 1. LF 10% 893 50,00 50,00 5000 | 000 50
633 g batt insulation| 1,080 SE 10% 1188 50.00 50.00 5000 | 5000 50
634 I sealant @ floor and cellina| 480 LF 10% 528 50.00 50.00 5000 | 5000 50
Pariition Type P-60 (416 LF)
635 ~Fire Rating: 1 . 3744 SF 10% aus
- Heloht: 9.
636 & Wood Studs ® 24" 0G| 3,744 13 10% 418 | $000 | 5000 50.00 $000 | $000 | 5000 50,00
637 D) laver of 5 7.488 S 10% 8237 50.00 | 000 50.00 50.00 | 5000 | 000 50.00
448 G Sheet| _ 234.00 | Sheels | _10% | 257.40
Sandina Disc] Each | 10% s 50,00 50,00 $0.00
250 Tane Roll Rolls | 10% 22 50.00 50.00 50.00
Joint Comoound Gallons| _10% aL
i Each | 10% 17 50,00 $0.00 50,00
1.1/4" Drwall Screws| Pounds| _10% .
1-1/a" Drvwall Screws] Case | 10% 2 50
Soonaes| Each | 10% 85 50
638 3 112" unfaced fiber olass bait insulation @ both sides| _7.488 sk 10% 8237 50,00 50.00 $000 | 5000 50
639 Fire blocking in ai sace @ 10-0'] 1872 LF 10% 2059 50.00 50,00 5000 | 5000 50
640 @ floor and ceilina| 1664 13 10% 1830 50.00 50.00 5000 | 5000 50
Partition Type P-61 (64 LF)
641 ~Fire Rating: 1 . 576 sk 10% 634
eicht
642 274 Wood Studs @ 24" OC| 576 T3 10% 634 5000 | 000 50,00 5000 | §000 | 000 $0.00
643 5 laver of 5/8" voe "X" avosum board @ both sides| 152 SE 10% 1267 | 5000 | $0.00 50.00 5000 | 5000 | 5000 50.00
48 G8 Sheel] Sheets |__10%
‘Sandina Disc] Each | 10% 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
i Gallons| _10%
Joint Compound Each | 10% 50,00 50,00 $0.00
T1/4" Drvwall Screws| Pounds| _10%
114" Drvwall Screws] Case | _10% S0
‘Soonaes| Each | 10% 50
644 3 12" unfaced fiber olass batt insulation @ both sides| 1152 S 10% 1267 50,00 50,00 5000 | 000 50
645 Fire blocking in ai sace @ 10-0'] 288 T3 10% 317 50.00 50.00 5000 | 5000 50
646 Acousical sealant @ floor and ceilina| 120 LF 10% 137 50.00 50.00 5000 | 000 50
Pariition Type £-4 (336 LF)
647 ~Fire Rating: 1 024 sk 10% 3326
- Heioht: 9.0
64 D) laver of 5 ‘avosum board @ both sides| 6.0 SF 10% 6653 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
48 GB Sheel| _189.00 | Sheets| _10% | 207.90
‘Sandina Disc] Each | 10% 4 $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 1. 50.00 50.00 50,00
i Gallons| _10% 34
X Each | 10% 12, 50.00 50.00 $0.00
/4" Drvwall Screws| Pounds| 10% 35
1-1/4” Drwall Screws| Case | 10% 17,
‘Snona Each | 10% 69
649 R-20 unfaced fiber olass bailinsulation] 3,024 S 10% 3326 50,00 50,00 5000 | 000
650 2" 4" Wood Studs @ 24" 0G| 1 13 10% 1663 50,00 50.00 5000 | 5000
651 08S sheathina| _3.024 SE 10% 3326 $0.00 $0.00 $0.00 $0.00




657 Vanor semi nermeable latex pain| 3074 SE 10% 332 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
653 floor and ceilin] __1.344 LF 10% 1478 50.00 | 0,00 50.00 50.00 | 50,00 50.00 50.00
UNIT B-2 (16 EAY
Partition Type 160 (1552 LF)
654 ~Fire Rating 1 hr. 13968 sk 10% 15365
- Heinht
655 (1) laver of 5/8" tvoe "X" avosum board @ both sides| _27.5: SF 0% 30730 | $000 | $000 50,00 5000 | _$0.00 50,00 $0.00
48 GB Sheet| 873 Sheets | 10% 60.
Sandina Disc] . Each | 10% 19 50,00 50,00 $0.00
250 Tane Roll|__7: Rolls | 10% 80, 50.00 $0.00 50.00
1 Gallons| __10% 154
i Each | 10% 66. $0.00 $0.00 $0.00
L1/4" Drwwall Screws| 1. Pounds| _10% 161
1-1/4” Dwall Screws| 4 Case | 10% 8.1,
Soonces| 2910 | each | 10% 32.00
656 274" Wood Studs @ 16 OC| 10502 L 10% 11552 $0.00 $0.00 $000 | 5000
657 13.968 SF 10% 15365 50.00 50,00 50.00 50.00
650 @ floor and ceilina| 6208 T3 10% 6829 50,00 50.00 5000 | $0.00
Partiion Type 61 (224 LF)
659 Fire Rating: 1 hr. 2016 sk 10% 218
660 (1) laver of 5/8" tvoe "X avosum board @ both sides| 4.0 SF 10% 2435 | $000 | $000 50,00 $000_| 5000 50,00 $0.00
48 GB Sheet] 126,00 | Sheets | 10% 138.60
Sandina Disc| 2. ch | __10% 7 $0.00 $0.00 $0.00
250 Tave Roll| 11 Rolls | 10% 50,00 50.00 50.00
21, Gallons| _10%
o Eac 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| 22 Pounds| _10%
11/4" Drvwal Screws| 1 Case | 10% E
Soonces| . Each | 10% 462
661 276 Wood Studs @ 16'0C| 1516 T3 10% 1667 $0.00 50,00 $000 | 5000
662 " Acoustic sound ballinsulation] 2,016 SE 10% 2218 50,00 50,00 50,00 50,00
663 @ floor and ceilina| 896 T3 10% 986 50.00 50.00 5000 | $0.00
Partiion Type 62 (48 LF)
664 Fire Rating 432 sk 10% 475
- Heinhr 00"
665 (1) laver of 5/8" tvoe "X" avosum board @ both sides| S 0% | 950 $000 | $000 50,00 $000_| 5000 50,00 $0.00
3 GB Sheet| Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Soonaes| Each | 10%
666 2" X8 Wood Studs @ 16'0C| 325 T3 10% 357 $0.00 50,00 $000 | 5000
667 & Acoustic sound bat insulation| 432 SE 10% 475 50,00 50,00 50,00 50.00
668 @ floor and ceilina| 192 T3 10% 211 50.00 50.00 5000 | $0.00
Partiion Type P-60 (464 LF)
669 - Fire Rating 4176 sk 10% 4504
- Heinht 0"
670 2" 4" Wood Studs @ 24" OC] 176 T3 10% 4504 | $000 | $000 50,00 $000 | 5000 50,00 $0.00
671 1) Iaver of 5/8" fvne "X" avosum hoard @ both sides| 35 SF 10% 9187 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee 1 Sheets | _10% 287.10
‘Sandina Disc| Each | 10% .7 $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
1-1/4" Dwall Screws| 44 Pounds | 10%
1-1/4" Drvwall Screws| 2. Case | 10% 4
Soonces| 8 Each | 10% 5
672 3 1/2" unfaced fiber olass batt insulation @ both sides| __8.352 Sk 10% 9187 $0.00 50,00 50,00 50,00
673 Fire biockina in air snace @ 100" 2088 T3 10% 2207 50,00 50,00 50.00 50.00
674 ‘Acoustical sealant @ floor and ceilina] 1856 T3 10% 2042 50,00 50,00 5000 | 5000
Pariiion Type P-61 (496 LF)
675 - Fire Rating: 1 hr. 4464 Sk 10% 4910
- Heioht
676 2" & Wood Studs @ 24 OC| 4464 T3 10% 2910 | $000 | $000 50,00 $000 | §000 50.00 $0.00
677 (1) laver of 5/8" tvoe "X avosum board @ both sides| 8. SF 10% 9821 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
'\ GB Sheel] 27900 | Sheets | 10% 306.90
‘Sandina Disc] ch | __10% 1. $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
Each | 10% 2
678 infaced fiver olass hat insulation @ both sides| o8 SE 10% 9821 $0.00 50,00 50.00 50.00
679 Fire blockina in air soace @ 10072232 LE 10% 2455 50,00 50,00 5000 | 5000
680 @ floor and ceilina 1984 T3 10% 2182 50,00 50.00 50.00 50.00
Partiion Type E-4 (544 LF)
661 - Fire Rating: 1 hr. 4,89 sk 10% 5386
- Hieinht- .07
662 (1) laver of 5/8" tvoe "X avosum board @ both sides| 97 SF 10% 10771 | $000 | $000 50,00 $000 | $000 | 5000 50,00
'\ GB Sheel]| 30600 | Sheets | 10% 336
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4” Drvwall Screws| Case | 10% X
‘Soonaes| 2 h | 10% 1122
663 R-20 unfaced fiber alass hatt insulation) 896 si 10% 5386
684 2" x 4" Wood Studs @ 24" OC|__2.448 U 10% 2693
665 OBS sheathina| 4896 s 10% 5386
686 Vanor semi vermeable latex paint| 4896 si 10% 5386
667 @ floor and ceilina| 2176 L 10% 2394
oen Mot o2 sow | e | 1w | ous
) 1) laver of 58" tvne "X avnsim board @ one sides| 2 016 SF 10% 2218 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
48 GB Sheel| 63 Sheets | __10%
Sanding Disc| __1.¢ Each | 10% K $0.00 $0.00 $0.00
250 Tave Rolll 6 Rolls | 10% & 50.00 50,00 50,00
Soint Compound] 11 Gallons | 10%
5 Each | 10% 5 $0.00 $0.00 50,00
174" Drwall Screws| 11 Pounds| _10%
1-1/4" Drvwall Screws| 0. Case [ 10% 5
Soonces| 2. Each | 10% 2
690 24" Wood Studs @ 16" OC|__1516 LE 10% 1667 $0.00 $0.00 $000 | 5000
691 - 2,016 SF 10% 2218 50.00 50.00 50.00 50.00
692 ‘Acoustical sealant @ floor and ceilina] 896 T3 10% 986 $0.00 50.00 5000 | 5000
BUILDING-4 TYPE2
UNIT A-2 2 EA)
Partiion Type 1-60 (102 LF)
693 - Fire Rating: 1 h. 918 sk 10% 1010
iaht: 90"
694 (1) laver of 5/8" tvoe "X avosum board @ both sides| 1 SE 0% 2020 | 5000 | $0.00 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10% 63
‘Sandina Disc] Each | 10% 1 $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% B 50.00 50.00 50.00
Gallons|__10% 11
Joint Compound| Each | 10% a. 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| _10% 1L
1-1/4" Drwall Screws| Case | 10% 0
Each | 10% 2
695 2" x4 Wood Studs @ 16" OC| 690 T3 10% 759 50.00 50.00 50.00 50.00
696 4" Acoustic sound batt insulat 918 SE 10% 1010 50.00 50.00 5000 | 5000
697 floor and ceilina] 408 T3 10% 49 50.00 50.00 50.00 50.00
Partiion Type 160 (16 LF)
698 - Fire Rating: 1 hr. 5 sk 10% 50
- Heiaht: 210"
699 (1) laver of 5/8" tvoe "X" avosum board @ both sides| o SE 0% 0 $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound| Each | 10% 50.00 50.00 $0.00
11/4" Drwall Screws| Pounds| 1%
-1/4” Drvwall Screws| Case | 10%
Soonaes| Each | 10%
700 2 x4 Wood Studs @ 16 oc| 3 LF 10% 3 50.00 50.00 50.00 50.00
701 4" Acouslic sound batt insulat a5 SE 10% 5 50.00 50.00 5000 | 5000
702 floor and ceilinal 64 T3 10% 7 50.00 50.00 50.00 50.00
Partiion Type 161 (26 LF)
703 - Fire Rating: 1 hr. 252 sk 10% 217
- Heiaht: 9
704 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 5 SE 0% 55 $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10% 7
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
Gallons|__10%
Joint Compound Each | 10% 50.00 50.00 $0.00
rvwall Screws| Pounds| _10%
1-1/4” Drwall Screws| Case | 10% S0
Soon Each | 10% | S0
705 2 x6" Wood Studs @ 16" 0C| 1t LF 10% 208 50,00 50,00 50,00 50,00 50
706 batt insulation| 252 SE 10% 217 50,00 50.00 5000 | $0.00 S0
707 tical sealant @ floor and cellina 112 LF 10% 123 50.00 50.00 50.00 50.00 50
Pariition Type P-60 (84 LF)
708 - Fire Rating: 1 hr. 756 SF 10% 832
- Heiaht: 9
709 274" Wood Studs @ 24" OC| __756 13 0% 632 $000 | §0.00 50.00 $000 | $000 | 5000 $0.00
710 (1) laver of 5/8" tvoe 5 S 10% 1663 50.00 | 000 50.00 50.00 | 5000 50.00 50.00
a Sheets | _10%
ach | 10% 50,00 50,00 $0.00
Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10% 2] S0
Each | 10% 173 50,
2T} 3 172" unfaced fiber olass batt insulation @ both sides| 1512 SE 10% 1663 $0.00 50.00 $000 | 5000 S0
712 Fire blockina in air soace @ 10-0" 378 LF 10% 416 50.00 50,00 50.00 50.00 50
713 @ floor and ceilina|___336 T3 10% 310 50,00 50.00 5000 | $0.00 S0
Partition Type P-61 (30 LF)
714 - Fire Rating: 1 hr. 270 sk 10% 207
715 2" x4 Wood Studs @ 24" OC| 270 T3 10% 207 5000 | 000 50,00 5000 | 000 50,00 $0.00
716 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 5 SE 10% 594 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee Sheets |__10% 0
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| Pounds| _10%
1-1/4" Drwall Screws| c 10% S0
Soonaes| Each | _10% | S0
717 3 1/2" unfaced fiber alass batt insulation @ both sides| 0 S 10% 504 50,00 50,00 50,00 50,00 50
718 Fire blockina in air soace @ 100" 135 T3 10% 149 50,00 50.00 5000 | 5000 S0
719 I sealant @ floor and cellina 120 LF 10% 132 50.00 50.00 50.00 50.00 50
Partition Type E-4 (48 LF)
720 - Fire Rating: 1 hr. 432 sk 10% 475
- Heiaht:9'
721 (1) laver of 5/8" tvne "X" avosum board @ both sides| 64 SE 10% | 950 $000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
43 GB Shee Sheets |__10%
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50.00 50.00 50.00
Gallons|_10%
Each | 10% 50,00 50,00 $0.00
Pounds| _10%
Case | 10% 50,00 50,00 $0.00
s Each | 10% | 50.00 50.00 50.00
722 R-20 unfaced fiber lass batt insulation] 432 S 10% 475 50.00 | _$0.00 50,00 50.00 | 000 50,00 50,00
723 2" x&" Wood Studs @ 24" 0C| 216 T3 10% 238 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00




724 OBS sheathina] 432 SE 10% ars $000 | $0.00 5000 5000 | s000 $0.00 3000
725 Vapor semi permeable latex paint] 432 SE 10% 475 $0.00 | $0.00 50.00 $0.00 | $0.00 $0.00 50.00
726 @ floor and ceilina| 192 3 10% 211 $0.00 | $0.00 50.00 5000 | 5000 $0.00 50.00
721 Do i FereLh 2 se| 10w )
728 (1) laver of 5/8" tvoe "X avosum board @ one sides| 7 SE 0% T $000 | $000 5000 $000 | $000 $0.00 5000
438 GB Sheel Sheets | 10%
‘Sandina Disc| Each | 10% $0.00 $0.00 5000
250 Tape Roll Rolls | 10% $0.00 $0.00 50.00
i Gallons | 10%
Each | 10% $0.00 $0.00 5000
1-1/4" Drvwall Screws| Pounds | 10%
1-1/4" Drvwall Screws| Case | 10%
‘Soon Each | 10%
729 x4 Wood Studs @ 16" OC| 5 LF 10% $0.00 5000 $0.00 $0.00
730 73 batt insulation| 7: SE 10% 7 $0.00 50.00 $0.00 $0.00
731 floor and ceiling 3; LF 10% $0.00 50.00 $0.00 $0.00
UNIT A3 (2 EA)
Parition Type -60 (136 LF)
732 - Fire Rating: 1 hr. 1224 SF 10% 1346
733 (1) laver of 5/6" tvoe "X" avosum board @ both sides| 2.4 SE 0% 2693 $000 | $0.00 5000 $000 | 5000 $0.00 5000
4@ GB Sheat] 77 Sheets | 10% 84,
‘Sandina Disc| ch | 10% L $0.00 $0.00 5000
250 Tane Roll Rolls | 10% 7. $0.00 $0.00 50.00
Gallons | 10% 14
Fact 10% 6. $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds| 10% 14
1-1/4" Drvwall Screws| Case | 10% 0.
Each | 10% 2.
734 2" x 4" Wood Studs @ 16" OC| 0 3 10% 1012 $0.00 5000 $0.00 $0.00
735 " Acoustic sound batt insulation] 1224 SE 10% 1346 $0.00 5000 50.00 50.00
736 @ floor and ceilina|___ 544 e 10% 508 $0.00 50.00 $0.00 $0.00
Partition Type 60 (16 LF)
737 - Fire Rati 5 SF 10% 50
- Heiahr 210"
738 (1) laver of 5/6" tvoe "X avosum board @ both sides| o SE 0% 00 $000 | $0.00 5000 $000 | 5000 $0.00 5000
4B GB Sheel Sheets | 10%
‘Sandina Disc| ch | 10% $0.00 $0.00 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons|__10%
Each | 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds| _10%
1-1/4" Drvwall Screws| Case | 10%
‘Soonges| Each | 10%
730 2" x 4" Wood Studs @ 16" OC| 2 3 10% 3 $0.00 5000 $0.00 $0.00
740 4" Acoustic sound batt insulation] 4 SE 10% s $0.00 5000 50.00 50.00
741 @ floor and cailina & e 10% 7 $0.00 50.00 $0.00 $0.00
Partition Type 61 (20 LF)
742 - Fire Rating: 1 hr. 180 SF 10% 108
- Heiahr 90"
743 (1) laver of 5/6" tvoe "X avosum board @ both sides| SE 0% 396 $000 | $0.00 5000 $000 | 5000 $0.00 5000
'8 GB Sheet| 1 Sheets | 10%
‘Sandina Disc| Each | 10% $0.00 $0.00 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons | 10%
i Each | 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds| _10%
1-1/4" Drvwall Screws| Case | 10%
naes| Each | 10%
743 2" x 6" Wood Studs @ 16" OC| 35 3 10% 4 $0.00 5000 $0.00 $0.00
745 6" Acoustic sound balt insulation| 180 SE 10% 198 $0.00 5000 $0.00 $0.00
746 @ floor and cailing a0 3 10% 88 $0.00 $0.00 0,00 0,00
Partition Type P-60 (102 LF)
747 - Fire Rating: 1 hr. 018 SF 10% 1010
- b
748 24" Wood Studs @24 OC| 7162 3 0% 7500 $000 | $0.00 5000 $000 | 5000 $0.00 5000
749 1) laver of 6/A" tvoe "X" avnsum hoard @ both sides| 1836 SE 10% 2020 $0.00 | $0.00 $0.00 5000 | $0.00 50,00 $0.00
48 GB Sheel Sheets | 10% 63
‘Sandina Disc] 1 Fach | 10% 1: $0.00 $0.00 $0.00
50 Tane Roll Rolls | 10% 5. $0.00 $0.00 5000
Joint Gomnound] 11 Gallons | 10% 11
Each | 10% 4. $0.00 $0.00 5000
Drvwall Serews| 1 Pounds | 10% 1L
1-1/4" Drvwall Screws| Case | 10% o
noes| Fach | 10% 2.
750 3 172" unfaced fiber alass batt insulation @ both sides| _1.836 SE 10% 2020 $0.00 5000 $0.00 $0.00
751 Fira blocking in air snace @ 10-0" 450 3 10% 505 50.00 $0.00 50,00 50,00
752 ‘Acoustical sealant @ floor and ceilina] 408 3 10% 449 $0.00 5000 $0.00 $0.00
Partition Type P-61 (30 LF)
753 - Fire Rating: 1 hr 270 SF 10% 207
- Heigh:
754 2% 2" Wood Studs @ 24" 0G| 270 e 10% 297 5000 | $0.00 $0.00 5000 | s000 $0.00 $0.00
755 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 54t SE 10% o $0.00 | $0.00 5000 $000 | $0.00 $0.00 5000
4@ GB Sheet] 17 Sheets | 10% 0
‘Sandina Disc| Each | 10% $0.00 $0.00 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 $0.00
Gallons | 10%
Joint Compauind] Fach | 10% $0.00 $0.00 $0.00
1.1/4" Drvwall Screws| Pounds|  10%
1-1/4" Drowall Screws| Case | 10% .
‘Soonges| Each | 10% 6:
756 infaced fiber class hatt insulation @ hoth sides| 540 SE 10% 504 $0.00 $0.00 $0.00 $0.00
757 Fire blocking in air space @ 10-0" 135 LE 10% 149 $0.00 50,00 $0.00 $0.00
758 floor and ceilina| 120 3 10% 132 $0.00 $0.00 50,00 50,00
Partition Type -4 (48 LF)
759 - Fire Rating: 1 hr. 432 SF 10% 475
- b
760 (1) laver of 5/8" tvoe "X" avosum board @ both sides| ¢ SE T0% | os $000 | $0.00 5000 $000 | 5000 $0.00 5000
4@ GB Sheet] 27 Sheets | 10%
‘Sandina Disc| ch | 10% $0.00 $0.00 5000
250 Tane Roll Rolls | 10% $0.00 $0.00 $0.00
Gallons | 10%
Joint Compauind] Fach | 10% $0.00 $0.00 $0.00
1.1/4" Drvwall Screws| Pounds|  10%
Drvwall Serews| Case | 10%
‘Soonaes| Each | 10%
761 R-20 unfaced fiber alass 43 SE 10% 475
762 2" x 4" Wood Studs @ 24" o 216 LE 10% 238
763 OBS sheathina| 432 SE 10% 475
764 Vanor semi nermeable latex oaint] 432 SE 10% a75
765 floor and ceiina| 102 LE 10% 211
766 Pariion Type P61 (8 LF) 72 SF 10% 79
767 (1) laver of 5/8" tvoe "X avosum board @ one sides| 7 SE 10% 7 $0.00_|_$0.00 $0.00 $0.00_| $000 $0.00 $0.00
458 GB Sheetl 3 Sheets | 10%
Sandina Disc| 0. Each | 10% $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% $0.00 $0.00 5000
Joint Compound| Gallons|__10%
Each | 10% $0.00 $0.00 50.00
1-1/4" Drvwall Screws| Pounds| _10%
1-1/4" Drvwall Screws| Case | 10%
Soona Each | 10%
768 24" Wood Studs @ 16" OC| 54 3 10% $0.00 5000 $0.00 $0.00
769 - 72 SE 10% .00 | $0.00 $000 | $0.00 | $000 $0.00 .
770 ‘Acousical sealant @ floor and ceiling 32 LE 10% $0.00 5000 $0.00 $0.00
UNIT B-2 (12 EA)
Partition Type I-60 (1164 LF)
77 - Fire Rating: 1 hr. 10476 SF 10% 11524
- Heiaht: 90"
772 (1) laver of 5/6" tvoe "X" avosum board @ both sides| 20,9 SE 10% 230: $000 | $000 5000 $000 | $000 $0.00 5000
48 GB Sheet] 655, Sheets | 10% 720.
Sandina Disc| 13, Each | 10% 14 $0.00 $0.00 5000
250 Tape Rol|__55. Rolls | _10% 0. $0.00 $0.00 $0.00
105 Gallons | 10% 115
Joint Compound| 45 Each | 10% ) $0.00 $0.00 $0.00
1.1/4" Drvwall Screws| 110 Pounds | 10% 121
1.1/4" Drvwall Screws| 5.5 = 10% 6.1
Soonaes| 21 Each | 10% 24.01
773 24" Wood Studs @ 16°OC|___7.877 LE 10% 8664 $0.00 5000 $0.00 $0.00
774 4" Acoustic sound batt insulati 10.476 SE 10% 11524 $0.00 5000 50.00 50.00
775 floor and ceilina| 4,656 LE 10% 5122 $0.00 50.00 $0.00 50,00
Partition Type 61 (168 LF)
776 - Fire Rating: 1 hr. 1512 SF 10% 1663
- Heiaht: 90"
777 (1) laver of 5/6" tvoe "X" avosum board @ both sides| o SE 10% 3326 $000 | $000 5000 $000 | $000 $0.00 5000
48 GB Sheet Sheets | 10% 10450
‘Sandina Disc| Each | 10% 2 $0.00 $0.00 5000
250 Tape Roll| Rolls | _10% 8 $0.00 $0.00 $0.00
Gallons | 10% 17
Joint Compound| Each | 10% 7. $0.00 $0.00 $0.00
1.1/4" Drvwall Screws| Pounds | 10% 17
/4" Drvwall Screws| Case | 10% o 0
St Each | 10% 34 50
778 26" Wood Studs @ 16" OC|___1.1: LE 10% 1251 $0.00 5000 $0.00 $0.00 50
779 - batt insulation| 1512 SE 10% 1663 $0.00 50.00 $0.00 $0.00 50
780 ical sealant @ floor and ceilina| 672 L 10% 739 $0.00 50.00 $0.00 $0.00 50
Partition Type 62 (36 LF)
781 - Fire Rating: 1 hr. 324 SF 10% 356
- Heiaht: 9'
782 1) laver of 5/8" tvoe "X" avosum board @ both sides| 64t SE 0% T $000 | $000 5000 $000 | $000 $0.00 5000
48 GB Sheet Sheets | 10% 2
‘Sandina Disc| Each | 10% $0.00 $0.00 5000
250 Tape Roll| Rolls | _10% $0.00 $0.00 50.00
i Gallons | 10%
Joint Compound| Each | 10% $0.00 $0.00 5000
rwwall Scr Pounds | 10%
Case | 10% 0
Each | 10% 50
783 28 Wood Studs @ 16° OC| LE 10% 268 $0.00 5000 $0.00 $0.00 50
784 batt insulation| SE 10% 356 $0.00 50.00 $0.00 $0.00 50
785 I sealant @ floor and ceiling L 10% 158 $0.00 50.00 $0.00 $0.00 50
Partition Type P-60 (348 LF)
786 - Fire Rating: 1 hr. 3132 SF 10% 3445
- Heiaht: 9'
787 24" Wood Studs @ 24" OC| 3132 3 0% 5 $000 | $000 5000 $000 | $000 $0.00 5000
788 (1) laver of 5/8" tvoe. 6.2 SE 10% 6890 $0.00_|_$0.00 50.00 $0.00 | $0.00 $0.00 5000
196.00 | Sheets | 10% 21560
3 ach | 10% $0.00 $0.00 5000
17, Rolls | 10% $0.00 $0.00 5000
Joint Compound| 32 Gallons|__10%
14, ch | 10% $0.00 $0.00 5000
Drvwall Screws| 33 Pounds|__10%
1-1/4" Drvwall Screws| 1 Case | 10% 50
‘Soonges|__6. Each | 10% 50
789 3 172" unfaced fiber alass batt insulation @ both sides| 6,264 SE 10% 6890 $0.00 5000 $0.00 $0.00 30
790 Fire blocking in air soace @ 10-0°[ 1,566 LF 10% 1723 $0.00 50.00 0.00 $0.00 50
701 @ floor and cellina| __1.302 3 10% 1531 $0.00 50.00 $0.00 $0.00 30
Partition Type P-61 (372 LF)
792 - Fire Rating: 1 hr. 3348 SF 10% 3683
793 X4 Wood Studs @ 24 OC|__3.348 I3 0% 3683 $0.00_| _$0.00 5000 $0.00_| $000 $0.00 5000
704 1) laver of 5/ 6.696 SE 10% 7366 $0.00 | $0.00 50.00 $000 | 5000 $0.00 5000
21000 | Sheets | 10% 231.00
4 Each | 10% $0.00 $0.00 5000
250 Tane Rol|__18. Rolls | 10% $0.00 $0.00 50.00
i 34, Gallons | 10%
15 Each | 10% $0.00 $0.00 5000
1-1/4" Drvwall Screws| 6. Pounds | 10%
1-2/4" Drvwall Screws] 1 Case | 10%
nonoes|  6.08 Each | 10%
795 3 172" unfaced fiber alass batt insulation @ both sides| 6,696 SE 10% 7366 $0.00 5000 $0.00 $0.00
796 Fire blocking in air soace @ 10-0"] __1.674 3 10% 1841 $0.00 50.00 $0.00 $0.00
797 floor and ceiina]___1.488 LF 10% 1637 $0.00 50.00 $0.00 $0.00




Partition Type E-4 (408 LF)
79 Fire Rating: 1 hr. 3672 sE| 0% 4039
- Height: 9:0"
750 1 laver of 57 7 N G076 | 5000 | $000 | 000 | $000 | $000 | 000 5000
23000 | Sheeis| _10% | 25300
Each 10% 5. $0.00 $0.00 $0.00
Rolls | 10% 2 50.00 50.00 50.00
Gallons | 10% m
Each | 10% 17 50,00 50,00 30,00
Pounds | 10% W
Case | 10% 2
Each | 10% 542
800 R-20 unfaced fiber olass bait insulation] 3672 0% 4039 50
801 2" x4" Wood Studs @ 24" OC| 836 10% 2020 $0.
802 OBS shealhina] _3.672 0% 4039 S0,
803 Vanor semi nermeable latex naint] 3,672 0% 4030 50
804 floor and ceilinal __1.632 0% 1705 S0,
805 Partiion Type F-51 (168 LF) 1512 sk 10% 1663
806 (1) aver of 5/8" voe "X" ovbsum board @ one sides| 15 S| io% 663 | $000 | $000 | 5000 | $000 | $000 | 5000 30,00
438G Sheer| 4 Sheers | 10%
Sandina Disc ch | 10% 5000 5000 30,00
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
FEach 10% $0.00 $0.00 $0.00
T04" Drvwall Screws] Pounds| _10%
1-1/4” Drvwall Screws| Case | 10%
Each | 10% 1
807 2" x4" Wood Studs @ 16" OC]| 1137 LE 10% 1251 $0.00 $0.00 $0.00 $0.00
608 & Acousiic sound balt insulation] 1512 SE | 10% 1663 5000 | 50.00 5000 | 50.00
809 @ floor and ceilina 672 LE 10% 739 $0.00 $0.00 $0.00 $0.00
UNIT C-1 (68 EA)
Partiion Type 160 (756 L)
810 -Fire Rating 6804 sF| 0% 7484
- teiohr g
811 1) laver of §/8" voe "X avosum board @ both sides] 13608 | SF | 10% | 14969 | $000 | $000 | $000 | $000 | $000 | $000 30,00
4487 GB Sheei| 47600 | Sheers| 10% | 46660
Sandina Disc ch | 10% 5000 5000 30,00
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
FEach 10% $0.00 $0.00 $0.00
04" Drvwall Screws] Pounds| _10%
1-1/4” Drvwall Screws| Case | 10%
Soonaes| 14, Each | 10%
812 2" x4" Wood Studs @ 16" OC| 5116 LE 10% 562 $0.00 $0.00 $0.00 $0.00
813 & Acousiic sound baltinsulation] 6,804 SE | 0% 7484 5000 | 50.00 5000 | 50.00
814 @ floor and ceilina 3024 LE 10% 3326 $0.00 $0.00 $0.00 $0.00
Partiion Type 161 (192 LF)
815 Fire Rating: 1 1728 se| 10w 1001
- teiahr 9.0
816 1) laver of §/8" voe "X avosum board @ both sides| 3456 S| io% 3602 | $000 | $000 | 5000 | $000 | $000 | 5000 30,00
'\ GB Sheei] 108,00 | Sheers | 10% | 11680
Sandina Disc Each | 10% 5000 5000 30,00
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons|__10%
i FEach 10% $0.00 $0.00 $0.00
T04" Drvwall Screws] Pounds| _10%
1-1/4” Drvwall Screws| Case | 10%
Each | 10%
817 2" x 6" Wood Studs @ 16" OC| 1299 LE 10% 1429 $0.00 $0.00 $0.00 $0.00
818 & Acousiic sound battinsulation] 1728 SE | 10% 1901 5000 | 50.00 5000 | 50.00
A10 @ floor and ceilinal 768 tE 0% 845 5000 | 5000 5000 | 5000
Partiion Type 162 (18 LF)
820 - Fire Raing: 1 . 162 se| 10w 178
-
821 3 laver of §/8" voe "X avosim board @ both sides| 32 S| io% 356 $000 | $000 | $000 | 5000 | $000 | 5000 30,00
4487 GR Sheer] 11 Sheers | 10%
Sanding Disc| ch | 10% $0.00 5000 50,00
250' Tane Raoll| Rolls. 10% $0.00 $0.00 $0.00
Gallons | 10%
Fach 10% $0.00 $0.00 $0.00
Pounds| 10%
Case | 10%
Each | 10%
27 2"« Wood Studs @ 16" 0G| 122 E [ 0% 134 $000 | 5000 5000 | 5000
823 & Acousiic sound bait insulai 162 SE | 1o% 178 5000 | 50,00 5000 | 5000
o4 @ fioor and ceiina] 72 E [ o% 79 5000 | 5000 $000 | 5000
Partiion Type £-4 (256 LF)
825 - Fire Raing: 1 2522 sF| 0% 2554
- teiahr
826 1) laver of §/8" voe "X" avosum board @ both sides| 4.6 S| io% 5106 | $000 | $000 | 5000 | $000 | $000 | 5000 30,00
4487 GB Sheer| 14600 | Sheers| 10% | 160.60
Sanding Disc| Each | 10% 31 $0.00 5000 5000
250' Tane Roll| 3 Rolls. 10% 14, $0.00 $0.00 $0.00
7 Gallons | 10% 2%
JJoint Comnaund| 0. Fach 10% 11, $0.00 $0.00 $0.00
Drvwall Screws| 25, Pounds| 10% 27,
Drvwall Screws| 1 Case | 10% 13
‘Svonces| 4. h | 10% 532
77 R-20 unfaced fiher alass hattinsulation] 2 327 s 10% 2554
828 24" Wood Swds @ 24" OC|__ 1161 T 10% 1277
20 S sheathina] 2327 s 10% 2554
830 Vasor semi nermeable latex oaini| 2 322 s 0% 2554
a1 @ floor and ceilina| 1037 0 10% 1135
BUILDING-5 TYPE-2.
UNIT A-2 (2 EA)
Partition Type I-60 (102 LF)
832 Fire Ratng: 1 hr. 918 sF| 0% 1010
- beiah
833 (1) laver of /8" tvne "X" avnsum hoard @ both sides| 1836 SF 10% 2020 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
448 GB Sheel| Sheets | 10% 63,
Sandina Disc| 1 Fach 10% 1: $0.00 $0.00 $0.00
“Tane Roll Rolls | 10% 5 50.00 50.00 50,00
Joint Gompound] 1 Gallons|__10% 1
Each | 10% 0 $0.00 $0.00 0,00
1-1/4" Drvwall Screws| Pounds 10% 11,
1-1/4” Drvwall Screws| Case | 10% o
Soona Each | 10% 2
) 24" Wood Swds @ 16" OC| 60« [T 759 $000 | 5000 $000 | 5000
835 - o1 SE | 10% 1010 5000 | 50,00 5000 | 5000
836 ‘Acoustical sealant @ floor and ceilino] 40 [T T 449 5000 | 5000 $000 | 5000
Partition Type 160 (16 LF)
837 - Fire Rating: 1 hr 4 sFo| 0% 50
- beighr 210"
838 1) laver of 578" voe "X" avpsum board @ boih sides| o S| 0% 00 $000 | $000 | $000 | $000 | $000 | 000 3000
448 GB Sheel| 3 Sheers | 10%
Sandina Disc| 0. ach 10% $0.00 $0.00 $0.00
“Tane Roll Rolls | 10% 5000 5000 5000
Joint Compound| Gallons|__10%
ich 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
1-1/a" Drvwall Screws] Case | 10%
Soona Each | 10%
B30 24" Wood Swds @ 16'0C|___ 34 [T 5 $000 | 5000 $000 | 5000
840 a a5 sE | _io% 5 5000 | 50,00 5000 | 50.00
Ba1 “Acoustical sealant @ floor and ceilinal 64 [T T T 5000 | 5000 $000 | 5000
Partition Type 161 (28 LF)
822 Fire Rating: 1 . 252 sFo| 0% o7
- beiah
843 1) laver of 578" voe "X avpsum board @ boih sides| 502 S| 0% 55 $000 | $000 | $000 | $000 | $000 | 000 3000
438 GB Sheel] 1 Sheers | 10% 7
Sandina Disc| ach 10% $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% 5000 5000 5000
Joint Comoound| Gallons|__10%
Each 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
1-1/a" Drvwall Screws] Case | 10%
Soonaes| Each | 10%
B4 26" Wood Suds @ 16'0C|___180 L [ 0% 208 $000 | 5000 $000 | 5000
845 [ 252 SE | 10% 2717 5000 | 50,00 5000 | 5000
846 ‘Acoustical sealant @ floor and ceilina] 112 [T T 123 5000 | 5000 $000 | 5000
Partition Type P-60 (84 LF)
847 Fire Rating: 1 . 756 sFo| 0% 832
825 274 Wood Swds @ 24 OC|___756 [T T 832 $000 | $000 | $000 | 5000 | $000 | 000 3000
Ba0 1) laver of §/8" voe "X ovosum board @ both sides| 1.5 SE | 1o% 1663 | 5000 | $000 | 5000 | $000 | $000 | $000 5000
428 GB Sheet| & Sheets | _10%
Sanding Disc Each | 10% 5000 5000 5000
250’ Tae Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons | 10%
Joint Comoound| Each | 10% $0.00 $0.00 0,00
rvwall Screws| Pounds| 10%
1-1/4" Divwal Screws| Case | _10% 50
Soor 1 Each 10% $0.
850 3 1/2° unfaced fiber olass bailinsulation @ both sides| 1512 sr | _io% 1663 5000 | 5000 5000 | 5000 50
851 Fire blockina in air snace @ 10-0"| 378 LE 10% 416 $0.00 $0.00 $0.00 $0.00 $0.
852 J sealant @ floor and ceiinal 336 [T T 370 5000 | 5000 5000 | 50.00 50,
Partiion Type P-61 (30 LF)
853 - Fire Rating: 1 hr. 270 se| 0% 207
- Heigh: 9
854 4" Wood Studs @ 24" OC| 270 LE 10% 297 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
855 1) laver of §/8" voe "X avosum board @ both sides| S| _10% | o 5000 | $000 | 50,00 5000 | $0.00 | 5000 50,00
448" GB Sheet] 17 Sheers | 10%
Sanding Disc ach | 10% 5000 50,00 0,00
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Joint Comoound| Gallons|__10%
Each 10% $0.00 $0.00 $0.00
10" Drvwall Screws] Pounds| _10%
1-1/4" Drvwall Screws| Case 10% $0.
noes| Each | _10% 50
856 3 1/2" unfaced fiber alass batt insulation @ both sides| 540 SF 10% 594 $0.00 $0.00 $0.00 $0.00 $0.
857 Fire biockina in air space @ 10-07 135 [T T 149 50.00 | 5000 5000 | 5000 50
858 @ floor and ceiling 120 LE 10% 132 $0.00 $0.00 $0.00 $0.00 $0.
Partiion Type £-4 (48 LF)
aso Fire Rating: 1 . 32 sFo| 0% a5
- teiahr
850 1) laver of §/8" voe "X avosum board @ both sides, S| 0% 550 $000 | $000 | 50,00 5000 | $000 | 000 30,00
@' G Sheel Sheers | 10%
Sanding Disc Each | __10% 5000 50,00 0,00
250’ Tane Roll| Rolls. 10% $0.00 $0.00 $0.00
Joint Comoound| Gallons|__10%
i Each 10% $0.00 $0.00 $0.00
10" Drvwall Screws] Pounds| _10%
1-1/4" Drwall Screws| Case 10% $0.
Sponges] h | 10% 50
861 R-20 unfaced fiber alass batt insulation] 432 10% 475 $0. $0.
862 2" 4" Wood Swds @ 24" OC|___216 0% 238 50 50,
863 OBS sheathina 432 10% 475 $0. $0.
864 Vaoor semi permeable laex vaini| 432 0% 75 50 50,
865 @ floor and ceiling 192 10% 211 $0. $0.
866 Parttion Type FoLELF) 72 SF 10% 79
[ 3 iaver of 518" tvoe 'X" avosum board @ one sides| 7 S| io% 7 $000 | $000 | $000 | §000 | $000 | 5000 5000
48 GB Sheel| Sheets | _10%
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% 5000 50.00 50,00
i Gallons | 10%
Each | 10% 50,00 50,00 30,00
T1/4" Drvwall Screws| Pounds | 10%
1-1/4 Divwal Screws| Case | 10% 50,00 50,00 30,00
St Each 10% $0.00 $0.00 $0.00
) 24" Wood Swds @ 16'OC|__5: [T & 5000 | $000 | 5000 5000 | $000 | 000 50.00
60 r batt insulation] 7 sE 1 10w 7 $000 | $000 | $000 | $000 | $000 | s000 5000




&70 @ floor and cellina] 32 3 10% 35 5000 | $000 | so00 5000 | $000 | s000 50,00
UNIT A3 (2 EAY
Partton Type 160 (136 LF)
871 ~Fire Rating: 1 1224 sFo| 0m 1346
- Heioht: 9.0
872 1) laver of 57 2 SF | 0% 2695 | 5000 | §000 | 5000 $000 | $000 | 5000 50,00
7 Sheets | __10% 84
Each | 10% 1 50,00 50,00 50,00
Rolls | 10% 7 50.00 5000 5000
Gallons| 10% 14
Each | 10% B 5000 5000 5000
Pounds| 10% 14,
Case | _10% 0
Each | 10% 2
873 27 & Wood Stds @ 16 OC|___620 LF 10% 1012 5000 | 5000 5000 | 5000
a7 7 batt insulation| _1.224 SE [ 10% 1346 5000 | 50.00 5000 | 5000
875 floor and ceilina 544 LF 10% 598 5000 | 5000 5000 | 5000
Pariiion Type 160 (16 LF)
a7 Fire Rating: 1 . a5 sFo| 0m 50
- Heia!
677 5 aver of 518" voe "X" avosum board @ both sides| o SF | 0% 00 $000 | $000 | 8000 $000 | $000 | 5000 50,00
428 GB Sheel| Sheets |__10%
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50,00
i Gallons| 10%
ch | 10% 5000 5000 5000
/2" Drvwall Screws| Pounds| 10%
114" Drvwall Screws] Case | _10%
Soon Each | 10% .
878 2" x4 Wood Stds @ 16 0C|___3: LE 10% 3 $000 | 5000 5000 | 5000
679 @ batt insulation| 4 SE | 10% 5 5000 | 50,00 5000 | 5000
880 ‘Acoustcal sealant @ floor and ceiina] ___6: LF 10% 7 5000 | 50.00 5000 | 5000
Pariiion Type 161 (20 LF)
881 Fire Rating: 1 . 180 sFo| 0m 198
- Heioht
[T 1) aver of 518" voe "X" avosum board @ both sides| 360 SF | 0% 39 $000 | $000 | 8000 $000 | $000 | 5000 50,00
428 GB Sheel| Sheets | __10%
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50,00
i Gallons| 10%
Each | _10% $0.00 5000 5000
T-1/4" Druwall Screws| Pounds| 10%
114" Drvwall Screws] Case | _10%
Snonaes| Each | 10% Y
883 276 Wood Studs @ 16 OC|___1: LE 10% 49 $000 | 5000 5000 | 5000
BRa & bat insulation| 180 SE | 10% 198 5000 | 50,00 5000 | 5000
885 ‘Acoustical sealant @ floor and celina] 80 LF 10% 88 5000 | 50.00 5000 | 5000
Pariiion Type P-60 (102 LF)
836 Fire Rating: 1 . 918 sFo| 0w 1010
- Heioht: 9.0
712 2"y & Wood Studs @ 24" 0G| 7182 i3 0% 7900 | 5000 | §000 | 5000 $000 | $000 | 5000 50,00
838 1) laver of 5/6" vbe "X" avosum board @ both sides| 1836 SF_|_10% 2020 | 5000 | $0.00 | 50.00 $0.00 | 5000 | 5000 50,00
'\ GR Sheet Sheeis | 10% 6.
Sandina Disc] Each | _10% 1 $0.00 5000 30,00
250 Tane Roll Rolls | 10% 5: 50,00 50,00 50.00
Gallons| __10% 1
Each | 10% 4. 5000 5000 50,00
T04" Drvwall Screws] Pounds| _10% i
1-1/a" Drvwall Screws| 4 Case | 10% 0;
Soona 91| Each | 10% 2
[T edl fiber alass batt insulation @ borh sides| 1636 SE | 10% 2020 $000 | 5000 $000 | 5000
8% Fire blocking in ai space @ 10-0'] 450 LF 10% 505 5000 | 5000 5000 | 5000
A91 @ floor and ceilina] 408 13 10% 449 $000 | 50,00 5000 | 50.00
Partition Type P-61 (30 LF)
892 ~Fire Rating: 1 hr. 270 seo| 0% 207
- v
855 2" x4 Wood Studs ® 24" OC|___270 13 10% 297 $000 | 5000 | 8000 $000 | 5000 | 5000 50,00
94 1) aver of 618" voe X" avnsum hoard @ both sides| 540 SF | 10% | so $0.00 | $000 | $0.00 5000 | 5000 | 5000 50.00
438 GB Sheel| 17, Sheets | __10%
‘Sandina Dise 7 Each | 10% 5000 $0.00 50,00
50' Tave Roll Rolls | 10% 50.00 5000 50.00
Joint Comnound] Gallons| 10%
Each | 10% $0.00 5000 5000
Drwall Screws| Pounds| 10%
114" Drvwall Screws] Case | _10%
noes| Fach | 10% X
835 3 1/2" unfaced fiber olass bait insulation @ both sides| 540 sE |10 o $000 | 5000 $000 | 5000
896 Fire blocking in air snace @ 10-0"] 135 i3 10% 4 $000 | 50,00 5000 | 50.00
897 “Acoustical sealant @ floor and ceiina] 120 T3 10% 132 5000 | 5000 5000 | 5000
Pariiion Type E-4 (48 LF)
898 Fire Rating: 1 . 432 sFo| 0w a5
- Heioht
0] ) laver of 613" voe X" avnsim hoard @ boih sides| 62 SF | 1o% 950 $000 | $000 | 8000 $000 | $000 | 5000 0,00
438 GB Sheel| 7. Sheets | __10%
‘Sandina Dise Each | 10% $0.00 $0.00 50,00
Tae Roll Rolls | 10% 50.00 5000 50.00
Joint Comnound] Gallons| 10%
Each | _10% $0.00 5000 5000
/2" Drvwall Screws| Pounds| 10%
114" Drvwall Screws] Case | _10%
Snon Fach | 10% | 0.
900 "R-20 unfaced fiber olass bailinsulati 432 s 0% a5
a01 2" 4" Wood Studs @ 24" OC| 216 0 10% 238
902 S sheathina| 432 s/ 10% 75
03 Vanor semi nermeahie laiex naint] 43 s 10% a75
904 “Acoustical sealant @ floor and ceilina] 162 X 10% 211
a0s Pariion Type 761 6 LF) 7 s | | w
506 (1) laver of 5/8" tvoe "X" avbsum board @ one sides| 7 SF_ 0% 7 $000 | 8000 | 8000 $000 | 5000 | 5000 30,00
438 GB Sheel| Sheeis | 10%
Sandina Disc] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 0,00
Pounds| _10%
Case | 10%
Soonges| Each | 10%
907 2" & Wood Studs @ 16 OC| 5 T3 10% $000 | 5000 5000 | 5000
908 4" Acousic sound balt insulal 72 SE_ |10 7 5000 | 50.00 5000 | 5000
900 floor and ceiina] 32 T3 10% 5000 | 5000 5000 | 5000
UNIT B-2 (12 EAY
Partiton Type 160 (1164 LF)
910 Fire Rating: 1 hr. 10476 | sF | 10% 11524
911 1) laver of 5/8" tvoe "X” avbsum board @ both sides| 20952 | SF_| 10% | 23047 | 5000 | $000 | $0.00 $0.00_|_§000 | 5000 0,00
438 GB Sheel| 655 Sheets | _10% | 720,
Sandina Disc| _ 13.1 ach | 10% 1 $0.00 $0.00 50,00
250 Tane Roll| 55, Rolls | 10% 60, 50.00 50.00 50.00
Soint Compound| 105 Gallons| _10% | 115
45 Each | 10% 49, $0.00 $0.00 50,00
10" Drvwall Screws| 110 Pounds| _10% | 121
114" Drvwall Screws| 6.5 Case | _10% 6.1
Soonaes| 21 Each | 10% 2
o12 2" & Wood Studs ® 16 OC|__7.677 LE 10% 8664 5000 | 5000 $000 | 5000
913 - 10476 | SE | 10w 11524 5000 | 5000 5000 | 5000
014 ‘Acoustical sealant @ floor and ceilina] 4,656 T3 10% 5122 5000 | 50.00 5000 | 5000
Pariiion Type 61 (168 LF)
915 Fire Rating: 1 hr. 1512 sFo| 0w 1663
- Heiot:
916 1) laver of 5/8" tvoe "X” avbsum board @ both sides| _3.024 SF | 0% $000 | $000 | s000 $0.00_|_§000 | 5000 0,00
GB Sh Sheets | __10%
Sandina Disc] 8 Each | 10% $0.00 $0.00 0,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
Each | 10% $0.00 $0.00 50,00
10" Drvwall Screws] Pounds| _10%
1-1/a" Drvwall Screws] Case | _10%
Spona Each | 10%
017 276 Wood Studs ® 16 OC|__ 1157 LE 10% $000 | 5000 $000 | 5000
918 & 1512 SF| 0% 5000|5000 5000 | 5000
010 ‘Acoustical sealant @ floor and ceilin] 672 T3 10% 5000 | 50.00 5000 | 5000
Pariion Type 162 (36 LF)
920 Fire Rating: 1 . 320 sFo| 0w 356
- Heioht: 9
91 1) laver of 5/8" vbe "X" avbsum board @ both sides| 648 SF | 10% T $0.00_| 5000 | _$000 $0.00_|_§000 | 5000 0,00
438 GB Sheel] 2 Sheets | __10% 2
Sandina Disc] ach | 10% $0.00 $0.00 50,00
“Tae Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
ch | __10% $0.00 $0.00 50,00
10" Drvwall Screws] Pounds| _10%
114" Drvwall Screws] Case | 10%
Each | 10%
522 78 Wood Studs 16" 0c] e 10% 268 $000 | 50,00 $000 | 5000
923 “Acousi 2: SF_ 0% 356 5000 | 5000 5000 | 5000
924 @ floor and ceiling 44 T3 10% 158 5000 | 50.00 5000 | 5000
Partiion Type P-60 (348 LF)
925 ~Fire Rating: 1 . 3132 sFo| 0w 3485
926 274 Wood Studs @ 24" OC| 3132 T3 10% 5| §000 | 5000 | 8000 $000 | $000 | §000 0,00
027 1) laver of 5/8" voe "X" avosum board @ both sides| 6,264 SE | 10% 689 | 5000 | $000 | 50.00 5000 | 5000 | 5000 50.00
/48 GB Sheell 196,00 | Sheets | _10% | 21560
Sandina Disc| 3 Each | 10% 3 50,00 50,00 50,00
250 Tape Rolll 17 Rolls | 10% 50.00 5000 50,00
i 32 Gallons| _10%
Joint Compound| 14 Each | _10% 5000 5000 $0.00
rvwial Ser 33, Pounds| _10%
1 Case | _10% E] 50
& Each | 10% 1 50
928 3 12" unfaced fiber olass batt insulation @ both sides| __6.264 sE | 0% 6390 5000 | 5000 5000 | 5000 50
029 Fire blocking in ai space @ 10-0"] 1566 13 10% 1723 5000 | 50.00 5000 | 5000 50
930 A I sealant @ floor and cellina__1.392 LF 10% 1531 5000 | 5000 5000 | 5000 50,
Partiion Type P-61 (372 LF)
931 Fire Rating 3348 seo| 10w 3683
- Heloht: 9.
032 4" Wood Studs @ 24" 0C| 3348 13 10% 3663 | 5000 | $000 | 5000 $000 | $000 | 5000 50,00
933 1) laver of 5/8" vbe "X” avosum board @ both sides| 6,696 SF_| 0% 7366 | 5000 | $0.00 | $0.00 5000 | $0.00 | 5000 50,00
48 G Sheet| 21000 | Sheeis| 10% | 231.00
Sandina Disc] ach | 10% 5 50.00 5000 0,00
250 Tane Rolll 15, Rolls | 10% 50.00 50.00 50.00
Joint Compound| 34 Gallons| __10%
5 ch | 10% $0.00 50,00 50,00
Drwiall Screws| 36, Pounds| _10%
1-1/a" Drvwall Screws] Case | 10% 5 50
Soonaes| 6 Each | 10% 6 s0.
93 3 112" unfaced fiber olass bait insulation @ both sides| 6,696 SE | 10% 7366 $000 | 50,00 $000 | 5000 50
935 Fire blocking in ai space @ 10-0'] 1,674 LF 10% 1841 5000 | 5000 5000 | 5000 50
036 @ floor and ceiina] __1.488 T3 10% 1637 5000 | 50.00 5000 | 5000 50
Partition Type £-4 (408 LF)
937 ~Fire Rating: 1 . 3672 sFo| 0w 4039
938 1) laver of 5/8" vbe "X" avbsum board @ both sides| 7.3 SF_| 0% 8078 | 5000 | $000 | $0.00 $000 | $000 | §000 0,00
448 G Sheet| 230,00 | Sheels| 10% | 253.00
Sandina Disc] ach | 10% s 50.00 5000 50,00
250 Tane Roll Rolls | 10% 22 50.00 50.00 50.00
Joint Compound| Gallons|__10% 0.
i Each | 10% 17 $0.00 50,00 50,00
T.04" Drvwall Screws] Pounds| _10% a2
1-1/a" Drvwall Screws] Case | 10% 2
Soonaes| Each | 10% 8.42
o35 R20 unfaced fiber olass baftinsulation] 3,672 SE [ 10% 4039 $000 | 50,00 $000 | 5000
920 2" x4 Wood Studs @ 24" OC| 1836 LF 10% 2020 5000 | 5000 5000 | 5000
041 OBS sheathina| 3672 SE | 10% 4039 5000 | 50.00 5000 | 5000
942 Vaoor semi permeable latex paint] 3,672 sF 0% 2039 5000 | 5000 5000 | 5000




943 @ floor and ceilina] 1637 T3 10% 1795 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
944 Partion Type F61 (168 LF) 1512 sF 10% 1663
945 (1) laver of 5/8" tvne "X avnsum board @ one sides| 1512 SF 0% 1663 | 5000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
48 GB Sheet] i Sheets | __10% 5
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
i Gallons | 10%
Each | 10% $0.00 50,00 $0.00
11/4" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | _10%
oonges| 1 Each | 10%
946 274 Wood Studs @ 16 OC|__L.1: LF 10% 1251 $0.00 50,00 5000 | 5000
947 7 bat insulation| 1512 SE 10% 1663 50.00 50.00 5000 | $0.00
948 loor and ceilina___67: LF 10% 739 50.00 50.00 5000 | 5000
UNIT C-1(6 EAY
Partition Type I-60 (756 LF)
949 - Fire Rating: 1 hr. 6.804 sF 10% 7484
- Heioht
950 1) Iaver of 5/8" tvne "X" avosum hoard @ both sides| 13 608 SF 0% 14969 | $0.00 | §0.00 $0.00 $000 | $000 | $0.00 $0.00
428 GB Sheel| 426,00 | Sheels | _10% | _468.60
Sandina Disc| 851 ach | 10% X $0.00 $0.00 $0.00
250 Tave Rolll 36, Rolls | 10% 3 50.00 50,00 50,00
i 69 Gallons | 10% 7
29, Each | _10% 3 $0.00 $0.00 $0.00
1-1/4" Drwall Screws| 72 Pounds | 10% 7
1-1/4" Drvwall Screws| 3. Case | _10%
Soon 14 Each | 10% 1
951 2" x4 Wood Studs @ 16'OC|__5.116 LE 10% 562 $0.00 50,00 5000 | 000
957 x bat insulation| 6804 SE 10% 7484 50.00 50.00 5000 | $0.00
953 “Acoustical sealant @ floor and ceiina 3,024 LF 10% 3326 50.00 50.00 5000 | 5000
Partition Type |-61 (192 LF)
954 - Fire Rating: 1 hr. 1728 sF 10% 1901
- Heioht
955 1) Iaver of 5/8" tvne "X" avosum hoard @ both sides| 3456 SF 10% 3802 | 5000 | $000 $0.00 $000 | $000 | $000 $0.00
428 GB Sheel| 108,00 | Sheels| _10% | 118.80
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
Each | _10% $0.00 $0.00 $0.00
174" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | _10%
Soonges| Each | 10% X
956 26" Wood Stds @ 16 OC|___1.209 LE 10% 1429 $0.00 50,00 5000 | 000
957 6" bat insulation| 1728 SE 10% 1901 50,00 50.00 5000 | $0.00
958 ‘Acoustical sealant @ floor and ceiina] 768 LF 10% 845 50.00 50,00 5000 | 5000
Partition Type 1-62 (18 LF)
959 - Fire Rating: 1 162 sF 10% 178
- Heioht: 9.0
960 1) aver of 5/ . SF 10% 356 $000 | §0.00 $0.00 $000 | $000 | $0.00 $0.00
Sheets |__10%
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50.00 50,00 50,00
Gallons | 10%
ch | __10% $0.00 $0.00 $0.00
Pounds | 10%
Case | _10%
Each | 10% X
961 278 Wood Studs @ 16 OC|___122 LE 10% 134 $0.00 50,00 5000 | 5000
962 & bat insulation| 162 SE 10% 178 50.00 50,00 5000 | $0.00
963 ‘Acoustical sealant @ floor and celina] 72 LF 10% 79 50.00 50,00 5000 | 5000
Pariiion Type E-4 (258 LF)
964 - Fire Rating: 1 hr. 2322 sF 10% 2554
- Heioht
965 1) aver of 5/ ‘avnsum hoard @ hoih sides| 4642 SF 10% $000 | §000 50.00 $000 | $000 | $000 $0.00
448 GB Sheel| 146,00 | Sheels | _10%
Sandina Di 2 Each | 10% $0.00 $0.00 $0.00
50' Tae Roll| 13, Rolls | 10% 50.00 50,00 50,00
Comnound] 24 Gallons | 10%
10, Each | _10% $0.00 $0.00 50,00
Drwwall Screws| 25 Pounds| _10%
1-1/4" Drvwall Screws| 1 Case | _10%
Snonaes| 4. Fach | 10% 5.
966 "R20 unfaced fiber olass bailinsulati 2.322 s; 10% 2554
967 2" x&" Wood Siuds @ 24" 0C| 1161 L 10% 1277
968 OBS sheathinal 2322 s/ 10% 2554
969 Semi nermeahle Iatex naint| 232> si 10% 2554
970 “Acoustical sealant @ floor and ceilina] 1,032 X 10% 1135
BUILDING-6 TYPE-2
UNIT A2 (2 EAY
Partiion Type 160 (102 LF)
o971 - Fire Rating: 1 hr. 018 sk 10% 1010
- v
972 1) laver of 5/6" voe "X" avosum board @ both sides| __L5: SF 10% 2020 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
L3 GR Shee| Sheets | 10% 63
‘Sandina Disc] ch | __10% 1 $0.00 5000 50,00
250 Tane Roll Rolls | 10% 5. 50,00 50,00 50.00
Gallons| _10% 1
Fach | 10% 4. $0.00 $0.00 $0.00
Pounds| _10% 1
Case | 10% 0:
Each | 10% 2
73 274" Wood Siuds @ 16°0C| 690 T3 10% 759 $0.00 50,00 5000 | 000
974 4" Acoustic sound b insulal 015 SE 10% 1010 50,00 50,00 5000 | 5000
a75 @ floor and ceilina| 408 T3 10% 43 50,00 50.00 50.00 | 000
Partiion Type 160 (16 LF)
976 . 45 sk 10% 50
977 1) laver of 5/6" voe "X avosum board @ both sides| o SF 10% G $000_| 5000 0,00 $000 | $000 | 5000 50,00
L3 GR Shee| Sheets | 10%
Sandina Disc] ch | __10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
rvwall Screws| Pounds| _10%
1-1/4" Drwall Screws| c 10%
oonaes| Each | 10%
o785 2" & Wood Studs @ 16 OC|___3: LF 10% 3 5000 50.00 5000 | 000
070 4" Acousic sound balt insula a5 SE 10% 5 50.00 50.00 5000 | 5000
980 floor and ceiina] 64 T3 10% 7 50,00 50.00 5000 | 000
Partiion Type 161 (28 LF)
981 ~Fire Rating: 1 hr. 252 sk 10% 217
- Heioht: 9.0
962 (1) laver of 5/8" tvoe "X" avosum board @ both sides| b SE 0% 55 $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10% 7
Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4" Drwall Screws| c 10%
Soonaes| Each | 10%
983 276" Wood Studs @ 16 OC| T3 10% 208 5000 50.00 5000 | 000
984 6" Acousiic sound batt insulati 5 SE 10% 277 50.00 50.00 5000 | 5000
985 floor and celing v T3 10% 123 50,00 50.00 5000 | 000
Pariition Type P-60 (64 LF)
986 - Fire Rating: 1 hr. 756 sk 10% 832
ht
957 2" & Wood Studs ® 24" OC| 756 13 10% 532 $000_| 5000 50,00 $000 | $000 | 5000 0,00
988 1) laver of 5/8" tvbe "X” avosum board @ both sides| 1512 SF 10% 1663 | $0.00 | $0.00 50.00 $000 | $000 | 5000 50,00
43 GB Sheel] a8 Sheets | __10% 5
Sandina Disc| 0 ach | 10% $0.00 5000 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 $0.00
Joint Compound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1-1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | _10%
Soonaes| Each | 10%
969 3 172" unfaced fiber olass batt insulation @ both sides| 1512 Sk 10% 1663 $0.00 50,00 $000 | 5000
990 Fire blocking in ai space @ 10-0"] 378 LF 10% 416 50,00 50,00 50.00 | 5000
991 ‘Acoustical sealant @ floor and ceilina] 336 T3 10% 370 50.00 50.00 5000 | 5000
Pariiion Type P-61 (30 LF)
992 - Fire Rating: 1 hr. 270 sF 10% 207
993 2" @ Wood Studs @ 24" OC| 270 T3 10% 207 $000 | 5000 50.00 $000 | §000 | $000 50,00
994 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 5 SE 10% 9 $000 | $0.00 50.00 $000 | $000 | $0.00 $0.00
48 GB Shee Sheets | 10% 0
Sandina Disc] Each | _10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound Each | 10% 50.00 50.00 $0.00
rvwall Screws| Pounds| _10%
114" Drvwall Screws] Case | _10% 50
Soor Each | _10% | S0
995 3 12" unfaced fiber alass batt insulation @ both sides| 0 S 10% 594 50.00 $0.00 5000 | 000 50
996 Fire blocking in air soace @ 100" 135 T3 10% 149 50,00 50.00 5000 | $0.00 S0
997 I sealant @ floor and cellina 120 LF 10% 132 50.00 50.00 5000 | 5000 50
Pariition Type E-4 (48 LF)
998 ~Fire Rating: 1 . 432 SF 10% a75
- Heloht: 9.
999 (1) laver of 5/8" tvne "X" avosum board @ both sides| 64 SE 10% | 950 $000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
43 GB Shee Sheets |__10%
‘Sandina Disc| Eac 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50.00 50,00 $0.00
Pounds| _10%
Case | _10% )
s Each | _10% | S0
1000 "R20 unfaced fiber olass baitinsulation] 432 10% 475 50 50
1001 2" x&" Wood Studs @ 24" OC| 216 10% 238 S0 S0
1002 OBS sheathina| 432 10% a75 s0. 50
1003 Vanor semi oermeable latex paint| 432 10% a75 S0 S0
1004 tical sealant @ floor and cellina 192 10% 211 s0. 50,
e 2 [ | on |
1006 (1) laver of 5/8" voe "X" avpsum board @ one sides| 7 SF 10% 7 5000 | 0,00 50,00 5000 | $000 | 000 $0.00
/48 GB Sheel| Sheets | _10%
Sandina Disc] Each | 10% 50.00 50,00 $0.00
250 Tave Roll Rolls | 10% 50,00 50,00 50.00
Joint Compound Gallons|__10%
i Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
1.1/4” Dwall Screws| Case | _10% S0
es| Each | 10% s0.
1007 7 a Wood Suds @16 0C] 5 L 10% $0.00 $0.00 $000 | 5000 S0
1008 " Acouslic sound. 7 SF 10% 7 50.00 50,00 5000 | 5000 50
1000 @ floor and ceilina|__3 T3 10% 50,00 50.00 5000 | $0.00 S0
UNIT A3 2 EA)
Pariition Type 160 (136 LF)
1010 ~Fire Rating: 1 1224 sk 10% 1346
- Helaht: 9.
1011 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 2.4 SE 0% 2693 | 5000 | $000 $0.00 $000 | $000 | $0.00 $0.00
43 GB Sheet] 7 Sheets |__10% 84
‘Sandina Disc| Each | 10% 1 $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 7 50.00 50.00 50.00
i Gallons | 10% 1a,
Each | 10% B $0.00 50,00 $0.00
11/4" Dwall Screws| Pounds| _10% 1a,
114" Drvwall Screws] Case | _10% . $0.00 50,00 $0.00
Soon Each | 10% 2 50.00 50.00 50.00
1012 27 & Wood Stds @ 16 0c] 620 T3 10% 1012|5000 | 000 50,00 5000 | $000 | 000 50.00




e I Do 758 [ S| i | 15 | so00 | soo0 | somo | sooo | sooo | som s000
1014 foor and ceilng] 544 | LF |10 | 5o | s0.00 [ 5000 | 5000 | 000 | so00 | s000 $000
Partition TyDe X 50 (16 LF)
w015 e Ra s | s | 0w | e
e 230
1016 (1) laver of 5/8" tvoe ] SF 10% 00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Shees | 100
Each 10% $0.00 $0.00 $0.00
Rots |00 <000 <000 $000
Calons| 10
Each | 100 5w i Ey
Pounds| 100
Case | 100
Soon Facn | 0%
017 < Vood St @ 16" 0c] 3 Y T T E
1018 a4 batt insulation] 45 SF 10% S $0.00 $0.00 $0.00 $0.00
1010 Toorand celina] 6 Y T — <000 | so00 <000 5000
Partition TyDe 161 (20 LF)
w00 “Fie a1 w | s | 0w | e
o .0
1021 (1) laver of 5/f avosum hoard @ both sides| 360 SF 10% 396 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
.6 Ca Sheel Shees | 100
Sandina Disc| FEach 10% $0.00 $0.00 $0.00
%50 Tape ol ol | 10% 5000 5000 $000
Calons| 10
Each | 100 Eoy Eoy Ey
Pounds| 104
Case | 100
= e B
1072 76 WoniSugs @ 16°00] 1 Y T - 000 | T
1023 & batt insulation] 180 SF 10% 198 $0.00 $0.00 $0.00 $0.00
1074 Aooustcalsesant @ foorand celino] 80 |t | 10% | @ 5000 | 000 <000 5000
Partition Type Pﬁo (102LF)
w025 e Ratng: 1 o | s | 0w | om0
o 9%
1026 x 4" Wood Studs @ 24" OC]| 7.182 LE 10% 7900 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
1027 oupsum bosd @ bothsdes] 836 | S¢ |10 | 2020 | 5000 | s0oo | 3000|000 | so00 | 5000 5000
5 o Sheet Sheers | 10% |63
Sandna Disd Each T a0 |12 | som oy Ey
250’ Tane Roll| Rolls. 10% 5. $0.00 $0.00 $0.00
Galons| 106 |1
FEach 10% 4. $0.00 $0.00 $0.00
L7 Dol Scres] Bounds| 106 |11
114 Dol Scrmual 045 | GaseT 0|0
Soonces| 101 [ Egen | 1% |2
1028 infaced fiber alass batt insulation @ bath wmx 1836 SF 10% 2020 $0.00 $0.00 $0.00 $0.00
1020 Fre blodana n a sbace @ 106" 459 | Lt | 1% | 55 5000 | 000 <000 [ 5000
1030 @ floor and ceilina 408 LE 10% 449 $0.00 $0.00 $0.00 $0.00
Fariion Type P GOLF)
1021 Fire Rating 1 a0 | s | ww | o
i 08
Fr St weersugazwos 7o | 1F | % |5 | oo | w0 [ som | sooo | sooo | som Ey
1033 (1) laver of 5/8" tvoe "X" avosum hoard @ both sides| 540 SF 10% | 5o $0.00 | $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
25 o Sheel Shees | 100
Sandina Disc| FEach 10% $0.00 $0.00 $0.00
%50 Tape ol ol | 10% 5000 5000 5000
Calons| 10
Each | 100 Ey Eoy Ey
Pounds| 100
Case | 100
e N Y
Frn S 17" uniaced et s bt mulation @ b sides] 540 | S¢ | 100 | 5o 000 |0 E T
1035 Fire hlockina in air snace @ 100" 135 LE 10% 4 $0.00 $0.00 $0.00 $0.00
ey Aoousical sesant @ oo andcellna] 120 | LF | 10% | 132 %000 | 000 S000 | s000
Partition Type EA (48 LF)
- “Fre @ | s | o | e
o 35
1038 (1) laver of 5/f 164 SF 10% 950 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
706 Sheers| 100
Fach 10% $0.00 $0.00 $0.00
Rols o0 %000 %000 $000
Canlons| 10
Each |00 Ey Ey E
Pounds| 10
Case T o0
o N
g O 7
a0 4 oo Souis @006 216 | tF | 1o6 |z
o S heapine] a5 St | a0w [ —ars
00> o o cermeie iexomin] 4% | 5¢ |10 | 475
T0iz Rcusital sl © oo s cetna] 05|t i |51t
1044 Partion Type 761 1) 2 | s | e | w
o e e e o STt || | w0 | som | soo | oo | som E
oG Shees o | 100
* aneina ] N Ey Ey Ey
250' Tane Rall| Rolls. 10% $0.00 $0.00 $0.00
Galons| 100
Joint Comnaund| Fach 10% $0.00 $0.00 $0.00
L7 Drwual Scres] Bounds| 100
11 Dol Screus Case 109
Fach |00
oy > oo S o 16 00] " 000 |00 T T
1047  Acoustc sound bat nsulaton] 72| S| 10w 7 S000 [ 000 S000 [ so00
oan @ oo i cninal 35|t | o 000 | 000 <000 | 5000
UNIT B-2 (12 EA)
Partition Type I-60 (1164 LF)
1010 “Fve Ratng: 1he wars | sk | | nses
i
1050 (1) laver of 5/8” tvne "X" avnsum hnam @ both sides| 20952 SF 10% 23047 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
"7 G5 Shee 655,00 | Sheets| 100|720
Sandina Disc| 13,1 Fach 10% 14, $0.00 $0.00 $0.00
550 Tave roll 5500 | fols |10 | o050 | 5000 %000 $000
oo Gombound| 105,00 Galions| 105 | 115
45,00 Each [ 104 | 550 | 5000 Ey E
T Drvual Scrmus] 11000 Pouns] 100|121
L Dl Scewsl 657 | Gase | 190 |61
£ = T )
e T oo S e 16 0] _zer1 |t | o | gios T 000 |50
1057 - w6 | s o | e 000 | 000 <000 [ 5000
fre e P S N T Y 000 | —s000 000 | 5000
Pariion Type 161 Q6 )
1056 “Fve Ratng sz | s | | e
oy 910
o EVaver o1 55" e °C awpsum board @ bodsiges] 3624 | S |30 | s | w00 | soo0 | w000 | som | som | w00 oy
Ca S Sheers|10% |10
Sandina Disc| 8 Each 10% 2. $0.00 $0.00 $0.00
520 Tane o ot | 0% | 500 | so0 <000 s000
Toint Compound] Salons| 106 |7
Each 10% 7. $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10% 17.
L Drwal Screna) Case | 10% |0
Spona T T T
o 76 oo S e 16 0] 133 |t [ o | izt 000 |50 5000|5000
1057 - L5171 s | o | a6e | so00 | s000 [ s000 | soo0 | sooo | som .
fre Roousicn sesant @ foor s eeina] 672 | LF | iwe | 730 000 | 000 000 [ so0
Parion ype 162 GB 1)
1050 “Fve Ratng: 1he @ | s | o | e
i
o e P e TP S N 1 O 1 1 oy
5 Sheel 7100 | Sheers| 105 | 2
Sandmu Disc| ach 10% $0.00 $0.00 $0.00
e ol ot | iov <000 <000 s000
Toint Compound] Salons| 100
Each 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
L4 Drwal Screns) Case | 10%
Spona Each | 100
o g oo sua 60| _2ss | 1 [ ow | s T 000 |50
1067 3 7 T T 000 | 000 <000 [ —s000
8 Roousicn sesant @ foorn eeina] 44| LF | iw6 | T 000 | 000 000 [ so0
Pt e P20 G L)
1066 “Fve Raung: 1 i | s | am | as
065 ~rwersuge2ros] 5w | | Is | ws | wow [ s | s | sow | sm | @ Ty
3 TV ver o S e 5 ovosur bard @ both sges] 6.2 STl | om0 [ so00 | sa00 [ s | 5000 | 5000 | som S000
5 Go Sheei| 196,00 | Sheers | 10% | 21560
Sandine el 3 Eacn i w0 w0 )
250’ Tae Roll| 17. Rolls. 10% $0.00 $0.00 $0.00
5500 [Galons! 105
Joint Compound) 14 Each 10% $0.00 $0.00 $0.00
i S Pounds] 0%
C: 10% $0,
Each 10% $0.
057 2 e er g i nsgation © o i T e %o [ wow %o [ w0 s
o o 3 0 B 7 <000 | 000 000 | so00 £
1069 Y T - <000 | s000 <000 | 5000 E
Partition Type P-61 (372 LF)
w10 “Fve Ratng s | o | s
o 04
1071 LE 10% 3683 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
1072 oS e ST 1o |7 | so00 | s000 | s000 | 5000 | sooo | om0 <000
Shee| 10w | 73100
won 104|460 | w000 % Ty
Rolls. 10% $0.00 $0.00 $0.00
Salons| 10
Each 10% $0.00 $0.00 $0.00
Pounds| 10
Case 10% 9 $0.
T T 0
o7 S taced e ol bt sulaion @ b sides] 606 | S | io% | 7366 000 |0 000 |_s0 £
1074 Fye lodana i a space @ 100" 1674 | LF | 0% | 7oa1 <000 | so00 <000 [ 5000 s
075 T T O 0 T 1 000|000 000 | s000 £
Pariion Type E4 08 1)
w076 e g 1 sorz | se | am | ao
o 30
077 Derast s oA @ bom eS| T3 St | woe | s | w0 | som | oo | soo0 | som oy
‘G Shee| 23000 [ Shwers| 10w | 75300
Sandna Dic o | o | s % % Ty
250’ Tane Roll| Rolls. 10% 22. $0.00 $0.00 $0.00
Toint Compound Salons| 106 | o
i Each 10% 17, $0.00 $0.00 $0.00
L7 Dl Scres Pounds| 106 | iz
1-1/4" Drwall Screws| Case 10% 2. $0.
Soonaes T T Y s
o7 20 unfacedfoer ol bt msulaon] 3673 o[ a0 £ s
1070 7 x4 Wood Siuds @ 2400|183 ST o) s s
030 028 sheatina] 3672 0% | inao £ s
2001 Vo sem pemeatie atex v 3672 1o | a0z s s
087 oo an canal 1635 o | iros £ %
1083 Pariion Type F-51 (165 LF) sz | sk | i | e
1084 (1) laver of 5/8" tvoe "X" avbsum board @ one sides| 1512 SF 10% 1663 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
5 G5 Sheel 4300 | Sheers|_10%
Sandina Disc| Each 10% $0.00 $0.00 $0.00
%50 Tave ol Rols | 108 <000 <000 <000
: Calons|_10%
Joint Compound Each | 100 o o oy
vl Sc Pounds| 104
Case | 100
Facn | 0%
055 ST isod 11 Y T T %m [ w0
1086 batt insulation] 1512 SF 10% 1663 $0.00 $0.00 $0.00 $0.00
Joa7 foorandceiina] 672 |t | 105 | 73 <000 | so00 <000 5000




UNIT C-1(6 EA)

Partition TyDe 1-60 (756 LF)
v

1088 ~Fire Rating: 1 6.804 sk 10% 7484
- 90"
1089 1) laver of 57 ‘avosum board @ both sides| 13,608 SF 0% 14969 | 5000 | §000 50,00 $000 | $000 | 5000 50,00
428 GB Sheel| 426,00 | Sheels| _10% | _468.60
‘Sandin Disc| & Each | 10% 50,00 50,00 50,00
250 Tape Roll| 36, Rolls | 10% 3 50.00 50.00 50.00
i ) Gallons| 10% 7
29, Each | 10% 3 50,00 50,00 $0.00
/4" Drvwall Screws| 7. Pounds| 10% 7
114" Drvwall Screws| 3. Case | 10%
s 14, Each | 10% 1
1090 274 Wood Stds @ 16 OC|__5.116 LF 10% 562 50,00 50,00 5000 | 000
1091 Y batt insulation| 6,804 SE 10% 7484 50.00 50.00 5000 | 5000
1092 loor and ceiinal 3,024 LF 10% 3326 50.00 50.00 5000 | 5000
Partition Twe X 51 (192LF)
1093 ~Fire 1728 sk 10% 1901
ity
054 1) aver of 618" voe X" avnsum board @ both sides| 3,456 SF 0% 3802 | 5000 | §000 50,00 $000 | $000 | 5000 50,00
43 GB Sheet| 108 Sheets |__10% 8
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50,00 50,00
Gallons| 10%
ch | 10% $0.00 $0.00 $0.00
Pounds| 10%
Case | 10%
Each | 10% X
1095 26" Wood Studs @ 16 OC|__1.209 LE 10% 1429 $0.00 50,00 5000 | 000
1096 & bat insulation| 1726 SE 10% 1901 50,00 50.00 5000 | 5000
1097 ‘Acoustical sealant @ floor and ceiina] 768 LF 10% 845 50,00 50.00 5000 | 5000
Partition Type 1-62 (18 LF)
1098 Fire Rating: 1 . 162 Sk 10% 178
- Heioht: 9.0
1058 1) aver of 618" voe "X" avnsum board @ both sides| 32 SF 0% 356 $000 | 5000 50,00 $000 | $000 | 5000 50,00
43 GB Shee Sheets |__10%
‘Sandina Disc Each | 10% $0.00 5000 50,00
250 Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons| 10%
ch | 10% $0.00 $0.00 $0.00
T-1/4" Druwall Screws| Pounds| 10%
Case | 10%
Each | 10% X
1100 25" Wood Swds eicoc iz LE 10% 134 $0.00 50,00 5000 | 5000
1101 bat insulation| 162 SE 10% 178 50,00 50.00 5000 | 5000
1102 Acousicaiseiant & foor and ceiina] 77 LF 10% 79 50,00 50,00 5000 | 5000
Partition Type E4 (258 LF)
1103 Fire Rating: 1 2322 Sk 10% 2554
- 9.0
Tioa 0 laver of 5 6 SF 0% 5108 | 5000 | §000 50,00 $000 | $000 | 5000 50,00
14600 | Sheets| _10% | 160.60
2 Each | 10% 3. $0.00 5000 50,00
1 Rolls | 10% 14 50,00 50,00 50,00
2a. Gallons| 10% 2.
10, ch | 10% 11 $0.00 $0.00 $0.00
25 Pounds| 10% 2.
1 Case | 10% 1
Soor ana Each | 10% 5:
[(1105 R-20 unfaced fiber olass ballinsulation] __2.322 S| 10% 2554
(1106 2" 4" Wood Studs @ 24" OC| 161 X 10% 1277
[(1107 OBS sheathinal 2322 s/ 10% 2554
(1108 anor sem narmeable latex paini] 2322 s 10% 2550
109 Acousicatsesant oo and cefing] 032 10% 1135
BUILDING.7 TYPE-3
UNIT A2 (2 EAY
Partition Type 160 (102 LF)
110 018 Sk 10% 1010
EEEEY 1) laver of 5/6" voe "X" avosum board @ both sides| __L5: SF 10% 202 | $000 | 000 50,00 $000 | $000 | 5000 50,00
448 GB Sheel| Sheeis | 10% 63,
Sandina Disc] ch | __10% 1 5000 5000 50,00
250 Tane Roll Rolls | 10% 5: $0.00 $0.00 50.00
Gallons| _10% 1
Fach | 10% 4. $0.00 $0.00 0,00
Pounds| _10% 1
Case | 10% 0;
Each | 10% 2
i1z & Wood Studs @ 16 OC| 690 3 10% 759 $0.00 50,00 5000 | 5000
1113 4" Acoustic sound b insulal 015 SE 10% 1010 50,00 50,00 5000 | 5000
s @ floor and ceilina] 408 i3 10% 449 $0.00 50.00 5000 | 5000
Pariion e 160 (5 15)
1115 Fire Rating: 1 45 sk 10% 50
 bieiaht 210"
1116 1) laver of 5/6" voe X" avosum board @ both sides| o SF 10% G $000 | 5000 50,00 $000 | $000 | 5000 50,00
'\ GR Sheet Sheeis | 10%
Sandina Disc] Each | 10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
e o] Fach | 10% $0.00 $0.00 50,00
Soi Pounds| _10%
Case | 10%
Each | 10%
17 2”& Wood Studs @ 16" 0C] 3 10% 3 $0.00 50,00 5000 | 5000
1118 4" Acoustic sound b insulal a SE 10% 5 50,00 50,00 5000 | 5000
110 floor and ceilina| 6 i3 10% 7 $0.00 50.00 5000 | 5000
Partition Type 161 (28 LF)
1120 ~Fire Rating: 1 hr. 252 sk 10% 217
- v
1121 ) laver of 5/8" voe "X" avosum board @ both sides| SF 10% 55 $000 | 5000 50,00 $000 | $000 | 5000 50,00
448 GB Sheel| Sheeis | 10% 7
Sandina Disc] ch | __10% 5000 5000 50,00
250 Tane Roll Rolls | 10% $0.00 $0.00 50.00
Gallons| _10%
Joint Comnound] Fach | 10% $0.00 $0.00 0,00
11/4" Drvwall Screws| Pounds| _10%
1-1/2" Drwwall Screws| Case | 10% ¥
Each | 10% 5
1122 26" Wood Studs @ 16 OC| T3 10% 208 5000 50.00 5000 | 000
1123 6" Acousiic sound batt insulati 5 SE 10% 277 50.00 50.00 5000 | 5000
1124 floor and celing v T3 10% 123 50,00 50.00 5000 | 000
Pariition Type P-60 (64 LF)
125 ~Fire Rati 756 sk 10% 832
- Heioht: 9.0
1126 2" & Wood Studs ® 24" OC|___756 13 10% 532 $000_| 5000 50,00 $000 | $000 | 5000 50,00
1121 1) laver of 5/8" tvbe "X” avosum board @ both sides| 1512 SF 10% 1663 | $0.00 | $0.00 50.00 $000 | $000 | 5000 50,00
B Sheet| a8 Sheets | __10% 5
Sandina Disc| 0 Each | 10% $0.00 5000 $0.00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Compound| Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1-1/4" Drwall Screws| Pounds| _10%
1-1/4” Drwall Screws| Case | _10%
Soonaes| Each | 10% 1
1128 3 1/2" unfaced fiber olass bait insulation @ both sides| 1512 Sk 10% 1663 $0.00 50,00 $000 | 5000
1129 e blockina in air soace @ 10-0"] 378 LF 10% 416 50,00 50,00 5000 | 5000
1130 ‘Acoustical sealant @ floor and ceilina] 336 T3 10% 370 50.00 50.00 5000 | 5000
Partition Type P-61 (30 LF)
1131 ~Fire Rating: 1 270 sF 10% 207
1132 & Wood Studs @ 24" OC| 270 T3 10% 257 $000 | §000 50.00 $000 | $000 | $000 50,00
1153 5 laver of 5/8" voe "X" avosum board @ both sides| b SF 10% 5 5000 | 5000 50.00 5000 | 5000 | 5000 50.00
48 GB Sheet] Sheets | 10% 0
Sandina Disc] Each | 10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| _10%
1-1/4" Drwall Screws| Case | 10%
‘Soonaes| Each | _10% | 06
1132 3 1/2" unfaced fiber alass batt insulation @ both sides| 0 SF 10% 504 5000 50.00 5000 | 000
1135 Fire blocking in ai space @ 10-0'] 135 LE 10% 149 50.00 50.00 5000 | 5000
1136 floor and ceiina] 120 T3 10% 132 50,00 50.00 5000 | 000
Partiion Type E-4 (48 LF)
1137 ~Fire Rating: 1 . 432 sk 10% 475
- Heioht: &
1158 1) laver of 5/8" voe "X" avosum board @ both sides| SF 0% | o5 $000_| 5000 50,00 $000 | $000 | 5000 50,00
48 GB Shee Sheets | 10%
Sandina Disc] Each | _10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% $0.00 50,00 50.00
Gallons| _10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Dwall Screws| Pounds| _10%
114" Drvwall Screws] Case | 10% 50
‘Soonar Each | 10% 50
139 R-20unfpced Toer ol bt sulaion]_432 10% 475 50 50
[(1140 " xa" Wood Studs @ 24" OC|___216 10% 238 S0 50
141 05 sheatina 43 10% a75 s0. 50
122 Vanor semi nermeable latex oaint] 432 10% 75 50, 50
143 floor and ceilina| 102 10% 211 s0. 50
104 St o6 ] st | 1% 7
1145 (1) laver of 5/8" voe "X" avbsum board @ one sides| 7 10% 7 5000 | 000 50,00 5000 | $000 | 000 $0.00
438 G Sheel| Sheets | 10%
Sandina Disc] ach | 10% 50.00 50,00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% 50,00 $0.00 50,00
1.1/4" Drwall Screws| Pounds| _10%
1-1/a" Drvwall Screws] Case | 10% 50
Each | 10% 50,
1146 4 Wood Suds @16 0C] 5 e 10% 50,00 50.00 $000 | 5000 50
1147 7. SF 10% 7 50.00 50,00 5000 | 5000 50
1108 @ floor and ceiina| 3 T3 10% 50.00 50.00 5000 | 5000 50
UNIT A3 (2 EAY
Parition Type 160 (136 LF)
1149 ~Fire Rating: 1 . 1224 SF 10% 1346
- Heioht: 9.0
1150 0 laver of 5 ‘avosum board @ both sides| 2.4 SF 10% 2693 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
48 GB Sheetl 7 Sheets | 10% 84
‘Sandina Disc] Eac 10% 1 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 7 50.00 50.00 50.00
i Gallons| _10% 14
Joint Compound Each | 10% 3 50,00 50,00 $0.00
T1/4" Drvwall Screws| Pounds| _10% 14,
114" Drvwall Screws] Case | _10% [ S0
s Each | 10% 2 50
1151 2" & Wood Studs @ 16 OC| 620 T3 10% 1012 50,00 50,00 5000 | 000 50
1150 ; bat insulation| _1.224 SE 10% 1346 50.00 50.00 5000 | 5000 50
1153 tical sealant @ fioor and celling LF 10% 598 50.00 50.00 5000 | 000 50
Fartion yoe 150 (6179
1154 Fire Rating 45 sk 10% 50
- Heiaht: 210
1155 0 e of S e s bt @ bt s SF 10% 00 $000 | 5000 50,00 $000 | $000 | 5000 50,00
' GB Sheet Sheets |__10%
fani ] Each | 10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
i Gallons| _10%
Each | 10% 50,00 50.00 $0.00
/4" Drvwall Screws| Pounds| 10%
1-1/4” Drwall Screws| Case | 10%
oonaes| Each | 10%
1156 2" & Wood Stds @ 16 0C|___3: LF 10% 3 50,00 50,00 5000 | 000
1157 7 batt insulation| 45 SE 10% 5 50,00 50.00 5000 | 5000
1158 floor and ceilina] __6: LF 10% 7 50.00 50.00 5000 | 5000




Partition TyDe X 51 (20LF)

1159 ~Fire 180 sE| 0% 198
piekirsdy
Tie0 1) laver of 5 a6 sF | 1% 39 $000 | $000 | s000 $000 | $000 | s000 50,00
Sheeis | 10%
Each | 10% $0.00 $0.00 50,00
Rolls | 10% 50.00 50.00 50.00
Gallons| _10%
Each | 10% 50,00 50,00 30,00
Pounds| 10%
Case | 10%
Each | 10%
1161 256 Voo Suds ©15°0C 3 10% 4 5000 | 5000 5000 | 5000
1162 batt insulation| 180 sF | 10w 108 5000 | s0.00 5000 | s0.00
1163 floor and ceilina] 80 i3 10% 3 5000 | 5000 5000 | 50.00
Partition Type PW (102 LF)
1164 Fire Rating: 1 918 sE| 0% 1010
- Heaht
Ties x4 Wood Studs @ 24 0G| 7182 i3 0% 7900 | s000 | 000 | 5000 $000 | $000 | s000 50,00
1166 1) laver of §/8" vpe X" avosum board @ both sides| 1836 SE | 10% 2020 | $0.00 | $0.00 | 50.00 5000 | 5000 | 5000 50,00
& GR Sheet Shees | 10% 6.
‘Sandina Disc| ch | 10% 1 5000 5000 30,00
950 Tane Roll Rolls | 10% 5. 50.00 50.00 50.00
Gallons| _10% 1L
Each | 10% 4 $0.00 $0.00 50,00
T04" Drvwall Screws] Pounds| _10% 1
112" Drvwall Screws| 7 Case | 10% 0.
noes| 91 | Each | 10% 2
Tier infaced fiber olass battinsulation @ both sides| 1836 sE | 1% 2020 $000 | 50,00 $000 | s000
1168 Fite blocking in air space @ 10-0"] 450 13 10% 505 5000 | 50.00 5000 | 50.00
1160 @ floor and ceiina] 408 13 10% 249 $0.00 | 50.00 5000 | s0.00
Partiion Type P-61 (30 LF)
170 Fire Rating: 1 hr. 270 sFo| 0% 207
 Heinh 90
171 2" x4 Wood Studs ® 24 0C|___270 i3 0% 207 $000 | 5000 | 8000 $000 | 5000 | 5000 30,00
17 1) laver of 518" tvoe X" avnsum hoard @ both sides| 540 sE | 10% o $0.00 | $000 | s0.00 5000 | $000 | 5000 50.00
8 GB Sheel Sheeis | 10%
Sandina Disc Each | 10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50,00
Gallons| 10%
ch | 10% 5000 5000 30,00
Pounds| 10%
Case | 10%
Each | 10% X
1175 3 12" unfaced fiber alass batt insulation @ both sides| SE | 10% o $000 | 5000 5000 | 5000
1174 Fite blocking in air space @ 10-0"] 135 i3 10% 4 $0.00 | 50.00 5000 | s0.00
1175 “Acoustical sealant @ floor and ceilina] 120 i3 10% 132 5000 | 50.00 5000 | 50.00
Partition Type E-4 (48 LF)
176 - Fire Rating a3 sF| 0% a5
- Heioht: 9.0
177 1) laver of 518" tvoe "X" avnsim baard @ both sides| 64 sF | 1w 550 $000 | $000 | s000 $000 | $000 | s000 50,00
428 GB Sheel| Sheeis | 10%
Sandina Disc Each | 10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50,00
i Gallons| 10%
Each | 10% 5000 5000 30,00
11" Drvwall Screws| Pounds| 10%
L4 Owal Sorews Case | 10%
Soor Each | 10% X
1178 120 ufaced Ther s bt msulannn 432 si 10% 75
1179 x4 Wood Studs @ 24" 0G| 216 v 10% 238
1180 58S sheaina a3 si 10% 75
1181  semi nermeble latex naint] 432 si 10% 75
1182 “Acoustical sealant @ floor and ceilina] 102 x 10% 211
1183 P:':‘I:‘:‘:' :V_W FoL@ELR) 72 SF 10% 79
1184 (31 laver of 518" tvoe "X" ovosum board @ one sides| 7 SF | 0% 7 $000 | $000 | %000 $000 | 5000 | 5000 0,00
438 GA Sheer] Sheers | 10%
‘Sanding Disc| ch | 10% $0.00 $0.00 50,00
950 Tane Roll Rolls | 10% 50.00 $0.00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 50,00
Pounds| 10%
Case | 10%
Each | 10%
Tims x4 Wood Studs @ 16 OC|___5 i3 10% $000 | 5000 5000 | 5000
1186 & Acoustc sound bat insulati 72 SE | 10% 7 5000 | 50,00 5000 | 5000
T1a7 @ floor and ceiina] 32 i3 10% $0.00 | 50.00 5000 | 50.00
UNIT B-2 (16 EA)
Partition Type 160 (1552 LF)
1188 Fire Rating: 1 . 13968 | SF | 10% 15365
- beiant
Tim 0\ laver of 518" tvoe X" avnsum hoard @ hoth sides| 2793 | SF | 0% | 30730 | 5000 | $000 | 50,00 $000 | $000 | $000 50,00
438 GB Sheel| 873 Sheets | 10% | 060.
Sandino Dise] _ 17.46 Each | 10% 19 $0.00 $0.00 50,00
e Roll_7: Rolls | 10% s0. 50.00 50.00 50.00
Toint Comnound| 1 Gallons| _10% | 154,
Each | 10% 66. $0.00 $0.00 0,00
12" Drvwall Screws| 1. Pounds| 10% | 161
114" Drvwall Screws] 4 Case | 10% 5.1
‘Snana Fach | 10% 32.00
1150 2 A" Wood Swds @ 16" 0| 10502 i3 10% 11552 $000 | 50,00 $000 | 5000
1101 bat insulation| 13968 | SF | 10% 15365 $0.00 | 50.00 5000 | 50.00
1102 “Acoustcal sealant @ floor and ceilina] 6,208 i3 10% 6629 5000 | 50,00 5000 | 5000
Pariiion Type 161 (224 LF)
1103 Fire Rating: 1 . 2016 sF| 0% 2218
- Heiaht: 0
Tioa 1) laver of 518" tvoe 20w S| 1% 2235 | 000 | $000 | 000 $000 | $000 | 8000 50,00
12600 | Sheets| 10% | 138,60
) Each | 10% 7 $0.00 $0.00 50,00
11 Rolls | 10% 50.00 50.00 50,00
Gallons| _10%
ch | 10% $0.00 $0.00 30,00
Pounds| 10%
Case | 10%
‘Snana Fach | 10% X
1155 26" Wood Studs @ 16" OC| 1516 13 10% 166: $000 | 50,00 $000 | 5000
1106 & 2016 SE | 0% 2218 5000 | 50,00 5000 | 50.00
1107 “Acoustcal sealant @ floor and ceilina| 896 i3 10% 686 5000 | 50,00 5000 | 50.00
Partition Type 162 (48 LF)
1108 Fire Rating: 1 . 432 sFo| 0% 475
1109 0 e S5 e ovsum board @ bothside] ¢ SE | 1% | o0 $000 | $000 | $000 $000 | $000 | 5000 50,00
B Sheell 2700 | Sheets | 10%
* Sancina D] ach | 10% $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| 10%
Each | 10% $0.00 $0.00 50,00
104" Drvwall Screws] Pounds| 10%
1-1/a" Drvwall Screws] Case | 10%
Soonaes| Each | 10% |
1200 28 Wood Studs @ 16" OC| 25 13 10% 357 $000 | 50,00 $000 | 5000
1201 & 132 SE | 10% 75 5000 | 50,00 5000 | 50.00
1202 ‘Acoustcal sealant @ floor and ceilina] 102 i3 10% 211 5000 | 50,00 5000 | 50.00
Pariion Type P20 (464 L)
1203 Fire Rating: 4176 sFo| 0% 594
1204 X4 Wood Studs @ 24" OC| 4176 13 0% 4592 | $000 | $000 | $000 $000 | $000 | 5000 50,00
1205 1) laver of 5/8" tvoe “X" avosum board @ both sides| 8.3 SE | 0% o167 | $0.00 | $0.00 | 50.00 $0.00 | 5000 | 5000 50.00
438 GB Sheet] 26100 | Sheeis| 10% | 287.10
Sanding Dis Each | 10% 7 $0.00 $0.00 50,00
250" Tape Roll| __22. Rolls | 10% $0.00 $0.00 50,00
2 Gallons| _10%
Joint Compound| 18 Each | 10% $0.00 $0.00 0,00
104" Orvwall Screws| 44, Pounds| 10%
114" Drvwall Screws] c: 10% 4
Soonaes| Each | 10% o5
1206 3 112" unfaced fiber alass bait nsulation @ both sides| _8.352 SE | 0% 9187 $000 | 5000 5000 | 5000
1207 Fite blocking in ai space @ 10-0"] 2,088 i3 10% 2267 5000 | 50,00 5000 | 5000
1208 floor and ceiina] 1856 13 10% 2042 $000 | 50,00 5000 | 5000
Partiion Type P-61 (496 LF)
1208 Fire Rating: 1 . 464 sF| 0% 4910
- Height: 9-0'
1210 Vool Sus @2 oC__adot i3 0% 4510 | $000 | $000 | 000 $000 | 5000 | 5000 50,00
1211 5 e S5 e X v board @ bothsides] 3926 SE | 10% 9821 | 5000 | $000 | 50,00 5000 | 5000 | 5000 50.00
B Sheell 279.00 | Sheets | 10% | 30690
Sandino Disc] 5 ach | 10% 1. $0.00 $0.00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| 10%
Each | 10% $0.00 $0.00 50,00
10" Drvwall Screws] Pounds| 10%
112" Drvwall Screws] Case | 10% &
Soonaes| Each | 10% 2
1 3 112" unfaced fiber olass batt insulation @ both sides| 8.928 sE | 10% 9521 $000 | s0.00 $000 | s000
1213 Fire blocking in air space @ 10-0°] 2232 13 10% 2455 5000 | 5000 5000 | 5000
1211 @ floor and ceiina] 1984 13 10% 2162 5000 | 50,00 5000 | s0.00
Parion Tpe £4 544LF)
1215 - Fe Rai 489 sFo| 0% 5386
iht- .0
1216 D) laver of 5 ‘avosum board @ both sides| _ 9.792 SF | 10% 107 $000 | $000 | 50,00 5000 | $000 | 000 30,00
428 GB Sheet] 306,00 | Sheets| 10% 36.60
‘Sanding Disc| Each | 10% 7 50,00 50,00 0,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
i Each | 10% $0.00 $0.00 50,00
10" Drvwall Screws] Pounds| 10%
112" rvwall Screws] Case | 10% 50
‘Soonaes| 2 h | 10% 22 50
217 720 nfacd et dss bt inslalon]_4.595 10% 5366 50 s0.
1218 " Wood Studs @ 24 O 448 10% 2608 S0 50
1210 OBS sheathina] 4896 10% 5386 s0. s0.
1220 Vasor semi permeable latex paint] 4,896 10% 5386 S0 50
1921 @ floor and ceilina 176 10% 2354 s0. s0.
1222 Partion Type 61 (224 LF) 2016 SF 10% 2218
1773 (1) laver of 518" tvoe X" avosum board @ one sides| 2016 sF | 10w 2216 | s000 | 000 | 5000 $000 | 5000 | $000 50,00
48 GB Sheel| 63, Sheeis | 10%
Sandina Dise] 1 Eac 10% $0.00 $0.00 50,00
250 Tape Rolll 6. Rolls | 10% 50.00 50.00 50,00
i 1 Gallons| _10%
Joint Compound[ 5. Each | 10% 5 $0.00 $0.00 30,00
11 Pounds| 10%
o Case | 10% 5 50
210 | Each | 10% s0.
1222 24" Wood Studs oo ia 3 10% 1667 5000 | 5000 5000 | 5000 50,
1225 batt insulation| 2016 sE | 10% 2218 $000 | s0.00 5000 | s0.00 s0.
1226 Acoustical sealant @ floor and ceilina| 896 13 10% 986 5000 | 5000 5000 | 50.00 50
UNIT C1 (4 EAY
Partition Type 160 (504 LF)
1227 Fire Rating: 1 hr. 45% sFo| 0% 4990
1228 1) laver of 6/8" tvoe X" avosum board @ both sides| 9,072 SF | 1o% 997 | 5000 | $000 | 5000 5000 | $000 | 000 0,00
438 GB Sheet] 284.00 | Sheets| 10% | 312.40
‘Sanding Disc| ach | 10% 2 50,00 50,00 50,00
250 Tave Roll Rolls | 10% 50.00 50.00 50.00
Joint Comoound| Gallons| _10%
i Each | 10% $0.00 $0.00 50,00
T.04" Drvwall Screws] X Pounds| 10%
112" brvwall Screws] 4 Case | 10%
aes| Each | 10% A
v i Vool S @ 16" 0c]_— a1t | et | tow |7 000|500 S50 | w000
1230 - [ 53 SE | 10% 4990 5000 | 5000 5000 | 50.00
1231 @ floor and ceiino] 2016 13 10% 2218 5000 | 50.00 5000 | s0.00




Partition Type |-61 (128 LF)
Lhr

1232 - Fire Rating 1152 sF 10% 1267
- Heiaht: 9.0"
1233 1) aver of 5 230 SF 0% 253 | 5000 | $000 $0.00 $000 | $000 | $0.00 $0.00
Sheets | __10% 7
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50.00 50.00 50.00
Gallons | 10%
Each | 10% 50,00 50,00 $0.00
Pounds | 10% 1a,
Case | _10% 0
Each | 10% 2
1234 2" X6 Wood Studs @ 16° OC] 6 LF 10% 953 50,00 50,00 50,00 50,00
1235 6" bat insulation| 1157 SE 10% 1267 50.00 50.00 5000 | $0.00
1236 floor and ceilina] 512 LF 10% 563 50.00 50.00 50.00 50.00
Partition Type 1-62 (12 LF)
1237 - Fire Rating: 1 hr. 108 sk 10% 19
- Helht
1238 1) Iaver of 5/8" tvne "X" avosum hoard @ both sides| 21 SF 0% 238 $000 | $0.00 $0.00 $000 | $000 | $000 $0.00
43 GB Shee Sheets |__10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
174" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | 10%
Soon Each | 10%
1239 2 x8 Wood Studs @ 16°0c| 8 LE 10% $0.00 50,00 50,00 50,00
1240 y bat insulation| 108 SE 10% 1 50.00 50,00 5000 | $0.00
1241 “Acoustical sealant @ floor and ceilina] 48 LF 10% 50,00 50,00 50.00 50.00
Partition Type E-4 (172 LF)
1242 - Fire Rating: 1 hr. 1548 Sk 10% 1703
- Heiaht
1223 1) Iaver of 5/8" tvne "X" avosum hoard @ both sides| 3006 SF 10% 3406 | 5000 | $0.00 $0.00 $000 | $000 | $000 $0.00
43 GB Shee Sheets | _10% 106.70
‘Sandina Disc| Each | 10% 2. $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% o 50,00 50,00 50,00
i T Gallons | 10% 17.
ch | 10% 7 $0.00 $0.00 $0.00
1-1/4" Dwall Screws| 17 Pounds | 10% 18,
1-1/4" Drvwall Screws| 0. Case | 10% 0
Soonces| 3 Each | 10% 3:
7] R-20 unfaced fiber olass ballinsulation] 15 S| 10% 1703
5 2" x&" Wood Studs @ 24" oc| 772 L 10% 851
6 0BS sheathina|__1.54: s/ 10% 1703
7 Vanor semi nermeable latex paint| 1548 si 10% 1703
8 ‘Acoustical sealant @ floor and ceilina] 688 10% 757
UNIT C-2 (2 EA)
Partiion Type 60 (252 LF)
1249 - Fire Rating: 1 hr. 2268 Sk 10% 2495
- Heinht 0"
1250 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 536 S 10% 4590 | $000 | $000 50,00 $000_| 5000 50,00 $0.00
/46 GB Sheet| 14200 | Sheets | 10% 156.20
‘Sandina Disc] Each | _10% 3.1 $0.00 $0.00 $0.00
250 Tane Roll| 1 Rolls | 10% 13, 50,00 50,00 50.00
Gallons| __10% 25
i T Each | 10% 11, $0.00 $0.00 $0.00
1.1/4" Drwall Screws| 24, Pounds| _10% 26
11/4" Drvwal Screws| 1 Case | 10% 13
naes| 4. Each | 10% 5.2
1251 274" Wood Studs @ 16'OC| 1705 T3 10% 1876 $0.00 $0.00 $000 | 5000
1252 4" Acoustic sound ballinsulation] __2.268 SE 10% 2495 50,00 50,00 50,00 50,00
1253 @ floor and ceilina|__1.008 T3 10% 1100 50,00 50.00 50.00 50.00
Partiion Type 161 (36 LF)
1250 - Fire Rating: 1 hr. 324 sk 10% 356
- v
1255 (1) laver of 5/8" tvoe "X" avosum board @ both sides| 64 SF 10% iE $000 | 5000 50,00 $000 | $000 | 5000 50,00
23 GB Sheel] 21 Sheets | 10% z
‘Sandina Disc] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
Each | 10%
1256 2" 6 Wood Studs @ 16" OC| 14 T3 10% 268 $0.00 50,00 50.00 50.00
1257 & Acoustic sound batt insulati 24 SE 10% 356 50,00 50,00 5000 | 5000
1258 @ floor and ceilino) 48 T3 10% 158 50,00 50.00 50.00 50.00
Partiion Type 162 (8 LF)
1259 - Fire Rating: 1 hr. 72 Sk 10% 79
- Hieinht 0.
1260 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SF 0% | 158 $000 | 5000 50,00 $000 | $000 | 5000 50,00
L3 GR Shee| Sheets | 10%
‘Sandina Disc] ch | __10% 5000 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
rvwall Screws| Pounds| _10%
Drvwiall Screws| Case | 10%
oonaes| Each | 10%
1261 2 X8 Wood Suds @ 16'0C| 54 T3 10% 6 $0.00 50,00 50.00 50.00
1262 & Acoustic sound bat insulati 2 SE 10% 7 50,00 50,00 5000 | 5000
1263 @ floor and ceilina| 37 T3 10% 3 50,00 50.00 50.00 50.00
Partiion Type P-60 (24 LF)
1264 - Fire Rating: 1 hr. 216 sk 10% 238
- Hieinht 0.
1265 2" 4" Wood Studs @ 24" OC| __216 13 10% 238 $000 | 5000 50,00 $000 | $000 | 5000 50,00
1266 1) laver of 5/8" fvne. 43 SF 10% | ars $000 | $0.00 50.00 $000 | $0.00 50.00 50.00
14 Sheets | __10%
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50,00 50,00 50,00
Gallons | 10%
Each | 10% $0.00 $0.00 50,00
Pounds| _10%
< 10%
Fach | 10% | o:
1267 3 172" unfaced fiber olass batt insulation @ both sides| 43 Sk 10% a75 5000 50,00 $000 | 5000
1268 blockina n air space @ 10-0°7 108 LF 10% 119 50,00 50.00 50.00 50.00
1269 ‘Acoustical sealant @ floor and ceilina] 96 T3 10% 106 $0.00 50.00 5000 | 5000
Partition Type P-61 (38 LF)
1270 - Fire Rating: 1 hr. 342 sF 10% 376
1271 2" x4 Wood Studs @ 24" OC] 2 T3 10% 376 $000 | 5000 50.00 $000 | §000 50.00 $0.00
1272 (1) laver of 5/8" tvoe "X" avosum board @ both sides| SE 10% 752 $000 | $0.00 50.00 $000 | $000 | $0.00 $0.00
48 GB Sheet] Sheets | _10% 24.20
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drvwall Sc Pounds| 1%
1-1/4" Drwall Screws| C 10%
Soona Each | 10%
1273 3 1/2" unfaced fiber alass batt insulation @ both sides| SF 10% 752 5000 50.00 50.00 50.00
1274 Fire blockina in air soace @ 10-0° 171 T3 10% 188 50.00 50.00 5000 | 5000
1275 fioor and ceiina] 152 T3 10% 167 | $000 | $0.00 000 | $0.00 | $0.00 50.00 X
BUILDING-1A
BUILDING-2 & 3 (2 EA)
Partiion Type E-6 (84 LF)
1276 - Fire Rating: 1 hr. 980 sF 10% 1078
- Heiaht: 11
1277 2 X6 Wood Studs @ 16°OC| 737 T3 10% 811 $000 | 5000 50.00 $000 | §000 50.00 $0.00
1278 (1) laver of 5/8" tvoe "X avosum board @ one sides| SE 10% 1078|5000 | $0.00 50.00 $000 | $000 | $0.00 $0.00
48 GB Sheet] Sheets | 10% 0
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| 1%
-1/4” Drvwall Screws| C 10%
Soona Each | 10% 2
1279 6" R-20 unfaced fiber alass 980 SF 10% 1078 5000 50.00 50.00 50.00
1280 OBS sheathina|___080 SE 10% 1078 50.00 50.00 5000 | 5000
1281 Vanor semi permeable latex paint|___980 SF 10% 1078 50,00 50,00 50.00 50.00
1287 ‘Acoustical sealant @ floor and ceilina] 336 T3 10% 370 50.00 50.00 5000 | 5000
Partition Type E-6 (174 LF)
1283 - Fire Rating: 1 hr. 2,059 sF 10% a465
- Heiaht: 23
1288 2" x6" Wood Studs @ 16" 0C| 3,052 T3 10% 3357 | 5000 | $000 50.00 $000 | §000 50.00 $0.00
1285 (1) laver of 5/8" tvoe "X avosum board @ ane sides| 405 SE 10% 4465 | $0.00 | $0.00 50.00 $000 | $000 | $0.00 $0.00
48 GB Sheet| 127.00 | Sheets| 10% 139.70
Sandina Disc| 2 Each | 10% 7 $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i 1 Gallons|__10%
Joint Compound Each | 10% 50.00 50,00 $0.00
22 Pounds| _10%
Case | 10% S0
‘Soonaes| 2 Each | 10% 4. S0
1286 R-20 unfaced fiber alass battinsulation] 405 S 10% 2465 50,00 50,00 50,00 50,00 50
1287 S sheathina] 4050 SE 10% 4465 50,00 50.00 5000 | $0.00 S0
1288 Vanor semi oermeable latex paint]___4.059 SF 10% 2465 50.00 50,00 50.00 50.00 50
1289 @ floor and ceilina|___696 T3 10% 766 50,00 50.00 5000 | $0.00 S0
Partition Type E-6 (128 LF)
1290 - Fire Rating: 1 hr. 576 sk 10% 634
- Heiaht: 4.6
1201 6 Wood Studs @ 16°0C| 433 T3 10% 76 5000 | 000 50,00 5000 | 000 50,00 $0.00
1297 (1) laver of 5/8" tvoe "X avosum board @ ane sides| __57¢ SE 10% 63 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee Sheets |__10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50.00 50,00 $0.00
rvwall Screws| Pounds| _10%
1-1/4” Drwall Screws| Case | 10% S0
Each | 10% S0
1293 R-20 unfaced fiber alass batt insulation] 576 S 10% 634 50,00 50,00 50,00 50,00 50
1204 OBS sheathina|___576 SE 10% 634 50,00 50.00 5000 | $0.00 S0
1295 Vanor semi permeable latex paint|___576 SF 10% 634 50.00 50,00 50.00 50.00 50
1296 @ floor and ceilina|___512 T3 10% 563 50,00 50.00 5000 | $0.00 S0
Partition Type E-6 (156 LF)
1207 - Fire Rating: 1 hr. 1743 sk 10% 1017
- Heioht 112"
1298 2" X6 Wood Studs @ 16" 0C| 1310 T3 10% TaaL 5000 | 000 50,00 5000 | $000 50,00 $0.00
1299 (1) laver of 5/8" tvoe "X avnsum board @ one sides| 1743 SE 10% 1917 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
48 B Sheet] Sheets |__10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50,00 50,00 $0.00
11/4" Drvwall Screws| __1¢ Pounds| _10% 1
1-1/4" Drwall Screws| Case | _10% o S0
Soonaes| Each | 10% 2 S0
1300 R-20 unfaced fiber alass battinsulation] 174 S 10% 101 50,00 50,00 50,00 50,00 50
1301 OBS sheathina|___1743 SE 10% 1917 50,00 50.00 5000 | 5000 S0
1302 Vaor semi permeable latex paint]___1.743 SF 10% 1017 50.00 50,00 50.00 50.00 50
1303 @ floor and ceilina|___624 T3 10% 686 50,00 50.00 5000 | $0.00 S0
Partition Type E-6 (60 LF)
1304 - Fire Rating: 1 hr. 1352 sk 10% 1488
- Heinht- 27"
1305 2 X6 Wood Studs @ 16'OC| 1017 T3 10% 1116 5000 | 000 50,00 5000|000 50,00 $0.00
1306 (1) laver of 5/8" tvne "X avnsum board @ one sides| 1357 SE 10% 1483 | 50.00 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Sheet] 4300 | Sheets| _10% 47.30
Sandina Di 085 Each | 10% 0.93 $0.00 $0.00 $0.00
250 Tave Rolll___4.00 Rolls | 10% 240 50.00 50.00 50.00
i 700 | Gallons| _10% 7.10




200 Fach | 10% 330 $0.00 $0.00 3000
12/4" Drvwall Screws| 800 | Pounds|  10% 8.80
1-1/4" Drvwall Screws| _0.36 Case | 10% 0.40
naes| _1.41 Each | 10% 155
1307 R-20 unfaced fiber olass batt insulation| __1.352 SE 10% 1488 $0.00 5000 $0.00 $0.00
1308 OBS sheathina| __1.352 SE 10% 1488 $0.00 50.00 $0.00 $0.00
1309 Vanor semi nermeable latex naint]| __1.352 SE 10% 1488 $0.00 50.00 $0.00 $0.00
1310 floor and ceiling LF 10% 264 $0.00 50.00 $0.00 $0.00
Partition Type E-i 7 (84LF)
1311 - Fire Rating: 1 1,708 SF 10% 1878
- Heiaht: 204"
1312 (1) laver of 5/8" tvoe "X avosum board @ one sides| 1708 SE 0% 1878 $000 | $000 5000 $000 | $000 $0.00 5000
48 GB Sheet] _54. Sheets | 10% 0
‘Sandina Disc] Each | 10% $0.00 $0.00 5000
250 Tape Roll Rolls | 10% $0.00 $0.00 50.00
i Gallons | 10%
Each | 10% $0.00 $0.00 5000
1-1/4" Drvwall Screws| Pounds | 10%
124" Drowel Serews| Case | 10%
Soor 1 Fach | 10% X
1313 6" R20 unfaced et lass bl viion] 1708 S| 10% 1878
1314 X6" Wood Studs ® 24" OC| B4 X 10% 939
1315 S sheathino] 1708 S| 10% 1878
1316 r semi nermeable latex naint|__1.708 S| 10% 1878
1317 ‘Acoustical sealant @ floor and ceilina] 336 10% 370
Partition Type E-) 7 (400 LF)
1318 - Fire Rating: 1 17,600 SF 10% 19360
Py
1310 (1) laver of 5/8" tvoe "X avosum board @ one sides| 17600 SE 10% 19360 | §000 | $0.00 $0.00 $000 | s000 $0.00 $0.00
48 GB Sheet] 550 Sheets | 10% 605.
‘Sandina Disc] Each | 10% 12 $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% 50 $0.00 $0.00 30.00
Gallons | 10% %
Each | 10% a1 $0.00 $0.00 5000
Pounds | 10% 102
Case | 10% 5.1
1 Fach | 10% 201
1320 6 R20 uniaced et clss bat nsiaion]__17.600 S| 10% 19360
1321 x6" Wood Studs ® 24" OC| 8800 X 10% 9680
1322 S sheathino] 17600 S| 10% 19360
1323 nor semi nermeahle latex naint|_17.600 S| 10% 19360
1324 oot soatan @ oo ans s 1500 10% 1760
Partition Type E 7 (134 LF)
1325 -Fie Ralog; 1 2205 SF 10% 2469
- i
1326 1) laver of 55" voe ™" ovnsim board @ one sides| 2745 SE 10% 2460 $000 | $0.00 $0.00 $000 | s000 $0.00 $0.00
48 GB Sheet] 7 Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% $0.00 $0.00 50.00
Gallons | 10%
ch | 10% $0.00 $0.00 5000
Pounds | 10%
Case | 10%
Soor Fach | 10% X
1327 6" R-20 unfaced fiber olass battinsulation| 2,245 S| 10% 2469
1328 2" x 6" Wood Studs @ 24" 0G| 1.122 X 10% 1234
1329 OBS sheathina| 2,245 S| 10% 2469
1330 /anor semi nermeable latex nain| 2245 S| 10% 2469
1331 oot seaian @ foor s sl o35 10% 590
Partition Type E-7 (156 LF)
1332 - Fire Rating 1,560 SF 10% 1716
- Heiaht: 100"
1333 (1) laver of 5/8" tvoe "X avosum board @ one sides| 1560 SE 10% 716 $000 | $000 $0.00 $000 | $000 $0.00 $0.00
438 GB Sheet] 4 Sheets | 10% 5:
‘Sandina Disc] Fach | 10% $0.00 $0.00 $0.00
250 Tae Roll Rolls | 10% $0.00 $0.00 5000
Joint Gomnaund] Gallons | 10%
Each | 10% $0.00 $0.00 5000
1-1/4" Drvwall Screws| Pounds | 10%
L4l e Case | 10%
Snor Fach | 10% §
1334 6°R20 unfaced her cless bt jaion| 1560 S| 10% 1716
1335 X6 Wond Studs ® 24" OC| 670 L 10% 73
1336 OBS sheathina| __1.560 S| 10% 1716
1337 Semi nermeable latex naint] 1560 S| 10% 1716
1338 ‘Acoustical sealant @ floor and ceilina] 624 L 10% 686
Partition Type E-8 (128 LF)
1339 - Fire Rating: 1 hr. 2518 SF 10% 2770
- Heioht 197 3/a"
1340 (1) laver of /3" tvoe "X avosum board @ one sides| 2518 SE 10% 27, $000 | $0.00 $0.00 $000 | $000 $0.00 $0.00
GB Sheel 70 Sheets | 10% 86
‘Sandina Disc] 5: Fach | 10% 1 $0.00 $0.00 $0.00
e Roll Rolls | 10% 7. $0.00 $0.00 5000
Joint Gomnound] 1 Gallons | 10%
Each | 10% $0.00 $0.00 5000
117" Drowall Screws| 14, Pounds | 10%
12/4" Drvwall Screws| 0. Case | 10%
Soonaes| 2 Fach | 10% .5
1341 6" R20 unface et clss bt nslaion]__ 2516 S| 10% 77¢
1347 6" Wood Studs @ 24" OC| __1.250 L 10% 1385
1343 S sheathino| 2518 S| 10% 2770
1344 oo semi nermeahle latex naint| 2 518 S| 10% 2770
1345 oot soaians & foos s seinal 515 L 10% 563
Pariion Type £(60LF)
1346 - Fire Rating: 1 1,305 SF 10% 1436
R e
1347 e of S e X s oo @ one i1 208 10% $000 | $0.00 $0.00 $000 | $000 $0.00 $0.00
GB Sheell Sheets | 10%
e ion D] Fach | 10% $0.00 $0.00 $0.00
50 Tane Roll Rolls | 10% $0.00 $0.00 5000
Joint Gomnauund] Gallons | 10%
Each | 10% $0.00 $0.00 5000
Drvwall Serews| Pounds | 10%
1-1/4" Drvwall Screws| Case | 10%
Snonges| Fach | 10% X
1348 6" R-20 unfaced fiber alass battinsulation| 1.3 SE 10% 1436
1349 2" x 6" Wood Studs @ 24" 0G| 652 3 10% 718
1350 OBS sheathina|__1.305 SE 10% 1436
1351 Vapor semi permeable latex paint| __1.305 SE 10% 1436
1352 ‘Acoustical sealant @ floor and ceilina] 240 LE 10% 264
Partition Type E-10 (84 LF)
1353 - Fire Rating: 1 hr. 763 SF 10% 839
- Heiaht: 9-3/4"
1354 (1) laver of 5/8" tvoe "X avosum board @ one sides| 763, SE 10% 839 $0.00 | $0.00 $0.00 $000 | $0.00 $0.00 $0.00
458 GB Sheel Sheets | 10% 2
‘Sanding Disc| ach | 10% $0.00 $0.00 $0.00
e Roll Rolls | 10% $0.00 $0.00 5000
Joint Compound| Gallons|__10%
ch | 10% $0.00 $0.00 50.00
1-1/4" Drvwall Screws| Pounds| _10%
1-1/4" Drvwall Screws| Case | 10%
Suonges| Each | 10%
1355 42620 e B ol 76: SE 10% 839
1356 o S 3t el aa1 LE 10% 419
1357 OBS sheathina| 763 SE 10% 839
1358 Vapor semi permeable latex paint|___ 763 SE 10% 839
1350 ‘Acoustical sealant @ floor and ceilina] 336 LE 10% 370
Parition Type E-10 (174 LF)
1360 - Fire Ratin 3611 SF 10% 3072
- Heiaht 2078 3
1361 (1) laver of 5/8" tvoe "X avosum board @ one sides| 3,611 SE 10% 3972 $0.00 | $0.00 $0.00 $000 | $0.00 $0.00 $0.00
GB Sheet| 11300 | Sheets| 10% 124.30
Sandina Disc| __ 2. Each | 10% 2 $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% $0.00 $0.00 5000
Joint Compound| Gallons|__10% 2
Each | 10% $0.00 $0.00 50.00
1-1/4" Drvwall Screws| Pounds| _10% 2
1-1/4" Drvwall Screws| Case | 10%
‘Soonges| Each | 10% 14 [ so00 || ["seo0 [ | ] .
1362 4620 e Bt s b s 3611 SE 10% 3072
1363 x6" Wood Studs @ 24" OC|___1.805 LE 10% 1986
1364 BS sheathina| 3611 SE 10% 3072
1365 Vapor semi permeable latex paint|___3.611 SE 10% 3972
1366 ‘Acoustical sealant @ floor and ceilina] 696 LE 10% 766
Partition Type E-10 (156 LF)
1367 - Fire Rati 3,106 SF 10% 3417
- Heiohr 1910 3/a"
1368 (1) laver of 5/8" tvoe * 3106 SE 10% 341, $0.00 | $0.00 $0.00 $000 | $0.00 $0.00 $0.00
08.00 | Sheets| 10% 107.60
ach | 10% 2 $0.00 $0.00 $0.00
Rolls | 10% 5 $0.00 $0.00 50.00
Gallons|__10% 17
Each | 10% 77 $0.00 $0.00 50.00
17, Pounds| _10% 18
o Case | 10% o 50
3 h | 10% 3.5 50
1369 R-20 unfaced fiber olass batt insulation| 3106 10% 34 50 50
1370 2 x6" Wood Studs @ 24 OC|__ 1,653 10% 1708 0 50
1371 OBS sheathina| 3106 10% 3417 50 50
1372 Vapor semi permeable latex paint| 3106 10% 3417 0 50
1373 @ floor and ceilina| 624 10% 686 50 30
BUILDING-18
BUILDING-1 (1 EA)
Pariion Type £6.42 LF)
1374 - Fire Ratin 490 SF 10% 539
- Heiaht 118
1375 26" Wood Studs @ 16" 0C| 369 3 0% 105 $000 | $000 5000 $000 | $000 $0.00 5000
1376 (1) laver of 5/8" tvoe * o SE 10% 539 $0.00_|_$0.00 50.00 $0.00 | $0.00 $0.00 50.00
Sheets | 10% 7
Each | 10% $0.00 $0.00 5000
Rolls | 10% $0.00 $0.00 5000
Gallons|__10%
Each | 10% $0.00 $0.00 5000
Pounds|__10%
Case | 10% 50
Each | 10% 5 50
1377 & .20 unfaced fber s bat nsultion] 400 SE 10% 539 $0.00 5000 $0.00 $0.00 50
1378 OBS sheathina| 490 SE 10% 539 $0.00 50.00 0.00 0.00 50
1379 Vanor semi nermeable latex naint| 490 SE 10% 539 $0.00 50.00 $0.00 $0.00 50
1380 ] L@ floor and ceilina| 168 L 10% 185 $0.00 50.00 $0.00 $0.00 50
Pariion Type £6.67LF)
1381 - Fire Rating: 1 hr 2,030 SF 10% 2233
- Heiaht: 234
1382 6 Wood Studs ® 16'0C| 1526 3 0% 1670 $000 | $000 5000 $000 | 5000 $0.00 5000
1383 1) laver of 5/8" tvoe "X ovosum board @ one sides| 2,030 53 10% 2233 $0.00_|_$0.00 50.00 $0.00 | $0.00 $0.00 50.00
'8 GB Sheet| 64, Sheets | 10% 7
Sandina Disc| 1, ach | 10% A $0.00 $0.00 5000
250 Tane Rol| 6. Rolls | 10% $0.00 $0.00 5000
Joint Compound| 1. Gallons|__10%
5 Each | 10% $0.00 $0.00 5000
1-1/4" Drvwall Screws| 11 Pounds|__10%
1-1/4" Drvwall Screws| 0 Case | 10% 50
Soonges| 2.1 Each | 10% 2 50
1384 6" R-20 unfaced fiber alass batt insulation| 2,030 SE 10% 2233 $0.00 5000 $0.00 $0.00 30
1385 0BS sheathina| 2,030 SE 10% 2233 $0.00 50.00 0.00 $0.00 50
1386 Vanor semi nermeable latex oaint] __2.030 SE 10% 2233 $0.00 50.00 $0.00 $0.00 30
1387 ] L@ floor and ceilina| 348 LF 10% 383 $0.00 50.00 $0.00 $0.00 50
Pariion Type £6(64LF)
1388 - Fire Rating: 1 288 SF 10% 317
- Height:
1389 26" Wood Studs @ 16"0C| 217 3 0% 238 $000 | 5000 5000 $000 | $000 $0.00 5000
1390 (1) laver of 5/8' tvoe * 288 SE 10% 317 $0.00 | $0.00 50.00 $0.00 | $0.00 $0.00 50.00
'8 GB Sheet|  9.00 | Sheets | 10% 9.90
Sandina Disc| 0.8 Each | 10% 020 $0.00 $0.00 $0.00
250 Tane Rol| 100 Rolls | 10% 110 $0.00 $0.00 50.00




Gallons | 10% 220
Each | 10% 110 50,00 50,00 $0.00
Pounds| _10% 2.20
Case | _10% 0.08
s 3 Each | 10% 033
1391 6" R-20 unfaced fiber olass batt insulation] __ 288 S 10% 317 50,00 50,00 50,00 50,00
1397 S sheathina] 288 SE 10% 317 50.00 50.00 5000 | $0.00
1303 Vanor semi vermeable latex paint|___288 SF 10% 317 50.00 50,00 50.00 50.00
1304 @ floor and ceilina| 256 T3 10% 282 $0.00 50.00 5000 | $0.00
Partition Type E-6 (78 LF)
1305 ~Fire Rating: 1 hr. 871 sk 10% 958
139 2" X6 Wood Studs @ 16" OC| 655 T3 10% 721 5000 | 000 50,00 5000|000 50,00 $0.00
1397 1) laver of /8 tvne " 71 SE 10% | 958 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
Sheets | __10%
Each | 10% $0.00 $0.00 $0.00
Rolls | 10% 50.00 50.00 50.00
Gallons | 10%
Each | 10% $0.00 $0.00 $0.00
Pounds | 10%
Case | 10%
Snona Each | 10% X
1398 R-20 unfaced fiber olass batt insulation] Sk 10% 958 $0.00 50,00 50,00 50,00
1399 S sheathinal SE 10% 958 50.00 50.00 5000 | $0.00
1400 Vanor semi vermeable latex oaint] 71 S 10% 558 50,00 50,00 50,00 50,00
1401 @ floor and ceilina| 312 T3 10% 343 50,00 50.00 5000 | $0.00
Partiion Type E-6 (30 LF)
1402 Fire Rating: 1 hr. 676 sk 10% 744
- Heinhr 225"
1403 26 Wood Studs @ 16° OC] T3 10% 559 $000 | 5000 50,00 $000 | 5000 50,00 $0.00
1404 (1) ver of 5/8" tvne "X avnsum board @ one sides| SF 10% z $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
48 GB Shee Sheets | __10% 2
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50,00
i Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
174" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | 10%
Snonges| Each | 10%
1405 R-20 unfaced fiber lass batt insulation] __676 Sk 10% $0.00 50,00 50,00 50,00
1406 S sheathina] 676 SE 10% 50,00 50.00 5000 | $0.00
1407 Vanor semi vermeable latex vaint|___676 S 10% 27} 50,00 50,00 50,00 50.00
1408 @ floor and ceilina| 120 T3 10% 132 50.00 50.00 5000 | $0.00
Partiion Type E-7 (84 LF)
1409 Fire Rating: 1 hr. 854 Sk 10% 939
- Heinhr 04"
1410 (1) laver of 5/8" tvoe "X ovosum board @ one sides| S 0% |93 $000 | $000 50,00 $000_| 5000 50,00 $0.00
43 GB Sheet| Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
‘Soonaes| Each | 10%
a1 6" R-20 unfaced fiber alass baft insulation) 54 si 10% 939
[1a12 2" x6" Wood Studs @ 24" OC| 427 10% 470
[1a13 OBS sheathina| 54 st 10% 939
[1a14 Vanor semi vermeable latex vaint|___854 si 10% 939
415 @ floor and ceilina| 168 X 10% 185
Partiion Type E-7 (200 LF)
1416 Fire Rating: 1 hr. 8:800 SF 10% 9680
1417 3 ver of S voe "X ovosim board @ one sdes|__ . SF 10% 9680 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
8 GB Sheet| 27500 | Sheets| _10% 30250
o D] ch | __10% o 5000 5000 50,00
250 Tane Rolll 23 Rolls | 10% 50,00 50,00 50.00
7} Gallons| _10%
Comnound] 19 Fach | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| 47, Pounds| _10%
Drvwiall Screws| E Case | 10%
‘Soonaes| 1 h | 10%
1a18 6" R-20 unfaced fiber alass bhatt insulation) 800 si 10% 9680
1419 2" X6 Wood Studs @ 24" OC|__4.400 U 10% 4840
1420 OBS sheathina| 5,800 s 10% 9680
1421 Vanor semi oermeable latex paint| 8800 si 10% 9680
1422 @ floor and ceilina|___A00 L 10% 880
Penion 6o £ 7 F)
1423 Fire Rating: 1 1122 Sk 10% 1234
- Hpinht- 169"
1421 (1) laver of 5/8" tvoe "X ovosum board @ one sides| 1 SF 10% 17 $000 | 5000 50,00 $000 | $000 | 5000 50,00
46 GB Sheel| Sheets | 10% 0
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
h | 10%
1425 112 si 10%
1426 561 U 10%
1427 112 s 10%
1428 Vanor semi oermeable latex paint| 1122 S 10%
1420 @ floor and ceilina| 268 L 10%
Periion yoe €7 (158 F)
1430 Fire Rating: 1 780 sk 10% 858
- Hieinhi- 100"
1431 (1) laver of 5/8" tvoe "X ovosum board @ one sides| SF 10% 858 $000 | 5000 50,00 $000 | $000 | 5000 50,00
48 GR Sheet| 2 Sheets | 10% 2
‘Sandina Disc] ch | __10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
Each | 10%
1432 6" R-20 unfaced fiver alass baft insulation) B0 SE 10% 858
1433 2" x6" Wood Studs @ 24" OC| 390 LE 10% 429
1434 OBS sheathina| 780 SF 10% 858
1435 Vanor semi oermeable latex oaint|___780 SE 10% 858
1436 fioor and ceiina| 312 T3 10% 343
Partiion Type E-8 (128 LF)
1437 - Fire Rating: 1 1259 sk 10% 1385
- Heiaht: 197 3/
1438 et ol - voe °C et e oo sliaa]__1.3 SE 0% 1385 | 5000 | $000 $0.00 $000 | $000 | 5000 $0.00
' GB Sheet] a1 Sheets | 10% 44,00
T Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| e
1-1/4" Dnwall Screws| 10%
Soona 1 Eacn | i0%
1439 6" R-20 unfaced fber olass 1.259 SF 10% 1385
1440 6" Wood Studs @ 24" OC| 629 T3 10% 692
1441 OBS sheathina| 1250 SF 10% 1385
1442 Vanor semi nermeable latex paint| 1259 SE 10% 1385
1423 fioor and ceiina| 256 T3 10% 282
Partiion Type E-8 (30 LF)
1444 - Fire Rating: 1 f. 653 sk 10% 718
- Heiaht: 218 318
1425 (1) laver of 5/8" tvoe "X avosum board @ one sides| SE 0% I $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10% 2
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drvwall Sc Pounds| 1%
1-1/4" Drwall Screws| C 10% 19 | 5000 | [ s000 | X
8 Each | 10%
1426 6 R20 unlaced her lass 653 SF 10%
1447 6" Wood Studs @ 24" OC| 326 T3 10% 359
1428 0BS sheathina| 653 SF 10% 718
1449 Vanor semi oermeable latex oaint|___653 SE 10% 718
1450 fioor and ceiina| 120 T3 10% 132
Partiion Type £-10 (42 LF)
1451 - Fire Rating: 1 f. 381 sk 10% a1
- Heiaht: 9-3/4"
1452 v o e o el e siea]__3 SE 0% I $000 | $000 $0.00 $000 | $000 | 5000 $0.00
Sheet Sheets | 10%
T Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
rvwall Ser Pounds| _10%
Case | 10% )
Each | 10% a4 50
1453 " R20 uniaced her clss bt nsulaon 81 10% a19 50 50
[C1asa Wood Studs @ 24" 0c| 191 10% 210 S0 S0
[C1ass OBS sheathina| 381 10% a19 s0. 50
[C1ase Vaoorsemicermeatle iexoain] 381 10% 19 S0 S0
1457 I sealant @ floor and cellina| 168 10% 185 s0. 50,
Farion Tyoe E-10 57 L)
1458 - Fire Rating: 1 1805 SF 10% 1986
e 2083
1459 (1) laver of 5/8" tvoe "X avnsum board @ one sides| 1805 SE 0% 198 | 5000 | $000 $0.00 $000 | $000 | $0.00 $0.00
48 GB Sheetl 57 Sheets | 10% 62
‘Sandina Disc| Eac 10% 1 $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% B 50.00 50.00 50.00
i T Gallons|__10% 11,
Joint Compound Each | 10% a. 50.00 50,00 $0.00
T Pounds| _10% 11,
Case | _10% 0 %
Soonces| 1 Each | 10% 2 S0
[(1a60 R-20 unfaced fiber alass battinsulation] __1.805 10% 1986 S0 50
[C1a61 2" x6" Wood Studs @ 24" OC| 003 10% 993 S0 S0
[C1a62 OBS sheathina| 1805 10% 1986 50 50
[C1a63 Vaoorsemicermeatle iexoain] 1805 10% 1986 S0 S0
1464 I sealant @ floor and cellina| 348 10% 383 s0. 50,
Partition Type E-10 (78 LF)
1465 - Fire Rating 1553 sF 10% 1708
- Heiaht: 1910 3/a"
1466 (1) laver of 5/8" tvoe "X avnsum board @ one sides| 1553 SE 10% 708 | 5000 | $000 $0.00 $000 | $000 | $0.00 $0.00
48 GB Shee Sheets | 10% 53.90
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| Pounds| _10%
e s Case | 10% S0
2 Each | 10% S0
467 20 nfaced et lass bt msulamn 1553 10% 1708 S0 50
[C1a68 " X6 Wood Studs @ 24 OC|__776 10% 854 S0 S0
[C1a60 05 sheatine] 1567 10% 1708 50 50
[C1a70 Vanor semi nermeable latex paint| 1553 10% 1708 S0 S0
471 Acousical sealant @ floor and ceilina| 312 10% 343 s0. 50,
BUILDING:
BUILDING-4.5 & 6 (3 EAY
Partition Type E-6 (165 LF)
w2 ~Fire Rating: 1 hr. 3849 sk 10% 4234
- Heinht 234"
1473 2 X6 Wood Studs @ 16'OC| 2,894 T3 10% 3182 5000 | 000 50,00 5000 | 000 50,00 $0.00
1474 (1) laver of 5/8" tvne "X avnsum board @ one sides| 3 849 SE 10% 4234 | 5000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Sheet] 121,00 | Sheets| _10% 13310
Sandina Dise| 241 Each | 10% 265 $0.00 $0.00 $0.00




250 Tave Rolll 11 Rolls | 10% 1 $0.00 $0.00 50.00
20, Gallons| __10% 2
[ Each | 10% $0.00 $0.00 $0.00
L1/4" Drwall Screws| 21 Pounds| _10% 2
1-1/4" Drvwal Screws| 1 Case | 10%
4.0 Each | 10% 44
1a75 20 ifaced fhr s bt insuaton]__3 SE 10% 234 $0.00 $0.00 $000 | 5000
1476 OBS sheathina| 35 SF 10% 4234 50.00 50,00 50.00 50.00
1477 Vanor semi sermeatle e vain] 5 64 SE 10% 4234 50.00 50.00 5000 | $0.00
1478 floor and ceilina] 660 LF 10% 726 50.00 50.00 50.00 50.00
Partition TyDe Eﬁ (129 LF)
1479 - Fire Ratin 1451 sk 10% 159
ke e
1480 276 Wood Studs @ 16" OC| 1091 13 0% 1200 | 5000 | $0.00 50,00 $000 | $000 | §0.00 $0.00
1481 (1) laver of 5/8" tvoe "X ovosum board @ one sides| 4 SF 10% 159 50.00 | 000 50.00 50.00 | _$0.00 50.00 50.00
8 GB Sheet] _at Sheets | 10%
Sandina Disc] ch | __10% 50,00 50,00 $0.00
250 Tane Roll Rolls | 10% 50.00 $0.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
oonaes| Each | 10% L
1a82 6" R-20 unfaced fiver alass baft insulation] 1451 SE 10% 1596 $0.00 50,00 $000 | 5000
1483 OBS sheathina|__1.451 S 10% 159 50,00 50,00 50,00 50,00
1480 /an0r semi nermeable iatex paint| 1451 SE 10% 1596 50.00 50.00 5000 | $0.00
1485 Aeousicaiseaian & oo and ceiina] 516 LF 10% 568 50,00 50.00 50.00 50.00
Partition Type E-6 (306 LF)
1485 - Fire Rating Sk 10% 1572
- Heiaht: 48"
1a87 6 Wood Studs @ 16'0C| 1074 13 10% 1182 $000 | §0.00 $0.00 $000 | $000 | 5000 $0.00
1488 (1) laver of 5/8" tvoe "X ovosum board @ one sides| 4 S 10% 1572 | 5000 | 000 50,00 5000 | 5000 50.00 50,00
48 GB Sheet| __as Sheets | 10% a
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Each | _10% 1
1a89 20 ufaced et olss bt insuton]__1.470 SE 10% 1572 $0.00 50,00 $000 | 5000
1490 OBS sheathinal __1.420 S 10% 1572 50,00 50,00 50,00 50.00
1491 e sermeable e oain] 1429 SE 10% 1572 50,00 50.00 5000 | $0.00
1492 ‘Acoustical sealant @ floor and ceilina] __1.224 LF 10% 1346 50,00 50.00 50.00 50.00
Partition Type Eﬁ (165 LF)
1493 - Fire Rating: 1 1926 Sk 10% 2118
- Heiaht: 118"
1a0a 6 Wood Studs @ 16'0C| 14 13 10% 1593 | 5000 | $000 $0.00 $000 | $000 | 5000 $0.00
1495 (1) laver of 5/8" tvoe "X ovosum board @ one sides| 3 S 10% 21 5000 | 5000 50,00 5000 | 5000 50.00 50,00
/48 GB Sheel| Sheets | 10% 6.
‘Sandina Disc] Each | _10% 1 $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% X 50.00 50.00 50.00
Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| 11 Pounds| _10%
1.1/4" Drvwall Screws| 0 Case | 10%
201 Each | 10%
1496 20 ufaced et ol bt insuton]__076 SE 10% $0.00 $0.00 $000 | 5000
1497 OBS sheathinal 1926 S 10% 1 50,00 50,00 50,00 50.00
1498 oo sem bermeable iexoaini| 1076 SE 10% |2 50,00 50,00 5000 | $0.00
1499 Aeousicaiseaian & oo and ceiina] 660 LF 10% 26 50,00 50,00 50.00 50.00
Partition Type E 7 (306 LF)
1500 - Fire Rating: 1 5126 Sk 10% 5638
- Heioht 16
1501 e of S e X v oo @ one ifes|__ 176 10% 5638 | 5000 | $0.00 50.00 $000 | $000 50.00 $0.00
16100 | Sheets | 10% 177.10
3 Each | 10% .5 $0.00 $0.00 $0.00
12, Rolls | 10% 50,00 50,00 50,00
2 Gallons | 10%
11 Each | 10% $0.00 $0.00 50,00
27 Pounds| _10%
Case | _10% 5
E Fach | 10% .8
1502 6" R20 unfaced fiber olass baltinsulation| 126 S| 10% 5638
1503 2" X" Wood Studs @ 24" OC| 563 L 10% 2819
1504 OBS sheathina| 126 s/ 10% 5638
1505 /an0r semi nermeable latex naini 126 si 10% 5638
1506 Acousicaisesan @ oo an cetinal 3724 X 10% 1346
Pariiion Type E-7 (360 LF)
1507 - Fire Rating: 1 hr. 12074 Sk 10% 13282
- Heiaht: 334 7/8"
1508 1) laver of 58" tvne "X avnsim board @ one sides| 12074 SF 10% 13282 | $0.00 | $0.00 50.00 $000 | $000 50.00 $0.00
37800 | Sheets | _10% | 41580
75 Each | 10% $0.00 $0.00 $0.00
2. Rolls | 10% 50,00 50,00 50,00
1 Gallons | 10%
6 Each | _10% $0.00 $0.00 50,00
4 Pounds | 10%
Case | _10% 5
Snonaes| Fach | 10%
1508 " F20 ifaced et dass bl insuaton]__ 12074 S| 10% 13287
1510 6" Waod Studs @ 24" OC| 6037 L 10% 6641
1511 OBS sheathina| 12,074 s/ 10% 13287
1512 Semi nermeahle Iatex naint| 12 074 si 10% 13282
1513 ‘Acoustical sealant @ floor and ceilina] __1.440 X 10% 1564
Pariiion Type E-8 (129 LF)
1514 - Fire Rain 2677 sF 10% 2944
- Heiaht: 208 200/756"
1515 (1) Iaver of 58" tvne "X avnsim board @ one sides| 2 677 SF 10% 2942 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
Sheets | __10%
16; Each | 10% $0.00 $0.00 50,00
7 Rolls | 10% 50,00 50,00 50,00
14 Gallons | 10%
6 Each | _10% $0.00 $0.00 50,00
15 Pounds| _10%
o Case [ 10%
Soor 2 Fach | 10% X
1516 6 R20 nfacedfhr class bat sulaon|__26 SE 10% | 2044
1517 X6"Wood Studs @ 24" OC| _ 1.338 LF 10% | 1472
1518 OBS sheathina| 2677 SE 10% 944
1519 Vanor semi permeable latex paint] __2.677 SF 10% 2084
1520 ‘Acoustical sealant @ floor and ceilina] 516 T3 10% 568
Partition Type E-8 (165 LF)
1521 - Fire Rating: 1 hr. 3,004 sF 10% 3403
- Heiaht: 188 7/8"
1522 3 lver of S e "X avpsum boatd @ one sdes| 3004 SF 10% 3403 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
8 Sheet 7 Sheets | _10% 106.70
* Sandin Dis] 9 ach | 10% 2 5000 5000 $0.00
250 Tave Roll Rolls | __10% B $0.00 50.00 $0.00
Joint Compound| Gallons| _10% 1.
Each | 10% EAT $0.00 $0.00 $0.00
1-1/4" Drwall Screws| 7. Pounds| 10% s,
1.1/4” Drvwall Screws| 0. Case | 10% [
Soonces| 3 Each | 10% 354
1523 6" R-20 unfaced fiber olass batt insulati 3004 SE 10% 3403
1524 2" x6" Wood Studs @ 24" OC| 1547 LF 10% 1702
1525 OBS sheathina|__3.094 SE 10% 3403
1526 Vanor semi permeable latex paint]__3.094 SF 10% 3403
1527 ‘Acoustical sealant @ floor and ceilina] 660 T3 10% 726
Partition Type E-10 (111 LF)
1528 ~Fire Rating: 1 1119 sF 10% 1281
- Heiaht 10-7/8"
1529 (1) laver of 5/8" tvoe "X avosum board @ one sides| 1119 SF 10% 1231 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
43 GB Sheel| Sheets | _10%
Sandina Disc] ach | 10% $0.00 5000 $0.00
oe Roll Rolls | __10% $0.00 50.00 $0.00
Joint Compound| Gallons| _10%
ch | 10% $0.00 $0.00 $0.00
rvval S Pounds| 10% | 660 | | I
i vl S Case | 10%
Soonges| Each | 10% 128
1530 4620 e Bt s b s 1119 Sk 10% 1231
1531 S wons S B 34 O0] 550 LF 10% 615
1532 OBS sheathina|__1119 SE 10% 1231
1533 Vanor semi permeable latex paint] 1119 SF 10% 1231
1534 ‘Acoustical sealant @ floor and ceilin] __ 444 T3 10% 488
Partition Type E-10 (306 LF)
1535 - Fire Rain 2754 sF 10% 3029
- Heiaht: 811 778"
1536 (1) laver of 5/8" tvoe "X avosum board @ one sides| __2.754 SF 10% 3020 | 5000 | $000 50.00 $000 | $000 50.00 $0.00
87 Sheets | _10%
17 Each | 10% 5000 5000 $0.00
8 Rolls | __10% 50.00 50.00 $0.00
4 Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
5 Pounds| _10%
Case | 10% S0
h | 10% S0
1537 754 10% 3029 S0 S0
1538 377 10% 1515 50 50
1539 754 10% 3029 S0 S0
1540 Vaor semi permeable latex paint] 754 10% 3029 50 50
1501 @ floor and ceilino| 224 10% 1345 S0 S0
Partition Type E-10 (54 LF)
1542 - Fire Rating: 1 hr. 369 sk 10% 406
- Heioht 6.9 112"
1543 2 ver of S5 tvoe X ovpsum boaid @ one sdes]__36 SF 10% 06 5000 | 000 50,00 5000 | _$000 50,00 $0.00
EY Sheets | _10%
ach | 10% 50,00 50,00 $0.00
Rolls | 10% 50,00 50,00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10% S0
h | 10% a2 S0
1504 6" R-20 unfaced fiber olass baft insulation] __ 369 10% 406 S0 S0
1545 2" x6" Wood Studs @ 24" OC| 184 10% 203 s0. 50
1506 OBS sheathina| 360 10% 406 S0 S0
1547 Vanor semi permeable latex paint|___369 10% 406 s0. 50
1508 @ floor and ceilina|___216 10% 238 S0 S0
BUILDING-3
BUILDING-7 (1 EA)
Partiion Type E-6 (17 LF)
1549 - Fire Ratn 397 sk 10% 436
- Heiaht: 234"
1550 6 Wood Studs @ 16'0C| 208 13 0% 328 $000 | $0.00 $0.00 $000 | $000 | 5000 $0.00
1551 (1) laver of 5/8" tvoe "X avosum board @ one sides| o SF 10% 436 50.00 | 000 50.00 50.00 | 50,00 50.00 50.00
43 GB Sheel| Sheets | 10%
Sandina Disc] Each | 10% 50.00 50,00 0,00
250 Tave Roll Rolls | 10% 50,00 50,00 50.00
Joint Compound Gallons|__10%
i Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
1.1/4” Dwall Screws| Case | 10% S0
Soor 41 Each | 10% 4 s0.
1552 520 unacar Gor clss bt son]__56 SE 10% 436 $0.00 $0.00 $000 | 5000 S0
1553 OBS sheathina| 307 SF 10% 436 50.00 50,00 50.00 50.00 50
1554 Vanor semi vermeable latex paint| 397 SE 10% 436 50,00 50.00 5000 | 5000 S0
1555 floor and ceilina] 68 LF 10% 75 50.00 50.00 50.00 50.00 50
Partition TyDe Eﬁ (80 LF)
1556 - Fire Rating: 1 894 sk 10% 983
B o
1557 276 Wood Studs @ 16'0C| 672 13 0% 739 $000 | 5000 $0.00 $000 | $000 | $0.00 $0.00
1558 (1) laver of 5/8 tvoe "X avosum board @ one sides| 894 SF 10% 983 50.00 | 000 50.00 50.00 | 50,00 50.00 50.00
'\ GB Sheet| 2800 | Sheets | 10% 30.80




‘Sandina Disc| Each | 10% $0.00 $0.00 50.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons| _10%
Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| Pounds | 10%
1-1/4” Drwall Screws| Case | 10%
Soonaes| Each | 10%
1550 6" R-20 unfaced fiber olass batt insulation| 7] S 10% 983 50,00 50,00 50,00 50,00
1560 heathingl 4 SE 10% 983 50.00 50.00 5000 | $0.00
1561 Vanor semi vermeable latex paint] 04 SF 10% 983 50.00 50,00 50.00 50.00
1562 @ floor and ceilina| 320 T3 10% 352 $0.00 50.00 5000 | $0.00
Partition Type E-6 (156 LF)
1563 ~Fire Rating 1 hr 729 sk 10% 801
- Heinht 48"
1564 6 Wood Studs @ 16'OC|___548 T3 0% 603 5000 | 000 50,00 5000|000 50,00 $0.00
1565 (1) laver of 5/8" tvbe "X avnsum board @ one sides| 72 SE 10% 80 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
43 GB Shee Sheets | __10% 2
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tave Roll Rolls | 10% 50.00 50,00 50.00
Gallons | 10%
ch | 10% $0.00 $0.00 $0.00
Pounds | 10%
ase | 10%
s Each | 10% X
1566 6" R-20 unfaced fiber olass batt insulation| 29 Sk 10% 801 $0.00 50,00 50,00 50,00
1567 OBS sheathina| 720 SE 10% 801 50.00 50.00 5000 | $0.00
1568 Vanor semi vermeable latex vaint|___729 S 10% 801 50,00 50,00 50,00 50,00
1569 @ floor and ceilina| 624 T3 10% 686 50,00 50.00 5000 | $0.00
Partiion Type E-7 (44 LF)
1570 Fire Rating: 1 hr. Sk 10% 1806
- Heinhr 160"
1571 (1) laver of 5/8" tvoe "X ovosum board @ one sides| & SF 10% 1806 | $000 | $000 50,00 $000_| 5000 50,00 $0.00
43 GB Sheet| Sheets | 10%
‘Sandina Disc] ch | __10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| __10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Drwall Screws| Case | 10%
Soonaes| h | 10% L
1572 6" R-20 unfaced fiber alass baft insulation] 1 si 10% 1806
1573 2" x6" Wood Studs @ 24" OC|__8: 10% 903
1574 OBS sheathina| 1642 st 10% 1806
1575 Vanor semi vermeable latex paint| 1642 si 10% 1806
1576 @ floor and ceilina| 1 X 10% 194
Partiion Type E-7 (18 LF)
1577 ~Fire Rati 180 sk 10% 198
- Heinhr 100"
1578 (1) laver of 5/8" tvoe "X ovosum board @ one sides| S 10% 55 $000 | $000 50,00 $000_| 5000 50,00 $0.00
/48 GB Sheel| Sheets | 10%
‘Sandina Disc] Each | _10% $0.00 $0.00 $0.00
250 Tane Roll Rolls | 10% 50.00 50.00 50.00
Gallons| _10%
Each | 10% $0.00 $0.00 $0.00
1.1/4" Drwall Screws| Pounds| _10%
11/4” Dwall Screws| Case | 10%
noes| 1 h | 10% | 02
1579 20 iface] et s bl s 80 si 10% 98
1580 6" Wood Studs @ 24° O 50 10% 99
1581 OBS sheathina| 180 st 10% 198
1582 Vanor semi vermeable latex oaint|___180 si 10% 198
1583 @ floor and ceilina|___72 X 10% 79
Partiion Type E-7 (54 LF)
1584 - Fire Rating: 1 f. 1,062 sk 10% 1168
- Hieinht- 1917 /4" L
1585 (1) laver of 5/8" tvoe "X ovosum board @ one sides| o SF 0% | 1168 | $000 | 5000 50,00 $000 | $000 | 5000 50,00
43 GR Shee| Sheets | 10%
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
rvwall Screws| Pounds| _10%
Drvwiall Screws| Case | 10%
‘Soonaes| 1 h | 0% | 12
1586 6" R-20 unfaced fiver alass haft insulation] 1067 si 10% 1168
1587 2" x6" Wood Studs @ 24" OC| 531 U 10% 584
1588 OBS sheathina| 1062 s 10% 1168
1589 Vanor semi oermeable latex paint| 1062 si 10% 1168
1590 @ floor and ceilina| 216 L 10% 238
Partiion Type E-7 (58 LF)
1591 - Fire Rating: 1 fr. 1585 Sk 10% 1744
- Heinht 274"
1562 5 ver of S e "X ovosum board @ one sdes| 1555 SF 10% 742 | 5000 | 000 50,00 $000 | $000 | 5000 50,00
8 GB Sheel| Sheets | 10%
o D] ch | __10% $0.00 5000 50,00
250 Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
Joint Comnound| Fach | 10% $0.00 $0.00 $0.00
Pounds| _10%
Case | 10%
h | 10% 2
1593 R-20 unfaced fiher alass bait insulation] 1 585 si 10% 1744
1504 2" x6" Wood Studs @ 24" OC| 793 U 10% 872
1505 OBS sheathina| 1585 s 10% 1748
1506 Vanor semi oermeable latex paint| 1585 si 10% 1744
1507 @ floor and ceilina| 237 L 10% 255
Peniion e €7 (127 1)
1598 Fire Rating: 1 5588 sk 10% 6147
b agte
1599 (1) laver of 5/8" tvoe "X ovosum board @ one sides| 5 SF 10% 614 $000 | 5000 50,00 $000 | $000 | 5000 50,00
'\ GB Sheet| 17500 | Sheets | 10% 19250
‘Sandina Disc] Each | 10% $0.00 5000 50,00
250' Tane Roll Rolls | 10% 50,00 50,00 50.00
Gallons| _10%
e Fach | 10% $0.00 $0.00 $0.00
Ser Pounds| _10%
Case | 10%
2 Each | 10%
1600 20 niaced et lass 5588 S 10% 14
1601 6" Wood Studs @ 24" OC|___2.704 T3 10% 3073
1602 OBS sheathina| 5568 SF 10% 6147
1603 Vanor semi oermeable latex paint| 5588 SE 10% 6147
1604 fioor and ceiina| 508’ T3 10% 559
Partition Type £-8 (62 LF)
1605 - Fire Rating: 1 hr. 1287 sk 10% 1415
- Heiaht: 208 7/8'
1606 et o - voe " et e oo sliaa]__1.3 SE 0% $000 | $000 $0.00 $000 | $000 | 5000 $0.00
Sheet] 4 Sheets | 10%
T Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| Pounds| 1%
1-1/4" Drwall Screws| C 10%
Soona Each | 10%
1607 220 niaced et lass 1.287 SF 10% 1415
1608 6" Wood Studs @ 24" OC| 643 T3 10% 708
1609 OBS sheathina| 1287 SF 10% 1415
1610 Vanor semi oermeable latex paint| 1287 SE 10% 1415
1611 fioor and ceiina| 248 T3 10% 213
Pariiion Type £-10 (17 LF)
1612 - Fire Rating: 1 1 sk 10% 188
- Heiaht: 10718
1613 vt o S voe " et el o sl 7 SE 0% £ $000 | $000 $0.00 $000 | $000 | 5000 $0.00
/ GB Sheet Sheets | 10%
T Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
Gallons|__10%
Joint Compound| Each | 10% $0.00 $0.00 $0.00
11/4" Drwall Screws| e
1-1/4" Drwall Screws| 10%
Soona Eaen | i0% 2
1614 6" R-20 unfaced fber olass 1 SF 10% 88
1615 6" Wood Studs @ 24" Oc] 86 T3 10% 94
1616 OBS sheathina| 171 SF 10% 188
1617 Vanor semi oermeable latex paint|___171 SE 10% 188
1618 fioor and ceiina| 68 T3 10% 75
Partition Type £-10 (44 LF)
1619 - Fire Ratin 39 sk 10% 436
ht: 811 718
1620 (1) laver of 5/8" tvoe "X avosum board @ one sides| 301 SE 0% 436 $000 | $000 $0.00 $000 | $000 | 5000 $0.00
48 GB Shee Sheets | 10% 0
‘Sandina Disc] Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% $0.00 50,00 50.00
i Gallons | 10%
Joint Compound Each | 10% 50.00 50,00 $0.00
rvwall Ser Pounds| _10%
Case | 10% )
4 Each | 10% a S0
1621 6 R20 unfaced her s bat nulaton]__306 10% 436 50 50
1622 Wood Studs @ 24" 0C| 198 10% 218 S0 S0
1623 05 sheatina] 396 10% 436 s0. 50
1624 Vanor semi oermeable latex paint|___396 10% 36 S0 S0
1625 Acousical sealant @ floor and ceilina| 176 10% 104 s0. 50,
Pariiion Type E-10 (18 LF)
1626 - Fire Rating: 1 hr. 358 SF 10% 394
- Heiaht: 1910 3/a"
1627 (1) laver of 5/8" tvoe "X avosum board @ ane sides| __35¢ SE 0% 35 $000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
43 GB Shee Sheets |__10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50.00 50,00 $0.00
rvwall Ser Pounds| _10%
Case | 10% )
Each | 10% 4 S0
1628 & R20 unfaced er s bat nulaton]__350 10% 94 50 50
1629 Wood Studs @ 24" 0c| 179 10% 197 S0 S0
1630 05 sheatine] 366 10% 394 s0. 50
1631 Vaoorsemicermeatle texoain] 358 10% 394 S0 S0
1632 I sealant @ floor and cellina| 72 10% 79 s0. 50,
Pariion Type £410 55 1)
1633 - Fire Rating: 1 522 SF 10% 574
e o
1631 (1) laver of 5/8" tvoe "X avnsum board @ one sides| 522 SE 0% | 57 $000 | $0.00 $0.00 $000 | $000 | $0.00 $0.00
48 GB Shee Sheets |__10%
‘Sandina Disc| Each | 10% $0.00 $0.00 $0.00
250' Tae Roll Rolls | 10% 50.00 50.00 50.00
i Gallons|__10%
Joint Compound Each | 10% 50,00 50,00 $0.00
11/4" Dwall Screws| Pounds| _10%
1-1/4" Drwall Screws| Case | 10% S0
Soonaes| 54 Each | _10% | S0
1635 6" R-20 unfaced fiber olass batt insulation] 522 10% 574 50 50
1636 2" x6' Wood Studs @ 24" OC| 261 10% 267 S0 S0
1637 OBS sheathina| 522 10% 574 s0. 50
1638 Vaoorseml cemeatle texoain] 52 10% 574 S0 S0
1639 I sealant @ floor and ceilina| 232 10% 255 s0. 50,
CLUB HOUSE
Partition Type E-6 (101 LF)
1640 - Fire Rating 1717 SF 10% 1880
- Heinht 170"
1641 6 Wood Studs @ 16'0C| 1201 T3 10% 1420 5000 | §0.00 50,00 5000 | 000 50,00 $0.00
1642 (1) laver of 5/8" tvbe "X avnsum board @ one sides| 1717 SE 10% 1880 $000 | $0.00 50.00 $000 | $000 | $0.00 50.00
4GB Sheet| 5400 | Sheets| _10% 59.40




Sandina Disc| Each 10% 1 $0.00 $0.00 $0.00
250 Tave Roll Rolls | _10% s 5000 5000 5000
T Gallons | _10% 5
Each | 10% 4 5000 5000 5000
174" Drwwal Screws| 1 Pounds| _10% |11
1-1/4 Divwal Screws| Case | 10% o
Soonaes| 1 Each | _10% 1
1643 & .20 unfaced fber alass balt insulation| 1.7 SE_|_10% | isso 5000 | 5000 5000 | 5000
1644 S sheathinal 1717 SF 10% 1889 $0.00 $0.00 $0.00 $0.00
1645 Vabor sem permeable latex vaint] 1717 SE_|_10% | 1es0 5000 | 5000 5000 | 5000
1646 @ floor and ceilina 404 LE 10% 444 $0.00 $0.00 $0.00 $0.00
Pariion Type £-6 (91 LF)
1647 Fite Rating: 1 hr. 010 sk | 1% | 1001
- Heioh: 1070
1648 & Wood Siuds  16°0C| 664 E | o 753 $000 | $000 | 000 | $000 | $000 | 000 5000
1649 (1) laver of 5/8" tvoe " 910 SF 10% 1001 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Sheets | _10%
Each 10% $0.00 $0.00 $0.00
Rolls | _10% 50.00 50.00 5000
Gallons| _10%
ch | 10% 5000 5000 5000
Pounds| _10%
Case | 10%
s Each | _10% X
1650 & .20 unfaced fber alass balt insulation| 610 SE_|_10% | 001 $000 | 5000 5000 | 5000
1651 OBS sheathinal 910 SF 10% 1001 $0.00 $0.00 $0.00 $0.00
1650 Vanor sem permeable latex oaini] 910 SE_|_10% | 1001 5000 | 5000 5000 | 5000
1653 @ floor and ceilina 364 LE 10% 400 $0.00 $0.00 $0.00 $0.00
Partion Type £6 (27 LF)
1654 -Fite Rating: 1 . 500 se| 0% 549
- Heioht 186"
1655 276 Wood Siuds @ 16°0C| 376 | o 413 | $000 | $000 | $000 | $000 | $000 | 5000 5000
1656 (1) laver of 5/8" tvne "X" avnsum hoard @ one sides| 500 SF 10% 54¢ $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
438 GB Shee| Sheets | _10%
Sandina Disc| FEach 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | _10% 5000 50.00 5000
T Gallons| _10%
Each | 10% 5000 5000 5000
174" Drwial Screws Pounds| _10%
1-1/4 Divwall Screws| Case | 10%
Snonaes| Each | _10% X
1657 & .20 unfaced fber alass balt insulation| 500 SE_|_1o% 54 $000 | 5000 5000 | 5000
1658 OBS sheathinal 500 SF 10% 549 $0.00 $0.00 $0.00 $0.00
1650 Vanor sem permeable latex oaini]___500 SE_|_io% 549 5000 | 5000 5000 | 5000
1660 @ floor and ceilina 108 LE 10% 119 $0.00 $0.00 $0.00 $0.00
Pariion Type £-6 (39 LF)
1661 -Fite Rating: 1 hr. 780 seo| 0% ase
- Heioh 20001
1662 276 Wood Siuds @ 16°0C| 566 | o 645 | $000 | $000 | $000 | $000 | $000 | 5000 5000
1663 (1) laver of 5/8" tvoe " 780 SF 10% 85 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Shees| _10% | 2
FEach 10% $0.00 $0.00 $0.00
Rolls | _10% 50.00 50.00 5000
Gallons| _10%
ch | 10% 5000 5000 5000
174" Drwial Screws Pounds| _10%
1-1/4 Divwall Screws| Case | 10%
Snonaes| Each | _10% .
1664 & .20 unfaced fber alass balt insulation| 780 SE_|_1o% 856 $000 | 5000 5000 | 5000
1665 S sheathinal 780 SF 10% 858 $0.00 $0.00 $0.00 $0.00
1666 Vanor sem permeable latex oaini] 780 SE_|_io% ) 5000 | 5000 5000 | 5000
1667 @ floor and ceilina 156 LE 10% 172 $0.00 $0.00 $0.00 $0.00
Pariion Type 160 (15 LF)
1668 Fire Rating: 1 . 308 se | 10w 338
- Heiohy 016
1669 1) aver of /6" tvoe X" avosum board @ boih sides| 61t SE_[_io% 7 $000 | $000 | $000 | $000 | $000 | 5000 5000
4563 GA Sheei] ! Sheers| _10% |2
Sandina Disc ch |__10% 5000 5000 5000
250' Tane Raoll| Rolls. 10% $0.00 $0.00 $0.00
Gallons | _10%
JJoint Comnaund| Fach 10% $0.00 $0.00 $0.00
rvwall Screws| Pounds|__10%
Drvwall Screws| Gase | _10%
oonaes| Each | 10%
1670 74" Wond Suds @ 16 0C|___231 i | ow 5 5000 | 5000 000 | 5000
1671 & Acousiic sound bt insulai 308 SE_[_io% 36 5000 | 5000 5000 | 5000
1677 @ fioor and ceiina] 60 E [ ow 3 5000 | 5000 5000 | 5000
Pariion Type 160 (14 LF)
1673 Fire Rating: 1 hr W se| 10w
- Heiohr 72101
1672 1) aver of /6" voe X" ovosum board @ both sides| 7 SE_[_io% 5 $000 | $000 | $000 | $000 | $000 | 5000 5000
6 GA Shee Sheers | 10%
Sandina Disc Each | _10% 5000 5000 5000
250' Tane Raoll| Rolls. 10% $0.00 $0.00 $0.00
Gallons | _10%
Fach 10% $0.00 $0.00 $0.00
Pounds| _10%
Gase | _10%
Each | _10%
675 74" Wood Suds @ 165°0C|___a i | ow Ex 5000 | 5000 000 | 5000
1676 & Acousiic sound bt insulai a SE_[_io% 44 5000 | 5000 5000 | 5000
1677 foar and ceilinal 5 E [ ow ) 5000 | 5000 5000 | 5000
Pariion Type 161 (79 LF)
1678 Fire Rating: 1 hr. 1627 sk | 1% | 1790
- ieioht 2065
1679 1) aver of /6" voe X" ovosum board @ boih sides| 5255 SE_|_i0% | s $000 | $000 | $000 | $000 | $000 | 5000 5000
456 A Sheei] 10200 | Shesis | _10% 220
Sandina Disc| 2 ch |__10% 2 5000 5000 5000
250' Tane Roll| a. Rolls. 10% $0.00 $0.00 $0.00
17 Gallons | _10%
7. Fach 10% 7 $0.00 $0.00 $0.00
18 Pounds| _10%
o Gase | _10%
3 Each | 10%
680 76" Wond Suds @ 160G 12 i | d0% | aw 5000 | 5000 000 | 5000
1681 & Acousic sound batt insulai 162 S| 1% | 170 5000 | 5000 5000 | 5000
1687 @ flaor and ceilina 316 E [ ow £ 5000 | 5000 5000 | 5000
Pariion Type 161 (35 LF)
1683 ~Fite Rating: 1 hr. 850 seo| 10w 935
- Heioht: 10.0"
T6a 1) aver of /6" tvoe X" avosum board @ boih sides| 17 SE [ _ao% i 5000 | 5000 | 5000 | $000 | 5000 | 8000 5000
448 GB Sheet| 54 Sheets | _10% )
Sandina Disc Each | _10% 5000 5000 5000
250’ Tae Roll| Rolls. 10% $0.00 $0.00 $0.00
Gallons | _10%
Joint Compound) Each 10% $0.00 $0.00 $0.00
T4/a" Divwall Screws| Pounds| _10%
-1/4" Drvwall Screws| C: 10%
Soonges| Each | _10%
1685 276 Wood Studs @ 16" OC| 639 e [ o 703 $000 | 5000 5000 | 5000
1686 & Acousic sound batt insulat 850 Se_[_ao% o35 5000 | 5000 5000 | 5000
1687 oot and ceiina 340 T T 374 5000 | 5000 5000 | 5000
Partiion Type 161 (53 LF)
1688 ~Fire Rai 69 seo| 10w 766
- Heioht: 12.0
1669 1) aver of /6" tvoe X" avosum board @ boih sides| 15 SE [ _ao% 5000 | 5000 | 5000 | $000 | 5000 | 8000 5000
448 GB Shee] Sheets | _10% | 4
Sandina Disc Each | _10% 5000 5000 5000
250’ Tae Roll] Rolls. 10% $0.00 $0.00 $0.00
Gallons | _10%
Joint Compound) Each 10% $0.00 $0.00 $0.00
T4/a" Divwall Screws| Pounds| _10%
1-1/4 Drvwall Sorews| c: 10%
Soonges| Each | _10%
1690 276 Wood Suds @ 16" 0C| 523 e [ o 576 $000 | 5000 5000 | 5000
1691 & Acousic sound batt insulat 696 Se_[_io% 766 5000 | 5000 5000 | 5000
1692 oot and ceilnal 232 T T3 255 5000 | 5000 5000 | 5000
1093 Pariion Type £51 6 1F) v | s | 1w | 13s
1694 (1) laver of 5/8" tvoe "X" avbsum board @ one sides| 1 SF 10% 138 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
4:6°GB Sheell 4 Sheets | _10%
Sandina Disc| 0. ach 10% $0.00 $0.00 $0.00
“Tane Rol| Rolls | 10% 5000 5000 5000
Soint Compound| Gallons| _10%
ich 10% $0.00 $0.00 $0.00
1-1/4" Drvwall Screws| Pounds 10%
1-1/4 Drvwall Screws| Case | _10%
Spona Each | __10%
1655 24" Wood Swds @ 16°0C]__o e [ % 102 5000 | 5000 5000 | 5000
1696 - 1 SE_|_1o% 135 5000|5000 5000 | 5000
1697 ‘Acousical sealant @ foor and ceiina 24 e [ % 2% 5000 | 5000 5000 | 5000
Partiton Type F-61 (28 LF)
1698 - Heiaht: 18-6" 518 SF 10% 570
1659 (1 aver of 55 tvoe "X cvbsum board @ one sides| 511 SE [ _ao% T 5000 | 5000 | 5000 | $000 | 5000 | 8000 5000
438 GB Shee| Sheets | _10%
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 50,00 5000 5000
g Gallons | _10%
Joint Compound| Each | _10% 5000 5000 5000
174" Drvwal Screws Pounds| _10%
1-1/4" Drwial Screws Case | _10% 0
S 54 Each 10% | ¢ $0.
1700 274 Wood Suds @ 16" OC| 389 T TS 28 5000 | 5000 5000 | 5000 50
1701 & batt insulation] 518 SF 10% 570 $0.00 $0.00 $0.00 $0.00 $0.
1702 tical sealant @ floor and cellina] 112 T T3 123 5000 | 5000 5000 | 5000 50
1708 Pariion Type P01 (6 LF) % sFo| 0w 106
1704 () aver of /8" e 5 SE 0% $000 | $000 | 000 | $000 | $000 | $000 5000
Sheets | _10%
ach | 10% 5000 5000 5000
Rolls. 10% $0.00 $0.00 $0.00
Gallons| _10%
Each 10% $0.00 $0.00 $0.00
Pounds| _10%
Case 10% $0.
aes| Each | _10% 50
1705 2" x 4" Wood Studs @ 16" cE' 7 LE 10% 7 $0.00 $0.00 $0.00 $0.00 $0.
1706 Y 7] o SE_|_1o% i 5000 | 5000 5000 | 5000 50
1707 @ floor and ceiling 3: LE 10% 3 $0.00 $0.00 $0.00 $0.00 $0.
Partion Type F-62 (4 LF)
1708 o b 82 sFo| a0 %
1709 (1) laver of 5/8" tvoe "X" avosum board @ one sides| 8: SF 10% a $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
438 GB Shee| Sheets | _10%
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | 10% 50,00 5000 5000
g Gallons | _10%
Joint Compound| Each | _10% 5000 5000 5000
174" Drvwall Screws Pounds| _10%
1-1/4" Drwial Screws| Case | _10% 0
nonaes| Each 10% $0.
1710 276" Wood Swds @ 16:0C]___6 T 1) [z 5000 | 5000 5000 | 5000 50
1711 i batt insulation] 8: SF 10% a $0.00 $0.00 $0.00 $0.00 $0.
1712 tical sealant @ floor and ceilina] 1 T T3 1 5000 | 5000 5000 | 5000 50
Partion Type £7 (39 LF)
713 -Fite Rating 500 sFo|a0% 550
- Heioht: 12.10"
1714 (1) laver of 5/8" tvoe "X" avbsum board @ one sides| 50( SF 10% 55( $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
435GB Shee| Sheets | _10% 7
Sandina Disc| Each 10% $0.00 $0.00 $0.00
250 Tave Roll Rolls | _10% 50,00 5000 5000
T Gallons | _10%
Each | _10% 5000 5000 5000
174" Drvwal Screws Pounds| _10%
1-1/47 Drwial Screws Case | _10% 5000 5000 5000
na Each 10% | ¢ $0.00 $0.00 $0.00
1735 .20 unfaced fiber lass. 500 SE_|_10% 550 5000 | $000 | 000 | $000 | $000 | $000 5000




1716 26" Wood Studs @ 24" O 250 3 10% 275 $000 | $0.00 5000 5000 | s000 $0.00 3000
1717 0BS sheathina| 500 SE 10% 550 $0.00 | $0.00 50.00 $0.00 | $0.00 $0.00 50.00
1718 Vanor semi nermeable latex naint| 500 SE 10% 550 $0.00 | $0.00 50.00 5000 | 5000 $0.00 50.00
1719 floor and ceilina| 156 LF 10% 172 $0.00 | $0.00 50.00 $0.00 | $0.00 $0.00 50.00
CABANA BUILDING
Partition Type 161 (176 LF)
1720 - Fire Rating: 1 hr. 1,602 SF 10% 1762
a0
1721 (1) laver of 5/6" tvoe "X avosum board @ both sides| 3.2 SE 0% 352: $0.00_|_$0.00 $0.00 $0.00 | $000 $0.00 5000
48 GB Sheet]  101.00 | Sheets | 10% 11110
Sandina Disc| 2. Each | 10% 2 $0.00 $0.00 5000
250 Tane Rol| o, Rolls | 10% $0.00 $0.00 50.00
17 Gallons|__10%
7 Each | 10% 7 $0.00 $0.00 5000
1-1/4" Drvwall Screws| 17 Pounds| _10%
1-1/4" Drvwall Screws| 0. Case | 10%
3 Each | 10%
1722 2" x 6" Wood Studs @ 16" 0G| 1.205 3 10% 1325 $0.00 5000 X $0.00 $0.00
1723 6" Acoustic sound balt insulation| 1,602 SE 10% 1762 $0.00 5000 $0.00 50.00
1724 @ floor and ceilina] 712 3 10% 783 $0.00 50.00 X $0.00 $0.00
SUBTOTAL $0.00
PROJECTED COST $0
OVERHEAD AND PROFIT | 18% 0
INSURANCE[ 3% $0
CONTINGENCY| 5% 0




